|
E
|
)
|
|
|
i

BREWER |
OZONE SPECTROPHOTOMETER
Maintenance Manual

2 SCI-TEC

INSTRUMENTS INC.




BREWER
OZONE SPECTROPHOTOMETER
Maintenance Manual

MM-BA-CO5 RevM Nov 15, 1994

© SCI-TEC Instruments Inc. 1995
1526 Fletcher Road
Saskatoon, Sask., Canada
S7M 5M1
Ph. 306-934-0101
Fax. 306-978-2339
scitec@eagle.wbm.ca



BREWER MKI! & MKIV Spectrophotometer Maintenance Manuai

TABLE OF CONTENTS
PREFACE

1.0 PURPOSE AND APPLICATION
2.0 EQUIPMENT REQUIRED

3.0 MAJOR EQUIPMENT FAILURES

3.1 Trouble Shooting Sequence for "No Operation” Condition

4.0 OPERATING TEST FAILURES
4.1 Preliminary Information
4.2 Description of Mercury Lamp Circuit
4.3 Trouble shooting Procedures for Mercury Lamp Circuit
4.3.c2 Mercury Lamp Replacement
4.4 Description of Standard Lamp Circuit
4.5 Description of Standard Lamp Failure
4.6 Trouble-shooting Procedures for Standard Lamp Test Failure
4.6.d Standard Lamp Replacement
4.7 Description of Light Detection System (Rate) Failure
4.8 Trouble-shooting Procedures of Light Detection System
4.9 Description of Shutter Micrometer VO Board
4.10 Description of Photon Counter Board

4.11 Description of High Speed Amp Board

Page/Fig.

4.12 Description of Secondaty Power Supply Board and Heatsink, Not Including Standard Lamp

and Mercury Lamp Circuits
4.13 Description of Clock/Monitor and A/D Board

5.0 TEST RESULTS OUT OF SPECIFICATION

6.0 OPTICS CARE AND CLEANING (REFER TO FIG. 7.6.1-1)

10

1"

12

13

13

13

..14

16

17



BREWER MKIl & MKIV Spectrophotometer Maintenance Manual

6.1 Optics Care

7.0 BREWER REFERENCE DOCUMENTATION

Section 7.1 Overall Assembly and External Cables
- Configuration Control Diagrams
- Brewer Systems Drawing BS-C1000
- Brewer Assembly BA-C01(MKIi); BA-C0O1/B(MKIV)
- Option B Kit C91 (Azimuth Tracker)
- Option C Kit UVB Instaliation C84
- Power Cable (Extemal) W12
- Data Cable (External) W14
- Electronic Spares Kit C122
- Basic Spares Kit C112
- Tracker Stand Tie-Down Kit Installation

Section 7.2 Power Supply and Hamess
- Main Power Hamess W32
- Main Power Supply BM-E103

Section 7.3 Intemal Cabling
- Data Cable W37
- Azimuth Cable W31
- Main Wiring Hamess & Wiring Sheets W36

Section 7.4 Secondary Power and Panel
7.4.1 Secondary Power Supply Board E94
- Complete SL Schematic E64
- Other Reference Schematics
7.4.2 Heat Sink E21
-H.V. Supply Spec E21
- High Voltage Cable W38
7.4.3 Control Panel C82

Section 7.5 Card Rack Boards
7.5.1 Card Rack Motherboard E46
7.5.2 1O Boards E50

- VO Control Cables W43
- VO Power Cable W42
7.5.3 Photon Counter Board E48
-PC Hamess W34
7.5.4 Clock/Monitor Board & A/D Board E51/B
- Cables W51
- Clock Monitor Board E95
- A/D Board 185644
7.5.5 COSMAC Microboard E52

- Specifications 185601

Section 7.6 Optics
7.6.1 Instrument Optics C61
7.6.2 Foreoptics FO1
-Lamp F96
- IRIS Actuator F106

17

18

7.1-1
742
7.1-3
714
715
7.1-6
7.4-7
718
7.1-9
7.1-10

41
7.2-1
722

47

7.3-1
732
7.33,4

7411
7413

74.2-1
7.4.2-3
7424
7.4.341

74
7.5.1-1
7.5.2-1
7524
7525
7.6.3-1
7534
7.5.4-1
7545
7546
7548
7.5.5-1
7.5.5-2

104
76.1-1
76241
76222
762-3



BREWER MKII & MKIV Specirophotometer Maintenance Manual

- Zenith Drive F71
7.6.3 Spectrometer S01 °
- Shutter Motor S11
- Mechanical S02
7.6.4 Photomultiplier PO1
- Tube Assembly P02
- High Speed Amp P23
- Dynode Chain P25
- Photomultiplier Housing Assy P42 (MKIV Only)

Section 7.7 Brewer Options

- Azimuth Tracker and Stand

- Azimuth Tracker Unit Schématic C91
- Azimuth Tracker Board Assy C99

- Azimuth Tracker Board Schematic

- Azimuth Motor Wiring W20

- Azimuth Power Supply Specifications

7.720ptionC-UVBF81  7.7.2-1

7624
7.6.3-1
76.32
76.3-3
76.41
764-2
76.4-3
7645
7646

124
77141
7.7.1-2
7713
7.7.14
7715
7716



PREFACE

BREWER MKII & MKIV Spectrophotometer Maintenance Manual

This document has been developed to aid an operator when a Brewer
Ozone Spectrophotometer stops working or has changed in operating
specifications after leaving SCI-TEC Instruments Inc. (SCI-TEC). It has
been developed from the experience of SCI-TEC and present users. The
most likely electronic failures and ones which can be repaired in the field
have been documented in this manual. Any suggestions on
improvements to this manual would be appreciated by SCI-TEC.

1.0 PURPOSE AND APPLICATION

The purpose of this manual is to help the operator trouble-shoot a Brewer
Ozone Spectrophotometer (for both MKII and MKIV models) down to an
assembly level, though not necessarily to a component level. The reason
is that some components in the assemblies will affect the calibration done
at SCI-TEC, and replacement of these may require instrument
realignment or re-calibration.

The information in this manual may be applied by reading the procedures
and referring to the corresponding drawing located in the back half of this
document. For MKIV Brewers it is recommended that all trouble-shooting
be done in the Ozone/SO2 mode. The major difference between MKIl
and MKIV is the additional Filterwheel and motor in front of the
Photomultiplier Tube. This must setup properly at the end of a Reset for
proper Ozone/SO2 operation.

There should be no potentiometers adjusted or set screw removal without
completely defining the problem area. If the information in this document
is not sufficient, it is recommended that the user contact SCI-TEC before
dismantling of main and sub assemblies is undertaken.

2.0 EQUIPMENT REQUIRED

1) Voltmeter, either analog or digital, capable of measuring from 1 millivolt
to 2000 volts DC.

2) Ohmmeter primarily used for checking continuity of cables.
3) A clip on or in line current meter.

4) A digital VOM with in line current capabilities of 2 amps will be
sufficient, rather than items 1,2, and 3. e.g. The DVM supplied with an

external UVB Lamp is good and can be removed.

5) An oscilloscopé may be required (1 millivolt; 20 megahertz).

6) An external UVB lamp can be very useful when the internal standard
lamp appears at fault.

7) A second computer is handy to have available in case the control
computer is suspect.



BREWER MKII & MKIV Spectrophotometer Maintenance Manual

3.0 MAJOR EQUIPMENT FAILURES

A major equipment failure is defined as being a condition where the
operator finds there is no communication between the Brewer
Spectrophotometer and the external computer (IBM). No commands will
go to the Brewer and no information is received by the IBM. This can be
defined as a "no operation” condition.

it is assumed the BREWER has power as indicated by the GREEN LED
light on the instrument. If the light is out, check that AC power
connections to the BREWER (reference Sections 7.1 and 7.2), are
proper. If OK, then remove the BREWER top cover and check if MAIN
power supply cover is warmer than ambient, if not, then perhaps the fuse
requires replacement, (reference fig. 7.1-3 and 7.2-2). To check the fuse,
first disconnect AC power to the Brewer and then remove the MAIN
power supply cover (four 6-32 screws) and measure or visually inspect
the fuse and replace if necessary. When re-installing the cover, ensure
the connectors P1 and P3 remain connected.

If the power supply appears to be ON, then perhaps the LED is defective
or the connections to it. The main power supply voltages are best
checked at testpoints on Secondary Power Supply (S.P.S.) cover
bracket, (reference fig. 7.3-3).

When the control computer is given a RESET (RE) command then the
Brewer should respond with the following message to the IBM or printer:

BREWER OZONE SPECTROPEHOTOMETER
#0XX
AES SCI-TEC
CANADA

VERSION 39.5 NOV 22, 1982

If the instrument will not reset, the problem is normally in the Brewer.
However the IBM software can get corrupted so it may be necessary to
check that the proper software is installed.

NOTE 1: "SOFTWARE RESET" is used to indicate that the reset
instruction (RE) should be issued to the Brewer microprocessor from the
control computer. This instruction causes a hardware reset to be
generated, (a very long "break"” on the line).

NOTE 2: The Brewer RS232 is set to 300 Baud on a reset and the IBM
program changes the speed to 1200 Baud soon after communication is
established.



BREWER MKII & MKIV Spectrophotometer Maintenance Manual

3.1 Trouble Shooting Sequence for "No Operation" Condition

a. It has been established at this point that there is absolutely no
communication between the IBM and the Brewer.

b. A software reset should be attempted after the message "Brewer
Failed to Respond" appears on the IBM monitor. This is done by pressing
RETURN key on the IBM. If this fails to establish communications the
IBM should be re-booted by turning the power off and on.

¢. If there is still no response, the cables should be inspected to ensure
that a connector has not been inadvertently removed or accidently pulled
out of place. The Data cable to the Brewer from the IBM as well as the
power cable to the Brewer should be checked. All cables involving the
linking of peripherals should be checked to ensure they are plugged in as
well.

d. After this has been done another software reset can be done as
indicated on the IBM.

e. There is a possibility that the computer internal to the Brewer (RCA
Cosmac) has gone into a "loop" and cannot get out unless it receives a
reset. To reset the internal computer turn the Brewer power off and then
on. There should be some indication of a reset when the shutter hits it's
stops internally. This shutter indication should be heard each time the
Brewer power is turned on and off.

f. Does the Brewer reset? (As determined by the audible click)

fl. If the audible click is heard, but there is no message sent to the IBM,
then there is a possibility that, even though the cables between the IBM
and the Brewer are connected, there may be a line broken or separated
in the cables or connectors. Check these cables in the following way.
Disconnect the data cable from the Brewer. Measure the voltages on
PBD101 at pins 2 and 3 with 7 as ground. (Ref. Fig. 7.1-7). While doing
this, attempt a reset of the Brewer by turning the power off and on. The
voltmeter should be set to 10 volts full scale, and upon a reset command
it should read approximately 4 volts. If there is no voltage measured at
this point, there may be a break somewhere in the cables themselves.
Each line can be measured point to point with a ohmmeter. It should then
be repaired or replaced if there is a problem. Note a Cannon crimp
connector pin removal tool is provided with the basic spare kit.

f2. A software reset should be attempted after insuring all connections
have been made and Brewer power is on.

£3. If there is still no operation, there may be a hardware failure on the
RS232 output circuit of the RCA Cosmac or on the input to the IBM.

g. If there was no audible click heard from the shutter, there is an
indication that a failure has occurred within the Brewer itself so at this
point the cover should be removed.

h. There is also a manual pushbutton reset switch located with the tést
points (S.P.S. bracket). This should be pressed and should cause the
Brewer to reset.



BREWER MKIi & MKIV Spectrophotometer Maintenance Manual

i. In the previous step, the Brewer should have reset.

i1. If it did, a software reset should be done and the system should start
operating. :

i2. If not, then there is still an indication of an internal failure.

j. At this point, the acceptance test records should be consulted, and the
main power supply voltages should be measured and compared to those
shown on the acceptance test records.

k. If they have changed, or are missing altogether, the power connections
should be checked. If they look as though they are in order, and the
voltages are still not at proper levels, replacement should be considered.
However there may a short circuit in one of the assemblies causing the
power supply to be loaded. Shut the power off and disconnect the Card
Rack, Heat Sink and S.P.S. board. Repeat the voltage measurements
and see if there are any changes. If there are then determine which
assembly is at fault by installing connectors or S.P.S. board one ata
time. Replace the main power supply if necessary, and ensure when first
turned on that the assemblies are dis-connected to allow setup of
voltages to correct values. The main 5 volts should be set to 5.1 volts
with the single potentiometer on the main power supply.

1. If the power supply appears to be operating corréctly, the power should
be shut off, as there is still an indication of an internal failure elsewhere in

the system.

m. All connections internal to the Brewer should be checked to see if they
are mating properly. This includes the flat cables as well as the
connections made to the Card Rack motherboard, main power supply
and the data cable connection between the RCA Cosmac board and the
Brewer case.

n. All cards in the Card Rack should be removed and the contacts at the
motherboard end should be inspected for corrosion and cleaned if
necessary. They should be put back into the card rack and care should
be taken to insure they are seated properly.

0. At this point power can be turned on and a manual reset done.
p. If the Brewer resets at this point, the problem has been located.
p1. If a reset did occur, a software reset should be done.

p2. The system should be up and working.

q. If the shutter did not reset, there is still an internal problem, and power
should be shut off.

r. All printed circuit boards except the RCA Cosmac should be removed.
This is done to eliminate the possibility that one of the boards in the Card
Rack other than the RCA Cosmac board has failed and is holding up the
motherboard so the computer cannot communicate, because it is being
held up.



BREWER MKII & MKIV Spectrophotometer Maintenance Manual

s. Power on and manual reset can be done, when the RE is in progress
press the pushbutton at 1-2 seconds of the 7 second countdown
sequence.

t. If one of the other boards was holding up the bus, a reset should have
occurred at this point. There will not be an audible indication at this point
because the shutter /0 board has been removed. The only way to tell is
to watch for the message on the IBM, or monitor the communications
line with a meter or oscilloscope.

t1. If a reset did occur power should be turned off and the photon counter
board (4th board from top) should be plugged in, after which power is
turned on again and now the software reset should work and the
message appear on the IBM as normal.

2. If the Brewer does reset, another board (starting with the top IO
board) can be inserted by the same procedure as the previous step.

t3. If the Brewer does not reset, it can be assumed that the last board put
into the card rack has failed, and it should be replaced, if a spare is
. available.

t4. If after the defective board is replaced and the Brewer does not reset,
SCI-TEC should be consulted.

t5. If the Brewer does reset after this board replacement has occurred,
the software should be reset and the system should be operational.

u. If there was no reset in item t, the Cosmac board should be replaced
and the test repeated. If there is still no reset the continuity of the internal
RCA Cosmac to chassis connector should be checked with an
ohmmeter, using the drawing available in section 6.3.

v. After either the Cosmac has been replaced, or the cable has been
repaired, power should be reapplied and another reset attempted.

w. At this point the Brewer should reset. If it does power can be turned off
and all boards can be replaced after which power can be turned on and
another manual reset should be done.

w1. If there was an audible reset, a software reset should cause the
system to start working.

w2. If there was not an audible reset, there is still an indication of another
board failure.

x. Board replacement procedures should begin as described in item t.
y. Another manual reset should be attempted.

y1. If there was an audible reset, a software reset should be all that is
required to bring the system up.

y2. If there is still no reset after all previous steps have been completed,
SCI-TEC should be consulted before continuing.



BREWER MKil & MKIV Spectrophotometer Maintenance Manual

4.0 OPERATING TEST FAILURES

In the Brewer Ozone Spectrophotometer most of the operating tests are
done using either the mercury lamp or the standard lamp. If any of the
other tests fail, the user should proceed immediately to a mercury lamp
test (HG) or a standard lamp test (SL).

A mercury lamp test failure or a standard lamp test failure are two major
failures which can occur. In both cases calibration of the instrument may
be affected. For the purpose of troubleshooting, these two sections have
been separated from the main part of the instrument which is the Light
Detection System. It is made up of the zenith prism, foreoptics,
spectrometer, shutter and shutter electronics, PMT, High Voltage
Circuitry, High Speed Amp (considered to be part of the PMT)
interconnecting harnesses between these units, and finally the photon
counter board. Without this section being operational, no testing, or
measuring can be done.

4.1 Preliminary Information

There are a few points to remember in the event there is @ major failure
somewhere in the system, whether it be the Mercury Lamp, Standard
Lamp, or Light Detection System.

a. The error message "lamp not on test terminated" is an indication of a
failure, either in the lamps or in the Light Detection System.

b. Changes in dark count may be symptomatic of a number of problems
which may occur in the Brewer. if it begins to increase or becomes
erratic, the shutter may be causing the fault. Note the dark count
increases with temperature. It may also indicate motor power supply
problems. It can also be used as a monitor for PMT performance. If the
dark count changes, there may be a changing optical condition in the
Light Detection System. A higher dark count can aiso be the result of a
poor ground somewhere in the system or high humidity inside the
instrument. Grounding connections should be checked especially at the
heat sink to IBM strip and change and add more desiccant for high
humidity locations. These items are more applicable in the next section
(5.0) but they may be useful in this instance as well.

4.2 Description of Mercury Lamp Circuit

See Section 7.4 for schematic. Diodes D704 and D703 provide a
reference voltage when the lamp is tuned on. The voltage across the
sense resistor, R709, is controlled by Q703. Q702 varies the lamp
current in response to the amplified signal provided by Q703. The circuit
is configured in a current shunt feedback configuration. When the lamp
current increases, current through R709 increases causing the transistor
to pass less current (because of reverse biasing). This increases the
voltage at R702 which effectively causes the current through the lamp to
be reduced. In this way the lamp circuit is regulated.



BREWER MKII & MKIV Spectrophotometer Maintenance Manual

4.3 Trouble shooting Procedures for Mercury Lamp Circuit
a. Test Fails and software responds with "lamp not on test terminated".

b. Retry test and look through each viewing tube to see if lamp is on.
Ensure zenith prism and the filter wheels are in the correct position.
Observe temperature of instrument. If Brewer temperature is less than -
20 degrees Celsius, the lamp is too cold and may not come on even with
the warming current provided. All that may be required is to turn on the
Standard Lamp which will warm the Mercury lamp in extremely cold
environments,

c. If lamp is on, check filter wheel positions (1,0).

c1. If lamp is not on there is a possibility of lamp failure, secondary power
supply board mercury lamp regulator failure, or shutter, wavelength /O
board failure. The shutter wavelength board also has control circuitry
required to operate both the mercury lamp and the standard lamp. The
first step is to perform an AP (A/D voltages printout) test and compare the
results with previous tests. Pay particular attention to Power Supply and
HT voltage. The second step is to measure the voltage across the lamp
at pins 6 and 9 on P111. (Reference Section 7.4.1). The voltage should
be approximately 3 volts with lamp off and 13 volts with lamp on.

If the voltage is approximately equal to 24 volts, the lamp should be
replaced.

4.3.c2 Mercury Lamp Replacement

Before starting disassembly, measure that the lamp is definitely open
circuit with an ohmmeter across pins 6 and 9 of J111 (lamp connector),
ensure P111 is disconnected. To replace bulb, loosen the two thumb
screws (item 6, Fig 7.6.2-2) and carefully withdraw the lamp holder.
Inspect lamp and repiace if defective or has blackened in color. Do not
touch lamp with bare hands, use a tissue or soft cloth. Ensure lamp is
tight in its socket and cleaned with alcohol after assembly. Re-assemble
the lamp by reversing above steps and test the lamp with B1 and HG
commands.

If there is no voltage across lamp in the initial measurement, the next
step is to monitor test point TP701 and from the status (ST) menu in the
software attempt to turn the lamp on and off. TP701 should have a
voltage swing of about 0.8 volts as the lamp is turned on and off. If not,
the 1/0 board, or the connection I/O cable may be at fault and if a spare is
available, they should be replaced one at a time, after which another
mercury lamp test is attempted. If one is not available,or this fails, SCI-
TEC should be consulted. There is information available in Section 4.9
(Description of /O Board) and drawings in Section 7.5.2).

d. Remove top cover and spectrometer cover and check to see
micrometer has not shifted (refer to acceptance test record for the
calibrated setting) or sheet attached to cover. A manual check to ensure
micrometer setting is in the correct position is to set filters to position 0,0
(filters out position). Connect a voltmeter across RATE test point to
ground and manually scan the micrometer from 0 mm to 10mm.
Assuming the shutter is in HG position (0), HG lamp on, and zenith prism
is to the lamps then the voltmeter should indicate peaking counts at 3



BREWER MKII & MKIV Spectrophotometer Maintenance Manual

positions which are the mercury lines. The micrometer should be left in
the position of the second largest peak; from the Omm end of the
micrometer. This is the proper position to start a HG test for Ozone/SO2
measurements and which should have a successful conclusion.

e. At this time another complete mercury lamp test should be attempted.
If this test is successful the problem has been located and test results
should be accurate. If not there is still a possibility of a PMT failure,
shutter failure or optics failure.

f. Next, attempt a standard lamp test. The standard lamp has a much
higher intensity and does not depend on the position of the micrometer
and shutter as much as the mercury lamp test.

fl. If the standard lamp test works, the printout should be examined
carefully to see if any characteristics have changed. If the dark count has
increased significantly, this may be an indication that the alignment has
changed and may require a mirror adjustment. Check to see if any of the
intensities or ratios have changed, which may indicate, that the optics
have deteriorated, or the PMT performance or counting has degraded. If .
the standard lamp test appears to be alright, it is advised the user contact
SCI-TEC before proceeding.

f2. If the standard lamp test does not work, then it can be assumed that,
either there is an optical failure, or a PMT failure.

g. The high voltage should be measured using a voltmeter and looking at
test point TP202 on the secondary power supply board (reference
Section 7.4.1). There should be a voltage of between 6 and 8 volts,
which has been factory set (see acceptance test record for setting), and
should not be adjusted. This voltage is equivalent to the actual high
voltage divided by 200 and should be similar to the voltage testpoint
TP201. There may be a difference of a volt or two, the voltage at testpoint
TP201 is the actual voltage which feeds the high voltage power supply. If
they are significantly different, or missing altogether, the high voltage
circuit may have failed. This will require a skilled technician for repair or
SCI-TEC should be contacted.

h. If the high voltage appears to be present from the monitor testpoints
described in item g, there is a possibility that something has failed in the
Light Detection System, reference Section 4.7. '

4.4 Description of Standard Lamp Circuit

The standard lamp current regulator uses a bridge to monitor the voltage
drop across a current sense resistor (reference fig. 7.4.1-3). The error
voltage developed by the bridge is amplified and used to control the pass
transistor and thus hold the lamp current steady. The pass transistor and
current sense resistor are mounted on the heatsink. The sense resistor is
used in the four terminal mode with a very small current passing through
the connecting leads. The system has sufficient gain to hold the 1.6 amp
current within 1 milliamp. The matching temperature coefficients of the
bridge components and the very low temperature coefficients of the
sense resistor, combined with a stable zener diode keeps the current
within 3 milliamps over a range of -20 to + 40 degrees Celsius.



BREWER MKII & MKIV Spectrophotometer Maintenance Manual

4.5 Description of Standard Lamp Failure

The standard lamp is the lamp most used in all of the tests called up by
software. Without it, it is impossible to ensure calibration and proper
operation of the Brewer Ozone Spectrophotometer. Therefore an external
UVB lamp can be very useful in two areas: 1) As a reference to monitor
any changes in the standard lamp itself. 2) In the event that the internal
standard lamp stops working, the external standard lamp can be used as
the reference.

The software for the standard lamp has been designed to give and error
message in the event of a failure. The message is "Lamp not on test
terminated". This may not necessarily be the case. There are other
factors which can cause a standard lamp failure, even though the famp
remains on. These areas include PMT performance, filterwheel position,
Zenith prism position and photon counting electronics as well as 1/O
electronics used to turn the lamp on and off.

! 4.6 Trouble-shooting Procedures for Standard Lamp Test Failure
a. Error message, "Lamp not on test terminated".

b. Retry test an observe viewing ports, ensure zenith prism is in the
proper position. Perform an AP (A/D voltages printout) test and compare
results with previous tests, paying particular attention to standard lamp
current and voltage. The current channel 14 will go low and voltage
channel 15 will go higher to 14 volts if lamp is unplugged or burnt out.

¢. Is lamp on, try just B2 command which turns lamp on and are
, filterwheels in proper position as well as the iris? Retry test.

c1. Is test terminated again?

c2. Try a mercury lamp test. If the mercury lamp test works, than the user
‘will know that the Light Detection System is probably working properly. If
not a mercury lamp calibration should be done and the Standard Lamp
test repeated.

c3. If the mercury lamp test works all right, the cover should be removed
from the instrument, as well as the spectrometer cover and another

| , standard lamp test done while observing the shutter. If the standard lamp
fails again and the shutter is working properly, SCI-TEC should be
consulted.

c4. If the mercury lamp test did not work there is probably a failure in the
counting electronics and section 4.7 of this manual should be consulted.

4.6.d Standard Lamp Replacement

Before starting disassembly, measure that the lamp is definitely open
circuit with an ohmmeter across pins 1 and 5 of J111 (lamp connector).
Reference fig. 7.6.2-2, the Standard Lamp is located above the mercury
lamp attached to a removal plate. Remove the 4-40 flathead screw (item
16) and withdraw plate. Replace the bulb with a new one ensuring new
bulb is not touched with fingers, use a tissue or soft cloth and clean with
alcohol after installation.



BREWER MKII & MKIV Spectrophotometer Maintenance Manual

Re-assemble and install connector and test lamp with the B2 command,
B0 turns off the lamp.

After this another standard lamp test should be tried. If there is no
success there is a possibility of circuit failure on the secondary power
supply board, or the Shutter I/O board which provides the command to
turn the Standard Lamp circuit on.

e. Next measured testpoint is TP104. Testpoint TP104 should switch on
command as this circuit is turned on and off.

e1. If this point does not switch, the secondary power supply board
should be replaced if there is a spare available. Otherwise SCI-TEC
should be consulted, as this circuit has been set up at SCI-TEC with
selected resistors, which could change the calibration of the instrument if

changed.

e2. After the board has been replaced, another Standard Lamp test
should be done.

e3. If this test is successful the system should be operating.

e4. If after replacement of the secondary power supply board the lamp
does not come on, SCI-TEC should be consulted.

f. If there was no indication of a voltage swing at TP104, there is a
possibility that either the I/O cable which connects J102 of the secondary
power supply board, to the shutter-micrometer card is disconnected or
has become defective. It should be checked for continuity, using a
ohmmeter. If it checks out all right, the 1/O board should be replaced with
a spare if possible, or SCI-TEC should be consulted.

g. Power can be reapplied, and the Standard Lamp test can be re-
attempted.

g1. If the test is again terminated and the voltage at testpoint TP104 did
change on command, then the user should proceed to item c2 of this
procedure.

h. If the test was suocessful, the system should be working.

4.7 Description of Light Detection System (Rate) Failure

A Light Detection System failure can show up in all of the tests that can
be done by the user. In all cases it will be shown on the terminal as a
"Lamp Not On Test Terminated" message. However there will be no error
indicated if a direct sun is attempted, even though the Light Detection
System has failed. The system will continue as though there were no
problem.

The Light Detection System is the main section of the Brewer, and is
made up of foreoptics, spectrometer, PMT including the high speed amp,
photon counter board, and the shutter and micrometer subassemblies
which are a part of the spectrometer. of any of these assemblies should
not be attempted, unless they are specified in this section, because
instrument calibration may be affected if they are taken apart.

10



BREWER MKII & MKIV Spectrophotometer Maintenance Manual

4.8 Trouble-shooting Procedures of Light Detection System

a. If all tests fail, and the indication of "Lamp not on test terminated"” is
presented, the user should issue B2 command to turn the standard lamp
on. With the lamp on, the user should inspect the zenith prism,
filterwheels, iris and look through the viewing tube to ensure the lamp is
on.

b. If the lamp is on, a complete Standard Lamp test should be done.

b1. If the test fails, there is a possibility of photon counter board failure,
and the cover should be removed from the Brewer and this board
replaced if a spare is available.

b2. If the test is all right, the system is probably working properly.
¢. Check optics and shutter, is shutter working properly?

c1. If there is no operation, the covers should be removed from the
Brewer and the spectrometer, and the micrometer inspected. It should be
set as is shown on the acceptance test records. The optics should be
given a visual inspection and the shutter position should be examined. It
can be moved by hand and there should be a "tug” as it moves from one
position to the next. If the shutter moves freely from one position to the
next without any indication of a holding current, the I/O cable from the
shutter to the shutter wavelength 1/O board should be inspected and the
continuity of this cable should be checked (reference Section 7.5.2). If it
is alright, the 1/0 board or the secondary power supply board may be
faulty. If an I/O board is available it should be inserted in place of the old
one in the card rack, and another test attempted. If the shutter still does
not have a definitive tug at each position on the slits, then the secondary
power supply board should be replaced, if one is available, or SCI-TEC
should be consulted before an attempt is made to repair it.

¢2. If the shutter does “pull" into position on each alternate position of the
slits and appears to be aligned to the slits, and there is still no indication
of counting after attempting another standard lamp test, a failure in the
PMT or pre-amplifier board, or optics in the foreoptics or photon counter
board is possible. : .

d. The cover should be removed from the secondary power supply board
and testpoints TP201 and TP202 should be measured with a voltmeter.
They should be similar and approximately 7.0 volts (see acceptance test
record). Testpoint TP201 is an indication of the voltage feeding the DC-
DC converter on the heatsink, and TP202 is the actual high voltage
divided by 200. If these voltages are significantly different, there is a
possibility of a circuit on the secondary power supply, or the heatsink
failing. They should be swapped out one at a time if there are spares
available.

d1. Another standard lamp test should be attempted. Ensure the
spectrometer cover has been replaced.

d2. If this test is successful the high voltage test point TP202 should be
measured and R202 can be adjusted to the value given on the
'Acceptance Test Record. Also monitor high voltage values from an AP
test.

1



BREWER MKl & MKiV Spectrophotometer Maintenance Manual

d3. If this test is unsuccessful and the test points still are wrong, there
may be a short in the high voltage line somewhere between the heatsink
and the actual PMT dynode chain. Care should be taken when inspecting
this area because there can be as much as 1800 volts at the connection
points. The cable can be checked or continuity, the cover can be
removed from the PMT and the actual high voltage can be measured at
the connector internal to the cover and next to the high speed amp board.

d4. If the high voltage is still not as indicated on the acceptance test
records, SCI-TEC should be contacted.

e. If the high voltage is working properly, there may be a failure in the
high speed amp board. TP1 on the high speed amp board should read -
30 millivolts or what is recorded in the Acceptance Manual, (using the HV
connector shield as ground). If it does not an adjustment of the on board
potentiometer can be attempted. If this fails, the board should be
replaced, if a spare is available.

e1. If this test point is alright the photon counter harness should be
inspected to see that all connectors are in properly and there are no
broken interconnecting wires. Finally if an oscilloscope is available it can
be used to monitor testpoint TP4 on the high speed amp board, and then
pins 1,2,3,4, and 12,13,14, and 15 of the SN75114N. If these are in
order, SCI-TEC should be consulted before proceeding further.

e2. If any of the signals are missing or are not clean square waves, this
board should be replaced.

f. Another area which should be monitored if an oscilloscope is available
is the main gate inhibit. it's operation is described in Section 4.11. It
should appear as a continuous switching square wave as discussed in
this section.

g. If all of these tests fail, there is a probable optics fault in the system,
and SCI-TEC should be consulted before proceeding.

4.9 Description of Shutter Micrometer VO Board

A block diagram of the shutter micrometer I/O board can be found in
section 7.5.2 of this manual. The 1/O board provides input to the
microprocessor from instrument sensors as well as output commands
from the microprocessor through the I/O board to the secondary power
supply circuits which drive stepping motors and provide on/off lamp-
control.

With the appropriate level and decoding along with a bus request the
board outputs the input port on the data bus. The eight input lines are
conditioned with schmitt triggers and resistive pull-ups. Four of the lines
are inverting and four are non- inverting.

The board outputs data from the microboard bus onto it's output lines.
Three pairs of the output lines are inverted and the resulting signals are
power boosted to drive three stepper motors with a current rating of 0.5
amp. The other two output lines drive floating transistors which are used
as switches to control current to the motors. A matrix patch on the board
allows the use of various options and the ability to use the floating
transistors for off board switching.

12




BREWER MKIl & MKIV Spectrophotometer Maintenance Manual

4.10 Description of Photon Counter Board

A block diagram of the photon counter board is given in section 7.5.3
The photomuiltiplier signal which has been amplified, divided and driven
by a line driver on the photomultiplier and pulse amplifier board is
received by a line receiver on the photon counter board. This signal is fed
to a binary counter. The three bytes are each connected to output ports
which are in turn connected to the data bus of the system
microprocessor.

The port select decodes the lines from the microprocessor as well as a
combination of the four most significant bits from the data (the stored
level). Thus under software control the three 8-bit binary signal words
may be placed on the bus serially to be stored and treated by the
microprocessor.

The main gate is generated by dividing the microprocessor crystal ciock
frequency. A puise which lasts approximately 16 milliseconds is
generated every 130 milliseconds. This pulse is used to interrupt the
microprocessor to sequence the wavelength chopping motor and inhibit
the photon count signal during motor movement.

4.11 Description of High Speed Amp Board

The photomultiplier and pulse amplifier board are enclosed inside the
photomultiplier subassembly. The sub assembly is designed to allow
access to the pulse amplifying circuitry without upsetting the alignment of
the PMT or the optics.

The photomuittiplier is an EMI 9789QA type. It is enclosed with a
magnetic shield at the potential of the cathode. A small area on the shield
is open to allow light to fall on the cathode. High voltage power supplies
are provided to the photomultiplier by a resistor dividing circuit at the
base of the tube. Because differential thermal expansion between the
photomultiplier glass and the Teflon base may cause tube breakage
under extreme temperature conditions, it is recommended that the
photomultiplier housing never be subjected to temperatures of less than -
50C or greater than +60C.

The pulse amplifier board is located directly behind the base of the
photomultiplier tube. This circuitry accepts the photon pulse signal from
the photomultiplier, amplifies the signal, discriminates the signal level
from current leakage, divides the amplified photon pulses by four, and
finally outputs the signal on a line driver, because the circuitry is
extremely sensitive to feedback and RF noise, it is located in close
proximity to the photomultiplier.

4.12 Description of Secondary Power Supply Board and Heatsink, Not including Standard Lamp and

Mercury Lamp Circuits

a. See section 4.2 for description of Mercury lamp circuit.
b. See section 4.5 for description of Standard lamp circuit.
c¢. Shutter Motor Constant Current Source.

The current regulator for the shutter motor is identical to the standard
lamp regulator except for the addition of a shunt resistor (R14) which

13



BREWER MKII & MKIV Specirophotometer Maintenance Manual

provides a holding current for the motor when the regulator is turned off.
There are two additional resistors which are not a part of the control
circuit. They are used to balance the current through the field winding of
the shutter motor. The motor supply is also switched on and off under
software control.

The motor does not require the precision of the standard lamp, therefore
a standard wire wound resistor is used to sense current.

d. High voltage circuity.

The high voltage (900-1800 volts) for the photomultiplier (PMT) is
developed by a DC-DC converter. A 10 ohm resistor is mounted on the
heatsink and is in series with the negative 12 volt power connection to the
MC 1463 negative regulator to reduce the power dissipation in the
regulator. This regulator operates from the negative power supply line
because it is more convenient to use a PMT with its anode at ground
potential. The reference voltage is developed as follows: The plus 5 volts
from a three terminal regulator is split and applied to the inputs of an
operational amplifier to a controliable -10 to 0 volt output. This output is
used as the reference for the MC1463 regulator. Thus the input to the op-
amp controls the HV for the PMT. This technique is used to permit the
use of the automated version through a D/A converter.

e. Plus-Minus Regulator.

This regulator consists of two, three terminal regulators which reduce the
generate +5 and -8 volts from the M volt supply for use by the circuits on
the high speed amplifier board: This +5 volt regulator is separate from the
one used as a reference for the High Voltage regulator.

f. Ratemeter.

The ratemeter circuit provides a voitage output of the photon count rate. It
consists of three parts; 1, the transistor pump on the discriminator board,
2, the integrator-driver on the regulator board, 3, the test point on the
S.P.S. bracket. A transistor is connected as a current pump and driven by
one of the outputs of the J-K flip flop on the high speed amplifier board.
The pulses are integrated by an RC network then scaled by the op-amp.

g. Temperature monitor

The temperature monitor is a temperature sensitive bridge using YSI
linearized thermistors. The bridge output is amplified to produce a
suitable scale on the analogue meter. A switch on the Control panel
selects either the ratemeter or the temperature readout. There are three
thermistor circuits available, one of which is located in a hole drilled in the
side of the front flange of the PMT housing. Of the other two, they are
used on the automated version, thermistor number 2 on the side of the
card rack and thermistor number 3 is attached to the base of the Brewer

Box.

4.13 Description of Clock/Monitor and A/D Board

The clock/monitor board provides A/D conditioning circuitry, battery
backed up RAM, and battery backed up real time clock.

14



BREWER MKIi & MKIV Spectrophotometer Maintenance Manual

The specifications and schematic of the Clock/Monitor Board, of which
the clock/RAM circuitry is a part, appears in Section 7.5.4. U1 latches the
high order 8 bits of address from the COSMAC bus. These high order
address bits are decoded by U2, U3, U4, U5 and U6 to generate the chip
selects for the real-time clock chip and the RAM chip. The RAM and real-
time clock are memory mapped and occupy 2K of address space. The
real-time clock occupies the top eight addresses in the 2K and the RAM
occupies the rest.

The battery backup circuitry provides power to the clock and RAM if the
main 5V power is absent. Comparator U9 detects when the main +5V is
present and a low output when it is not present. Voltage reference U13
and associated resistors provide stable reference points to the
comparator so switching occurs at fixed voltages, otherwise the
comparator could oscillate. The comparator output is used to switch the
clock chip into the power down mode, disable the chip select circuitry to
the clock and RAM chips, and turn on the battery backup power through
the transistor switch consisting of Q1 and Q2 when the main +5V power
fails. The reverse occurs when the main +5V power is restored.

Diode D1 isolates the battery backup supply line from the main +5V
supply. Diodes D2, D3, D4, D5, D6 serve to drop the voltage supplied by
the batteries to approximately 5 volits. Diodes D7 and D8 protect the
batteries from voltage reversal. Switch SW1 is a three position switch
which allows the selection of the on-board batteries, external batteries
connected to J4, or turns battery backup off for shipping and/or storage.

External battery power should be provided by two Electrochem
Industries, Inc. BCX or CSC type cells connected in series, as these cells
are not position sensitive and they provide the optimum voltage for
battery backup operation of the Clock/Monitor board. Alternatively, five
1.5 volt alkaline cells in series or any other source of 7.5 volts DC could
be used, though the capacity of any backup source should be-a prime
concern. External batteries require a voltage of 7.5 +/- 0.2 volts and a
mating connector to J4. The mating connector is supplied with the
Clock/Monitor board. ‘

On-board battery power is provided by two lithium AA size cells. These
cells should provide approximately 410 hours at 25 degrees Celsius or
375 hours at -20 degrees Celsius total backup time before replacement is
required.

The A/D conditioning circuitry takes the voltages at the various monitor
points and translates them into the 0 to +2.5V range required by the A/D
converter. With all positive voltages, this is done with resistive voltage
dividers. Inverting amplifiers are used for the negative voltages. The
standard lamp current is translated through a differential amplifier from
the voltage across a current sensing resistor. :

Section 7.5.4 lists the names, A/D channel resolution, and nominal value
for each channel when measured through the A/D.

The Clock/Monitor board provides two x2 amplifiers to amplify the 0 to
+2.5V output of the D/A converter to 0 to +5V. At present, the software for
the COSMAC does not support the D/A functions, but these may be
implemented at a later time.

15



BREWER MKIl & MKIV Spectrophotometer Maintenance Manual

5.0 TEST RESULTS OUT OF SPECIFICATION

Whenever any tests are out of specification, (HG,DT,RS,Standard Lamp,)
the following should be done or considered. Note if MKIV instrument
then micrometer and Filterwheel #3 must zero and setup properly at the
end of each Reset or FR command, check manual for offset constants.
Also for MKIV the Ozone/SO2 operation should be used for trouble
shooting and after proper operation retuns then checkout in NO2 mode
can start.

a. If the deadtime has increased or decreased significantly, the shutter
may have become misaligned, or a ground in the instrument wiring may
have become resistive. In either case, both items should be carefully
inspected. Also high humidity inside the instrument may show up in
abnormal deadtime results.

b. Lamp output may have deteriorated, and the lamps may require
replacement. They can be inspected as mentioned in.the previous
sections and replaced if a spare assembly is available.

c. The optical surfaces within the zenith prism may have become
smudged with a fingerprint or may have become dusty over a period of
time. It should be cleaned, without Celsius if possible.

d. The micrometer may be "sticking" and not in its exact location after a
Mercury Lamp test. It should be inspected and the driving gears may
have to be carefully cleaned with tissue and a little aicohol.

e. As previously mentioned, dark count (which is printed out in most
tests), is a very good characteristic which is printed out in most tests.
When the dark count of an instrument changes, or becomes erratic, a
shutter Run-Stop test should be done to see if there are any changes in
the shutter circuitry. If this does not give any indication of the problem,
there may be a ground somewhere which has become resistive, and it
should be checked. A good ground between the heatsink and the bottom
cover to the terminal board is important. It should be inspected to see that
good contact is being made. ’

f. The High voltage test can be done, and the results compared to those
in the Acceptance Test Records.

g. In humid or wet environments, the top cover should be removed
periodically, to check desiccant condition. The base and spectrometer
desiccants can be removed and dried overnight at approximately 60
degrees C if necessary.

h. If these fail, SCI-TEC should be consulted as to further investigation.

16



BREWER MKil & MKIV Spectrophotometer Maintenance Manual

6.0 OPTICS CARE AND CLEANING (Refer to Fig. 7.6.1-1)

6.1 Optics Care

- Never touch the polished surface of optics.

- Hold an optic only by its edges.

- Reduce the need for cleaning optics as much as possible.
6.2 Optics Cleaning

- Always use latex gloves when handling or cleaning optics.
- Do not reuse cleaning materials.

SPECTROMETER MIRRORS, ND FILTERS, QUARTZ PRISMS AND
LENSES: In the event of dust, blow off with rubber hand pump (avoid
using your breath) or use bottled dry nitrogen to remove particles. In the
event of grease or fingerprints, dampen a very soft cloth with methy! ethyl
alcohol and wipe gently. NOTE: Wipe marks will aimost certainly remain.
To remove the wipe marks, dampen a soft tissue with a mixture of ether
and isopropy! alcohol and wipe gently. The tissue should be dampened to
the extent that while wiping, the mixture evaporates one to two
millimeters behind the tissue.

QUARTZ DOME AND EXTERIOR QUARTZ WINDOW: Spray with
window cleaner and wipe clean with a soft cloth.

LAMPS: Dampen a soft cloth with methy! ethyl alcohol and wipe gently.

POLARIZING FILTER: Use only a soft, dry cloth or tissue to remove dirt
and finger marks. The filter should always be wiped gently to avoid
marring the finish.

DIFFRACTION GRATINGS: Do NOT touch or attempt to clean.

17



BREWER MKIl & MKIV'Spectrophotometer Maintenance Manual

BREWER REFERENCE DOCUMENTATION

Section Overview

.7.2-2.4). Note Desrcant Mounted on top of power supply cover,
-v«rspmklncolor ' - N

- Fig7. 1-4 Optuon B K|t (Azrmuth Tracker), For futher mforma_ R

Section 7. 1 Overall Assembly and External Cables

- Configuration Control Diagrams 711

- - Brewer Systems Drawin_g BS-C1000 ‘ 7.1-2

- Brewer Assembly BA-CO1(MKII); BA-CO1/B(MKIV) - 7.1-3

= Option B Kit C91 (Azimuth Tracker) - | 7.1-4
- Option C Kit UVB Installation C84 7.1-5 '
- Power Cable (External) W12 7.1-6
- Data Cable (Extemal) W14 747
- Electronic SparesKitC122 718
- Basic Spares Kit C'I 12 ' 719
- Tracker‘Stand Tie-Down Kit Installation '7.1-10

- Fig 7.1-1, -2 Configuration Control Diagrams (Family Tree) for complete MKII and S

MKIV BREWER systems mcludmg all possible purchase optrons

Flg 7.1-3; Basic Brewer Assy (BA-CO1 MKII; BA-CO1/B MKlV) Reference item 7 s

under cover, is main power supply BM-E80 with replacable 5 Amptuse_‘(F!ef Fi ig
change

Fig 7. 1-6: AC Power oord BA-W12/A (110V North Amencan)‘ BA-W1
European). i

F|g 7.1-8, -9: Electronic and Basic Spares Kits include full set of electronrc pnnted :5
circuit boards, power supplys and spare Iamps ‘ R



AN ¥ILINOLOHIOYLIZdS INOZO ¥3MIHE ‘WVHOVIG TOAINOD NOLLVINILINOD

3iva

T A8 Qddv¥
NOISIAZY
‘ON

VOYNYD NOOLVMSYS “ONI SINIWNYLSNI J3L-I10S

Q3¥3A1730 3IvQ

Q3JNALOVANNYW Lva

Y3INOLSND

YIGNNN VIY3S ¥3M3uE

8/804-v8
g/16s-ve | 1S-va 20S-v8 m&im 964-va 124~va 9013-v8
140ddNS INLLVEO YOLOM H3ILINHS HO3W ¥3IINOYLIILS +04—ve ASSY dWV] 3NNQ HUN3IZ . ASSY ¥OIVNLOY Sl
ASSY SOLLH0330J NOIUVHBITVY
a/053-ve hd~vE 290-va a/10s-ve Zhd—va 8/104-v8
ayvos O/1 N3Z/z¥ [ ASSY CHMd IAva LH0ddNS NIVA W3IIN0ULI3S Y3NdIINWOLOH ASSV SOLLJONOA
194-v8
Nea OAn
8v3-vd
ASSVY 83d -
YIINNOD NOLOHJ
8/253-va ¥80~-va 1£3-va ¥63-v8/1L3-v8 8/199~-vE 120-va/L10~-va 123-va
ASSY 82d — 9 NOILGO H
HOSSI0HAOUIN o1 ASSY Hovy Quvd AddNS ¥Md D3S/NIVA WO 3T IINOD ¥3A0D/3SVE MNISLY3!
Yt
ASSV 82d
OGNV JOLINOW /Y0019
8/053-v8
SIdl/md F—
ASSV 82d 0/)
ZL19-va - a/162~va
9 NOILJO mwﬁﬂm(ﬂv*: 8 NOUudOo
v/053-ve LY S3YvdS JISvE UM YINOWIL HINWIZY

A1S—ASSV 83d 0/

dv1 GAN TVYNY3ELAE —

UX S3¥vdS TWIRILDITI —
STIVANYN —

Y3LNdNOJ —

i dWN3L 4100 -

ouwu T

‘SNOILJQ H3HIO

]

908-+S9 SNOLJO #4/2
8/109-va
YALINOLOHJON1I3dS
YINIHD AWA

-1l

Fita



3lva

A9 Oddv
NOISIAZY
‘ON

IMN 3313IN0L0HJON¥LO3dS 3NOZO d3IMIEE *WYEOVIQ TONLNGD NOILVENILINGD

VOVNYD NOOLVXSYS “ONI SINIWNAULSNI D31~-10S

J3¥3AT30 3iva

Q34NLIVINNYN 31VE

YIROLSND

YIBANNN TVIMES ¥3M3u8

. 904-v8
] Lis-va 20S-va 503-v8 964-ve 124-va 9013-va
180daNS SNILVAD HOLOW ILINHS HOIN ¥3LINONLOIIS $04-vg ASSY iV 3JAN0 HUN3Z ASSV HOLVNUIV SIdl
ASSV SDILAO3N0S NOLWNEIVD
0/053-v8 290-va 10S-v8 10d-va L04-v8
auvos O/ N3z/zv [ INVAS LHOddNS NIVt Y31IN0ULO3dS ¥3NdILINWOLOHd ASSV SJ11403404
i84-va
L
gvI-va WSRid 8AN
ASSY 83d ——
¥3INNOD NOLOHd
mmmmum% oﬁwn_wmo 1£3~va ¥63-va/123-v8 190-v4 129-vg/|10-v8 _N.umﬂ«umx
vosonadom || ) oL ASSV JIOVH QNvD A1ddNS ¥Md 03S/NIVW WIILMO 3131dN0D ¥3A02/3SvE 3N
8/163~-vg
ASSY 83d a/¥ —
ANV HOLINOW/Y2070
8/0s3-va
SIl/md T
ASSV 824 0/
Z110-v8 - a/162-ve
9 NOIL4O mmﬁm«‘_m_xx 8 NOWL4O

v/053-va
QLS—ASSY 83d 0/I

LY S3uvds Jisve

LY YNOVHL HINWIZV

dNV1 BAN TVNNALE ~
13 S3VdS WORLOTNI — H
SNV — 4
¥3LNdWOD — 3
1D dW3L 100 - @ 908258 SNOLJO #/2
YIINOLOHJOAULIIAS
‘SNOILJO ¥3HLO Y3IMIUG DI

F/L‘l 7-"':2



Zil 00010—S9 * 2 * swouovs OMO¥00DLOSE SINYNTTL
‘AY H3BANN LN3WNDOQ N 133HS _\ . ¥ STIONY o F STONY ONIMVEO, Q3IVHINID ¥ILNGINOD o/ \vi-va
520 % v 0" ¥ 1w (43ZRV10d GNZ) NOLJO
St ¥ X 00" % X HSINIS MIIHMEZLNS I
SWILSAS ¥3IM3INg . e |
SJLIL [ pouroede smmmnio ss3un) 82OUDIOI0L O3HO (5 awou 908 ‘a0 o wgy a/3) 0z10-va
- 9020-N8 5020-Na g -
o sope 2 Sz S0 ONI SININOMLSNY | (PUPU) WTSNI Tvnd A MO | NAG IDIA 403 ADIN 4O IDIR 303 B roEave o O I noruanco
R  E 23110552 —— neeerseel ava 350 LSNvL hTw 35V UswvaL A (Zeysy) 'Saq INIHE AL YR SW3L wId3dS
) © G66LO » — 'ASSY X3N] — | 3w0s
"ON_—
waLl SHYYAIY NOWLdI¥OS3a "ON S¥3N | ON Lavd | wn[1=
A0
9z10-va ASSV dNV
\ssv arn 8AN TWNMILX3
8AN WNY3LX3 I NOILJO
ZHO9/0S OVAOZZ = 022
ASSV dAVT TWNNILX3 8AN = © 2H09/05 JuAoLl = o1
TS SIUvdS SOMONL0T3 = H TTOVITOA ONIIVI3d0 G.038 103135
1l S3uvas OISV = 9 . 3/2210-va a/z210-v8 1) S3uvds
138 TWNNYWN 30IAY ¥3d0 = 3 ‘043 ‘AlddNS ¥3IMOd ‘SdWV1 SOINOYLOIT3
W3ISAS MAINGNOD = 3 (20N-%05-50) Al VW = ¥S8 *SASSY O¥VOE LINDXID SIANTONI woiny_“u; sauvas | O | aw/iom ‘i sauvas A NOILdo
Lix 301A43s aiu.—_mxo%w = m (4103dS 190) M MWW = £59 ;210N | _SOINOMLDITI IWNOLDO SOINOYIOINI TVYNOILIO
= 208-% =
1 QY NIZ TYANYI/HIAOYNL 2V = 8 (f0s7%0) # v = 258 )
(43040 VHATY NI LSI) HALINOLOHAONIDIAS 913 ‘S100L SNOIYA
SNOILJO Q038 TYNOILIAAY AN 1037138 40 13AQ0N 103738 ‘S3SNS ‘SdWv INVIISS3IA SIANIONI 2110-va
v 030 <>ﬂﬂ%nwou0 1HVd U S3yvds Jisva
NTONI 4Dt N33y 3 NOILI0
: 119 S3IVAS OUVANYLS 9 NOILdO
FH933008 | -[0¢z |- [#S8] 3L0N
CANdNYX3
O] .Ehm_wwm«m AN .m.mumvwm«m DN “LoF N
"W, NOWdO HLM QIGNTON SI (40) (40) 1Dt VANV SIVOANVA
| N JF1dN —ya— JONVNALNIVH JONVNILNIVA JONYNBLINVA —_—
NOILdIHOS3A W3LSAS d3M3dd 3LF1dNOO (S03-v&—HY) WINvA uoitwwww‘z ANV ONLYH3dO OGNV ONLLVNIdO ONY ONLLYVA3dO ERNelit-Ie]
‘043 .mﬂmmou%&z“__mw A
‘AVIASIO ‘43INGHOD 30NTONI AYA ONY W3LSAS H3LNIWOD
"¥3QY0 SIS 3JQISN! 3HL NO HONS SY QILON GNV ¥3A¥O WIO3dS v 38 ‘JUVMLIIOS INLYAIO S3IONTINI W3LSAS (W3LSAS Q3ZINOLSND)
TIM ¥O NINOLSND FHL IO ALNBISNOJS3H FHL 38 TIWHS WGI ¥3A0 SHIINIT ANV 310N W3LSAS §3LNGWOD 3 NOILdO
(29M—v8) ASSY I1AvD SNOILVOINNWAOD ONOT WGL ¥ HiM OMVONYLS S3N0D S0G1 'S
"SININOWOD NIV 30 SNOISNIWIQ ‘INIWIONvHdY TWi3NIO ¥O3 T “tHS 33§ ¥
. . 0120-v8 Z510-va 9/9110-va v/9110-v8 1) 30AN3S
INET 38 NIL TV
3vvd3S 0343040 38 OL S 93dS "t @) o) VAOZZ~ 0) WVADLL— JUNLYY3JNIL 0100
“ses—¥0 WHO4 3SA H3GHO 40 INL LV HINW HIM3YE ADIN % N ¥3M3UE i 3DIAN3S 1Y 303S pibadiubiui
Q314103dS 38 OL (WILSAS ¥3LNAN0D) 3, NOWdO 'MOTIE NMOHS SV NIGWNN ¥3A03 H3HLVIM 0100 Y3A0D HIHIVIM 100 IWNIVIINIL 0100 3uNIvE3INIL 0100 d NOILdO
INDOTVIVD ¥ ONLYINNNO3 A8 G3I03dS 38 AYN WILSAS ¥IMIUE 3UTWHNOD V T
‘Q3I03dS_IOVLION
ONILYY3dO 3AYH OSTW LSNW (SHILIWOLOHJONIOIAS H¥IMINE) SININOJWOD $80—v8
Y. NOIdO "XOB HOV3 40 dINHOD 'H ¥3MO1 NI NMOHS SHIBNNN lvd ¥ NOUdO 30 Livd SV 1 ean
¥EHL A8 ATWNAWANI G313103dS 36 AVN SININOJWOD W3LSAS ¥3M3yg L Q3GMIONI 1Y BAN “AINO uoz“ﬁ.mwwz
- NOI
:SALON X 8AR O NOILdO
SQ | A4 |L1'BO'GE 6¥L (8/¥0z2-va) SAA1 40 NOISWIA AOZZ Qav | 2t Se10—va a/169-va LS £QV N3Z NVH
Sq | A [10'60'%6 i SALVMD ONIdJIHS ¥IIOVEL 2V NOWFY | 11 U5 NOldo ray | (80 o/ / Exom..zllhz:oﬁw.n__w
N
so | wa lzivovs 0 (S.NIQ 3QISLNO ‘LY STYINVA ‘3SVD o erio—va HUNIZ WONYN YL LNz
LISNVAL) O4NI BISA ‘NOLLZO M4 IDIN QQY
2UVY0 ONIddIHS I —
D | A4 Joriove 299 v NOILJO 40 luvd LI S3uvdS aIS BvA| 6 ADIN/IIN NIM3NE
— 0610-v8_ a/100-va 100-v8 ¥3LINOLOHJOULIIdS
™ | A4 |gT90TE $69 (¥020-vg) Uy SQ0Y Q¥ 8 HILINOULOIdS (40) «o<>o-~\om_| (40) o<>o~w~\£7 yImug
| A [f0TLTE 819 V¥ NOILO 40 (avd LY 8AN 3XWN 7 o doN ON e e T300N o 7 NOILJ0
™ | A4 [£0'60Z6 188 1% Q¥VONVLS 3NO OL H NOILJO 9HO | 9 80z0-v8
| A3 lLis0z6 z98 160—ve OL £80-vE 3 6 NOUJO 9HD | © 3Uv¥a SddiS
™| A4 [6LgoLe 0ss Z IHS 31vadN ‘G NOILJO 9HO [ - SNOILO FT8YIIVAY QYVANVLS
W | As [zis008 L8y 390 33s c |38
A P | €
™| A 02006 Lg¥ : n z
S3LY¥D ONIddIHS ‘dNY1 LX3 8AN Qav m..m ml_nzm Zo&zoo 2mu~m>m ngmmm
Wy | MO |0Z'688 s INSSH Asuld v |63
Qz
‘Qdav|'Nma| 3iva ¥IBNAN NOQ NOILdRIOS3A A |O8

Fia 7:1-2-1



1-2-2

20 . R
¢l 00010-58 |z " ¢z /1 + swouovu OMO'G00010S8 INWNTIS .
‘A wsamow wanroon | < 133ns 4+ sriomw T o ONIMVSG QILVNINID H3iNdW0D ] ] ]
ome gl (NILINOLOHJONLITAS HIMINE) ¥ NOULJO HUM QIANTONI STVANVA ONV JuVMLIOS ‘NOIYINZNNOOG ANVSSIOIN TV ¥
SWILSAS ¥IMINE sro® = 00" % o HSINL ‘NOIVNYOANI ¥IHLNNS ¥O3 NOWJD HOVI LV NMOHS S.ON OMO OL ¥343¥ ‘NMOHS ION 4 '3 ‘O SNOUGD '€ .
1SAS o 3 N S3HNI v 0ddv ‘AINO $3S0d¥Nd 3ON3M343¥ HOJ NMOHS SNOISNING 'Z /:
L o ) Seaupsoel DiHO NOWYDII03S H3LSAS 40 COHLIN ‘LUVHO SNOUJO ININOIWOD ¥03 | IHS OL ¥343¥ °I
ow sweuren 93-05 ‘NI SLNIWNYLSNI | (PoUOU) Wl SWIQ Wna di]  mD NAC
Wosy uOKEILAD UIPR DY USHD —— i, . R
—npoid so} paen 0 pardod 'EAD O} o NI SNOISN3NIG 's=g—ag 31vao :$310N
PISOI6IP 30 O} Jou &1 ANIP SINL Uwhl—umm
SB6L @ " ASSY IX3N| —— | a3wos |

HIALNINOD OL
{wgL) 38vo wva

SNOILONYLSNI NOILYTIVISNE d404

gl PUIMm_ oMa o._w H343o - FBYO ¥IMod
8 NOILJO HOLMS 440-NO
HIHOVHL HINWIZY — (wsh) 3w uamod ov HIIOVAL HLANIZY
XIA ('013 'ONLIS3L dNV1 ¥0J) L

YIMOd OV AYOSSIOIV
378v0 ARG HINWIZY

HOLMS 430-NO AIN/IAN
"03dS HIMINE
N * SIHOLMS ONILHOIS -
prssi— [}
[ j
(v NOILdO) (WagvC) SCL — DI (¥ NOILJO 40 Livd)
- . . 1L d
¥313INOLOHJONLO3dS ¥IMIuE i (WG 1Z).58 — AN/ D’ ot houdo do Lve)
(wzg't) 09
(8 NOILD I3S—-AITWISNI 1ON)
e B e GONX PQY HLNZZ TWANVA NOLYTWVISNI ¥0J
- -~ $110-vE SMA Ol ¥3J3Y
- ~. (v NOWLJO 30 Luvd)
. N 3 NOILJO - UM 8AN
/ ’ /,
p
W . \,
| MOGNIM ONIMIIA \
| L T3NYd IOMINOD MOONIM ZLAvND \
| \ /r
!
— / = o \
A
\\ r HHU \
; ! s \
A4 [rigocs 6vL (8/v020-v8) SC01 40 NOISNIA AOZZ OQv | 2L \ _ !
sa | A4 flosovs zIL SILVYO ONIdAIHS ¥INOWML ZV 3AOWIY | Lt i i ] ,
] | wob .
o (S.MG 3QISLN0 LY STYINVA ‘3S¥D | @  (wov'0) SZ°8l
S0 | Mg Jeivovs L8 LISNVUL) OSNI fii 'NOLLJO M4 1 oav | O __ 1 | !
™| A4 |0110YE 799 ¥ NOILO 40 ldvd L S3uvdS AIS DivA| 6 : | \
m ™| Ag lezreoee 559 (v0z0-va) UM SOCT 4av a /
| ™| A4 [£0TLEE 89 v NOLGO 40 L¥vd LM BAN IXVW ¢
7 H | A4 |£0'60Z6 198 U QYYONVIS 3NO OL H NOWLHO 9HD 9
B A |L1E026 295 160-v8 OL £80-vA ¥ 8 NOILJO 9HD s
M| A4 [BLe0LE 0cg Z IHS 3vadN ‘G NOILdO SHD ¥y
| A |zi6006 L8y ¥d0 338 c |R8
™ | A i€0L0'06 [2-14 SILVAD ONIddIHS ‘dNV1 1X3 8AN Qv z A_JW_
nw | mo | ozess —— anss! 1Syl =%
=] =z
‘addv|'nma | 3iva HIBNNN NOG NOILJRIOS3Q A |©F



A = L P = \ DD e tunemr>
A1BN3SSY - - -
HAIINOLOHAONLD3IS e A B
H3IMJND .1 )
S e o suanusn | B e
INE

e mm R AHSE sl

S T

[T} J0¥OMDIN_DWNSOD 8/253-v8 [
= e e 6
A3 (zs1-86—-086) G/¥ (30 1vd) 6/153-v8 ]
1 | (G63—vE) HOLNON/%001D [0 mivd) a/is3—va| £
-~ e — 9
91 23INAOD_NOLOHA e3-ve S
- e e v
] Z1 | (3wea N3Z/wmit 2v) /1 | % 0/053-v8 €
vl | (2 ® LF W/4-sw) O/) 8/0s3-va [3
€1 | (NILNHS—HAISMOUDIN) O/1 v/053-v8 |
[ET] NOLLONNI "ON_iivd NOLLSOd
(8/100-v8 ¥ L00-vB) 3MBYL NOUVOOT GivD

ISHAIVAH 3HL HUM LOVINOD NI 3INOD
AON 00 A3HL OS Q3ddvaM—3AL v IvIH 3HL 40 AUNIXOd 3HL NI S3MM TV
DANSNG "AUBATIQ DL HOWd TITVISNG (911D-VE) I ¥IUVIH V 3AvH OL §I LND 3 T)

OVH QYYD WOHJ 39viNvQ ON NSN3 OL JTEISSOJ SV OSH 3HL NO LX3 M 3HL OL
350710 SV ¥3HI3901 (IddVaM-3iL 34V YOION ¥ OSH EF W3 NOU3 ONMEYD 3ANSA3 "4t

‘3005 dOL HUM HSIM4 ‘ASSY ©F “wi Of {19 ML) diALS INZWAOIN 40 .0 3UIHAY q

INV4 TOHINOD 4O dOL NO (65 KAL) WYOS 3Md ‘ONIddIHS OL S.EQ

"SOD-VE—NV
INNAI0N 1S3L 3ONVACIOOV ONV NOUVMENTYO WORILOIT ONV WIILJO 01 ¥343 '8

$110-vG SMQ NOUVTVVISNI ¥3d S¥ (85 KGL) UM @An .:s_mz.ﬁ

‘94 ONOD3S ONVOSI (1€ Wa3L)

AN HUM 38RL V35S ® 38N03S ONV OMId NI TI0H NAHL (I 3L 40 Luvd) 38N

NOOAL .__mmmz_ 'NMOHS NOLVYDO07 IV TIVISNI-3 ONY 9Nd 3NO NuHL J10H /1
T {4 PQU 30 L¥vd) HINVINOD INVOISSAO WOMJ SN O3 HI08 54

"LZ ¥ 0Z SW3Y ONISN 0/DS3-vB WOWJ STIEYD Quvoa
0/t NALSVS "AUNVID HOJ NMOHS ION (9Z-2Z W3L) S3N8YD ONY SSINUVH ONRIM 'S

‘6L @ £1 9L ‘vi—ZL SN JO NOWSOd 1076 ¥O4 Favi NOUVOOT GuWO OL EQ
“1SN ¥DIHD ONDIOVA NI SNOWOMMISNI M3d SV IS3L TwNis ¥3Ld¥ (€9 NAL) VO30 JWIHQY €

(¢ W3N) AWSINS HM3IMOd NN S0 SHVI3Q AIGNESSY ¥04 LL3-VE OMd OL E@
‘ONIddIHS OL HOWId ¥3MF¥E HUM OINOVJ 38 0L (Z9 NAL) 1M S3uvdS QIS 'L

SIUON

"AINO  109-¥8 “(NOLLJO 3AQ
N3Z/RiL Zv INOHUM) 3NOTY 3SN 38 OL §1 UNN JI S3H0IS
OL O3NNNI3Y ONY OIAON3YH 38 AVW (Z1 naAL) GuvoB 0/1 x

A [erriove 0 799 cwISUNDIO P P DR BN O | &
A3 [szeoEs| 9 we Th DN OOV NIBLISI'S SHG 20 | W
Ad [G1°L0°TB om 1UDL'8 SAUON “19-58 S0 Oov [
YREIET [0 96 MALD 1DI BAN OO¥ [
A

[(5—¥EBLS1 SL) SU3INNE ¥ WS OV|
(zs3-va ® 20s3-vE) G1'S) QY AR | ZL
XINO_DHO_ WRIDIOW i

§ ¥ 5 SGU O o]

3Wa OL ASSY TWd WOM3 © i 5vD)
11 ARG 00V '5/d ASN ¥0d 3iydn
9% rQU OOV 5S¢ AGLI 130
S¥ W Ly 30 't 2O BY
NOSIGA @/ DOV ~ NN
W

2
:
slelosls(z -

z
H
R
4

3D 2071 B0V
IUTLO00 SV 5w
00Z—31-00¢i5E (35 Svek

\|2|=le|ee)s) 8|2 =|k|0iele| ¢| 2
z
1
S
t

109-v8

E \1\|s(8(5(2]z
3
d
\\it

"oLROSI0 | B

5
g

ARVID Y04 NMDHS LON 3NVMONYH 3OS

?

L IWS

W 8-8 NOLD3S
]
H

m<—|

7 /- >

..




SCI-TEC Instruments Inc.

Title: BREWER SPECTROPHOTOMETER ASSY RevDate:  94-01-17
(BA-CO1: MKII; BA-C01/B: MKIV) Rev: 17
DCN: Drawn: Checked: Approved: QA App'd: Dwg No.: BA-CO1
662, 669 FV
ltem | Parv/ldent Title/Description Qy | Qty | Qty | Qty [ UofM | Ref Des Remarks
No. No. /B {C /D
1 BA-Gii Weatherproof Base Assy 100 1.00 EA
2 BA-C21 Weatherproof Cover Assy 100 1.00 EA
3 BA-C61 Complete Optical Assy, MK 100 - EA
4 BA-C61/B Complete Optical Assy, MKIV - 100 EA
5 BAEM Secondary Power Supply PCB Assy 100 100 EA
6 BM-C82 Control Panel 100 1.00 EA
7 BAEN Main Power Supply Assy 1.00 1.00 EA
8 BM-E62 Secondary Power Supply Cover 1.00 1.00 EA
9 BAE21 Heat Sink Assy 100 1.00 EA
10 BA-E3{ Card Rack Assy 1.00 1.00 EA
11 BAFN Zenith Drive Kit 100 1.00 EA
12 BA-E50/D /O PCB Assy 100 1.00 EA Az TkifZen Dr
13 BA-E50/A /O PCB Assy 100 1.00 EA Micro/Shutter
14 BA-E50/B VO PCB Assy 100 1.00 EA Iris/Flirwhl
15 BA-E99 Brewer MKII Operating SIW 100 - EA
16 BA-E48 Photon Counter Control PCB Assy 100 1.00 EA
17 BA-E51/B Clock/Monitor & A/D PCB Assy 100 1.00 EA
18 BA-E98 Brewer MKIV Operating SW - 100 EA
19 BA-E52/B Microprocessor PCB Assy 100 1.00 EA
20 81-90-630  Connector Slide Lock Retainer 100 1.00 EA
21 81-90-610 Connector Screw Lock, Female 200 200 PR
22 BA-W36 Main Interconnect Hamess Assy 1.00 1.00 EA Not Shown
23 BA-W34 Photon Counter Hamess Assy 100 1.00 EA Not Shown
24 BA-W38 High Voltage Cable Assy - 100 1.00 EA Not Shown
25 BA-W12 Power Cable Assy 100 1.00 EA Not Shown
26 BAWi4 Data Cable Assy 100 1.00 EA Not Shown
27 8309039  Spacer, Thd, 6-32 x 2°Lg, M/F 100 1.00 EA
28 BM-C105 Nameplate, Altered 100 1.00 EA
29 83-09-876  Spacer, Thd, 6-32 x 1"Lg, M/F 100 1.00 EA
30 83-51-800  Screw, 8-32 x 1/4"Lg, Btn Hd Hex, SS 500 5.00 EA
31 85-10-145 Adhesive, Sealant (Loctite 242) 050 0.50 ML
32
33 83-79-152  Screw, 1/4-28 x 1/2°Lg, Skt Hd Cap, SS 300 3.00 EA
34 8351752  Screw, 2-56 x 1/4°Lg, Btn Hd Hex, SS 200 200 EA
35 83-51-784  Screw, 6-32 x 1/2"Lg, Bin Hd Hex, SS 6.00 6.00 EA
36 83-51-786  Screw, 6-32 x 5/8"Lg, Bin Hd Hex, SS 200 200 EA
37
38 83-51-782  Screw, 6-32 x 3/8"Lg, Bin Hd Hex, SS 100 1.00 EA
39 8395785  Washer, #6, Sealing 900 9.00 EA
40 83-95-786 Washer, #8, Sealing 500 5.00 EA
41 8395013  Washer, #6, Flat, 3/8 OD x 1/32 Thk, SS 600 6.00 EA
42 8395604  Washer, #4, Internal Tooth Lock, SS 200 200 EA
Page 1 0of 2

Fig 7./-3.2



SCI-TEC Instruments Inc.

Title: BREWER SPECTROPHOTOMETER ASSY Rev Date: 94-01-17
(BA-CO1: MKIi; BA-C01/B: MKIV) Rev: 17
DCN: Drawn: Checked: Approved:  [QA App'd: Dwg No.: BA-CO1
662, 669 FV
ltem | Part/Ident Title/Description Qy | Qty | Qty | Qty [UofM| Ref Des Remarks
No. No. /B 1C /D
43 83-95628  Washer, #8, External Tooth Lock, SS 500 5.00 EA
44 8395609  Washer, 1/4", Internal Tooth Lock, SS 300 3.00 EA
45 8340486  Nut, 6-32, Hex, Self Locking, SS 800 8.0 EA
46 AM-BA-CO5  Acceptance Manual 100 1.00 EA
47 8379080  Screw, 8-32 x 1/4"Lg, Skt Hd Cap, SS 200 200 EA
48 83-79066  Screw, 6-32 x 1/4°Lg, Skt Hd Cap, SS 100 1.00 EA
49 8395750  Washer, #8, Split Lock, SS 200 200 EA
50 83-95-749  Washer, #6, Split Lock, SS 1.00 1.00 EA
51
52 8580440  Cable-Tie Mount 300 3.0 EA
53 81-90620  Connector Slide Lock - 100 EA
54 83-79-049  Screw, 4-40 x 3/8"Lg, Skt Hd Cap, SS 300 3.00 EA
55 83-30450  Bumper, Rubber, 1/8" Hole 400 400 EA
56 83-51-762 Screw, 4-40 x 5/16"Lg, Bin Hd Hex, SS 200 200 EA
57 8340485  Nut,4-40, Reg S.L., Hex, Thin 200 200 EA
58 BA-C84 UVB Kit (Option C) 100 1.00 EA See Note 7
59 BM-C202 Shipping Foam, Brewer Control Panel 100 1.00 EA
60 83-95008  Washer, #4, Flat, Nylon 100 100 EA
61 50-10-090 Neoprene Stripping, 1/4"Thk x 1"W, Adh Back 0.08 0.08 FT
62 BA-G112 Brewer Standard Spares Kit 100 1.00 EA  Packwith Brewer after final test
63 12103081 Decal, SCI-TEC Logo 100 1.00 EA  Adhere to cover after final test
64 83-56-143  Set Screw, 6-32 x 1/4"Lg, Cup, SS 300 3.00 EA
Page 2 of 2

HE’ -70,"303




ASSY ¥ANOVHL HINWIZY

N
U] 0dé¥
N e e T i )
« wa

o gueucan SucoSONE SINIANHISNI | (S0RW) WAL SHIG Vna A

z :.
P T AHIS s v e

1
SHUVIGY ﬁ NOULJRIS30 _ ON 2438 — ON Litvd — LR

(95 MIL) AL HIM {S) PQU) ASSY GT) S0 3DWSNNS DNUNNOM IS
HINON NONJ MID NMML ¥ SO #/1 I ISVB 3HL NI TI0H DMINNON JVALIS QNNOHD FHU LvWi NSN3

“WNNQIEL N3O NI 66
ANv 0L SMAU Hum (Sv WIL) GUHHS LNNON “ZA, WNIRHZL NON4 MINOS ONUSIXI GMVOSID ONY 3AOVSY

‘SOYIH A3¥DS OL (95 WAL) ALY A1de¥ “UVIOMYN 830NN S| 3dv) 03BS-TIEN0A FWNSN

“ISYD MBAOVHL O} ONBOVLY OL HOINd
TIANIS ONIHGS $3SSYd (LY WAL} dWallS ONO 3L 3UNSND ‘(SIS O) NOWSOL MINON. NI MBIVHL HUM @

FTIOH OAdavL NI NILHOW ONV 09 MIL MuM SAVIHKL ONMSNE V0D 008
ININYIL OL ONUOINNGD OL ¥OWd (9% MEL) SMMSNE MUHL (% N3L) JWVD J3WOd AMOSSION LUISHH Q

“ASSY SO0 N SININNOMY NSid NIIHI-—;
‘QIATHIY LON SI ININNOITY M3M3NE/MIIOWVMI NIS0Nd 3! SLNN B NILHOU @ XY 8/1 A8 (5 nau]
S13MWuE JIONY yvI1) OL 3SYE ¥3MIE NO SHIMNG 35BMd ¥ NOWISO OL SMI¥DS ONTBAT ISAVaY Q
(28 WAL) ¥IAO HNOOTS INIYIL NO NNOHS SY S138Y1 .OV. ¥ 00, REHN Q
001 @ TL OSAQL ONISN (ST MGU) MYB WOLIDA OINO (ZU MGL) GiM-vE NONJ WML ONO TNVISM €

34Vl HI X08 40 Tivi 30ISNI OL HOVLLY GNY 'ON ihvd WM
1361 'SIVE DUSVI4 NVI1D OIM (08 W3L) ¥ AD ‘SM3MOS ovD /5 X IE-Oif ¥ (Ov WaW) 8N4 3IWW OF

‘SOHYOR ONDISYW D34S KW
SONINIO ¥3A0D 013 'SHOLOINNOD MBAOD OL 3dvi ONDISYW DNISN A ONUNIVY MO ASSY O3IHSINII Jbveddd '8

Y08 40 JNV4UNS 3QISLNO OL JHIHOY 10N SO0 INYIVES JuNSND ASSY Ok NOR LS WA
HUM 1N 40 J0ISMIOND ONY SOVINHL L¥0D ‘(8L WaL) JWNdS ONMIVISNI 34030 06 ¥ 89 Sl d:m:.@

“162-58 WVHOWVIO LVIIHOS UNN ¥3d SY ASSY Jutk £
(61 NGLY) ASSY HOIVIIONS MO MIONN 1381 .NO. uxu:?@
"ONUNIVE dEL4Y 35VE NINIVML @ ZKINKS JHL NO N, BVUMS ¥ YN “LINOVNE INOD NONJ D6

(85 ML) ZPZ ALICT HUM WM CIXOOTNA T WNDTS ¥
TIATT LS NILSAS IV INOG 38 0L E1 MAY 40 L¥vd) THIVD HOLMS ALING JNNID 10N 8@

0 CEOVIEHL NI NIINOL ONV 09 N3L HUM SOVSYHL DNHSNG 1¥GD
0018 WNIMHAL 01 DNUIINNOD 01 HOINd (G5 NAL) ONMSND Mumi (ST WO LI WAL) FIVD HIMOD iﬁ...@

NILHOU NV
09 FGLI HUM SAVINHAL ONHSNE IY0D TIOH Q3ddvi ¥ ONIMSNG NbkHL (ZL AAU) TWVD IOHINOD Euwz_é

‘SILON

Ad BEL HELNOO 61 3UON 0O¥ ‘L JUON OHI [0
sa| A Z1INOG Try W3l) ALvED ONdoMS GOV [
o [ Al 8¥INOQ OINN dviLS OND AJWWIS 19 ‘Ml oav | 91
A SO £1_AUON 66 B 0L LS SNIL OOV st
| A 265N2Q S 210N 01 9345 3M0¥OL 00Y [
™A 29N NMVH TN/l OND aOY £3
| A jorsule SESNOQ ¥Z oL v 33 (0v 1) 3504 oD T)
V| A L2016 £ESNOG 6 MW a0V it
& | Ad |2T0E 17800 A/H ¥ N8 MeGL ‘ddnS 3ouns 00v | oF
S8 | Ad [SO6008] 605 '68¥NIT A/H OIN ® JnS MDd AN 0OV s
™| A [z 068 ] 65¥N2Q AN Vd ¢
vd | a0 [soroee SLENIG U3 /g Z Wm
V¥ | a0 [1050°C8] S{C-NDJ-S0LR SNDILDFNH0D Smd 9 17
Vo | 30 [\0L0SH | 557-NoG-10%8 ISVI/ NAVEATD < 135
addv| Nwa | Auva W3ENON KO0 NOWLJRSIA w| B

WIVIE-VE TN
/T ONWVHO QLUYSINIO ¥
w
200" @ wor o

AINO 43¥ ‘¥3ImM3ua

o~

FI0H ONINNOW

dviiS GNROYS v m

0S¥ A=A NOIL3S 335
ONINOILISOd 8nH ONILNNOKW 31v1d 3AM0

T 133HS 338

M—M NOILO3S

0 f

oF——3 |

O

=

STIOH ONLLNNON
|_— % 35v8 u3xovil

o

(4

e,

434

FieaT.1-4.1




g1l 180-v8 C  C . MGB160-v8. NG
e oo nowooa| 1336 R ..!.2..«.31 \ ONVVI0 ORLVUINIO HALNGNGO
@ vr playiges
g wer 008 * X N
ASSY d3XOVHL HLNWIZY — 5 T
TTULL {iregess senmpe mogn) £IOLODIO] w DD
5 T s NI SININAGISNI| (0P W) W swo wad [ 30 ]
xi.u\.ﬂ...ﬁh..“hu..ﬂ.utm —— N SNOSNING TG00 | Tva
5661 @ m.F!—umn 00010-SB  ASSY DGAN| Tt INS
e
L SHEYINGY NOU.J2S3Q — ON S48 | 'ON Livd | NN vlg

(12 W3L) BNH ONINNOW 3v1d 3AG 40
ONINOLLISOd ¥04 | IHS 'M—M NOILO3S I35

A=A NOILO3S

L IWOs

), ey
STYNINH3L GN9

ai [rowoss]  ene wonoa £} UON OOY ‘L AUON IKD o
S0 | A [1o60ve Z14N20 {rr V) AVYD ONIdHS OOV £
[ A4 |v0S0%e) FYaNO0 OINN «VEIS OND A4ai1D '19 Ul GOV | 91
N | Ad 09ND0 L1 0N 66 ¥ 0L ‘LS SN3L OOV st
ay | Ad 265N0 S AON 01 J3dS 3NDBOL GOV r
w [ A 295Noa N DEN/SUS OND Q0¥ €l
w AN SESNIQ ¥T 0L vt a3 (or u) 353 OHD T
EREY £4SNXd 68 hau odv 13
TRIEY 1Z6N20 M1 % N8 WAL “ddns 30uns oY | o1
| A 605 '68YND0 AW SIN ¥ dNS MOd MIN GOV [
| Ad 6SYNI0 vddn V/d s
v TLENID N4 V/d z Wm
Kkl SEE-NOG-50L8 SNOUDIHH0D_OMT LN )8
] $32-NoG-205% [EE L] § jo3
aadv'wa [ uva WIINW NOD NOLIS30 | B

X=X NOWI3S

reXssY0a N

ZiYss)(oa)\}

L=~ TS0

(Q3AOW3Y MIAOD HLM)
MIIA INOYS

Wy
M3¥OS SIHL ¥3ONN

HOVLLY Ol 65 WAL |/

A=A NOILO3S
B vl3g 338

Fia7.1-4.2




SCI-TEC Instruments Inc.

Title: AZIMUTH TRACKER ASSY Rev Date: 95-08-01
(BA-C91/A: 110V, BA-C91/B: 220V) Rev: 18
DCN: Drawn: Checked: Approved: QA App'd: Dwg No.: BA-C91
738, 739 DF
ltem | Part/ldent Title/Description Qy | Qy | Qty | Qty | UofM | RefDes Remarks
No. No. /A B /C D
1 BM-C100 Nameplate, Altered, Azimuth Tracker 1.00 1.00 EA
2 BS-C91 Azimuth Tracker Unit Wiring Diagram - - REF
3 BMC92 Azimuth Tracker Enclosure 1.00 1.00 EA
4 BM-C93 Adjusting Screw 3.00 3.00 EA
5 BM-C94 Angle Bracket 400 4.00 EA
6 BM-C95 Counter Bracket 1.00 1.00 EA
7 BAW57 RS232 Lightning Protector Assy 1.00 1.00 EA
8 BA-C97 Drive Shaft Assy 1.00 1.00 EA
9 BA-C98 Drive Motor Assy 1.00 1.00 EA
10 BA-C99 PCB Assy 1.00 1.00 EA
11 BA-Wi18 Power Connector Assy 1.00 1.00 EA
12 BA-W19 Control Cable Assy 1.00 1.00 EA
13 BA-W21 Safety Switch Assy 1.00 1.00 EA
14  BA-W22 Power Switch Assy 1.00 1.00 EA
15 BA-W23 Power Indicator Assy 1.00 1.00 EA
16 BA-W24 Fuse Holder Assy 1.00 1.00 EA
17 BA-W30/A Power Cable, Azimuth Tracker, 110V 100 - EA
18 D2-1030-002  Azimuth Spindle 1.00 1.00 EA
19 C2-1030-005 Bearing Housing, External 1.00 1.00 EA
20 C2-1030-006 Bearing Housing, Intemnal 1.00 1.00 EA
21 B2-1030-007/A Plate Mounting Hub 1.00 1.00 EA
22 C2-1030-008 Drive Plate 1.00 1.00 EA
23 B2-1030-015 Spacer Ring, Short 1.00 1.00 EA
24 BM-C88/B Terminal Block Shield, 2-1/4" Lg 1.00 1.00 EA
25 A2-1030-019 Drive Bearing Stop 1.00 1.00 EA
26 B2-1030-028 Bottom Mounting Bar, PCB 100 1.00 EA
27 B2-1030-029 Top Mounting Bar, PCB 1.00 1.00 EA
28 D1-1030-045 Tracker Stand Assy 1.00 1.00 EA
29 C1-1030-080/A Short Tension Arm Assy, Azimuth Drive 1.00 1.00 EA
30 C1-1030-081/A Long Tension Arm Assy, Azimuth Drive 1.00 1.00 EA
31 C1-1030-084 Cover Assy 200 200 EA
32 BM-C88 Terminal Block Shield, 5-1/4" Lg 1.00 1.00 EA
33 83-09-220 Spacer, Hex, 6-32 x 3/4" Lg 400 4.00 EA
34 BA-W58 Accessory Power Cable Assy 1.00 1.00 EA
35 BA-W308B Power Cable, Azimuth Tracker, 220V - 1.00 EA
36 B2-1030-101 Bearing, Altered 200 200 EA
37 - Foam Disc, 2-1/2'Dia x 1*Thk 100 1.00 EA Make From Packing Matl
38 BA-Ci66 MOV Assy, 110V 1.00 - EA

Page 1 of 3

Fien 1.1-4.3



SCI-TEC Instruments Inc.
Title: AZIMUTH TRACKER ASSY Rev Date: 95-08-01
(BA-C91/A; 110V, BA-C91/B: 220V) Rev: 18

DCN: Drawn:; Checked: Approved: QA App'd: Dwg No.: BA-C91
738, 739 DF

ltem | Part/ldent Title/Description Qy | Qty | Qty | Qty | UofM | RefDes Remarks
No. No. 1A B IC /D

39 BA-Ci66/B MOV Assy, 220V - 1.00 EA

40 91-15-257 Fuse, 2A, 125V, Slow-Blow 1.00 1.00 EA  BagAsSpare

41 BMCi74 Azimuth Tracker Ground Strap 1.00 1.00 EA

42 BAC113 Option 'B' Kit Installation (Azimuth Tracker) - - REF

43 BM-C188 Terminal Shield, Azimuth Tracker P/S 1.00 1.00 EA

44 BA-C150 Shipping Crate 1.00 1.00 EA

45 85-80-440 Mount, Cable-Tie, Adhesive Back 3.00 3.0 EA

46 82-20-383 Clamp, 'P', 1/2" x 1/2" x #10 1.00 1.00 EA

47 88-99-780 Retaining Ring, Intemal, Spiral Snap 200 200 EA

48 76-99-445 Hose Clamp, 2-1/2" OD 1.00 1.00 EA

49  83-10-651 0-Ring, 3/8"ID x 9/16"0D x 3/32°Thk 300 3.00 EA

50 82-10-470 Terminal Strip, 4 Contact 1.00 1.00 EA

51 87-50-088 Power Supply, Switching, 5VDC, 10A 1.00 1.00 EA

52 82-10-450 Terminal Strip, 12 Contact 1.00 1.00 EA

53 83-09-413 Spacer, 1/4"0D x 1/8°ID x 1/8'LG, AL 400 4.00 EA

54 82-20-356 Clamp, 'P', 1/4° x 1/2° x 13/32" 200 2.00 EA

55 83-08-100 Bushing, Strain Relief, Lig-Tite 3.00 3.00 EA

56 85-10-150 Adhesive, Sealant (RTV 3145) 1.00 1.00 ML

57 85-10-149 Adhesive, Sealant (RTV 738) 200 200 ML

58 85-10-145 Adhesive, Sealant (Loctite 242) 200 200 ML

59 81-15-154 Cap & Chain, For #18 Receptacle 1.00 1.00 EA

60 85-10-147 Adhesive Sealant, Pipe Thread 1.00 1.00 ML

61 82-10-484 Jumper, Terminal Block 500 5.00 EA  (See Schematic BS-C91)

62 83-25-890 Term, Ring Tongue, #18-22AWG, #6, Insul 16.00 16.00 EA

63 99-31-483 Wire, Hookup, #18AWG, IRR PVC, Red 1.00 1.00 FT

64 99-31-482 Wire, Hookup, #18AWG, IRR PVC, Black 275 275 FT

65 99-31-484 Wire, Hookup, #18AWG, IRR PVC, Green 158 1.58 FT

66 99-31-481 Wire, Hookup, #18AWG, IRR PVC, White 1.00 1.00 FT

67 83-51-752 Screw, 2-56 x 1/4°Lg, Btn Hd, Hex, SS 200 200 EA

68 83-51-763 Screw, 4-40 x 3/8'Lg, Btn Hd, Hex, SS 400 4.00 EA

69 83-51-762 Screw, 4-40 x 5/16'Lg, Btn Hd, Hex, SS 200 200 EA

70 83-51-765 Screw, 4-40 x 1/2°Lg, Btn Hd, Hex, SS 100 1.00 EA

71 83-79-152 Screw, 1/4-28 x 1/2°Lg, Skt Hd, Cap, SS 1.00 1.00 EA

72 83-79-051 Screw, 4-40 x 1/2°Lg, Skt Hd, Cap, SS 500 5.00 EA

73 83-79-068 Screw, 6-32 x 3/8'Lg, Skt Hd, Cap, SS 500 5.00 EA

74 83-79-075 Screw, 6-32 x 1'Lg, Skt Hd, Cap, SS 1.00 1.00 EA

75 83-79-073 Screw, 6-32 x 3/4"Lg, Skt Hd, Cap, SS 200 200 EA

76  83-79-082 Screw, 8-32 x 3/8°Lg, Skt Hd, Cap, SS 300 3.00 EA

Page 2 0f 3 Fita 1.1-4.4



SCI-TEC Instruments Inc.
Title: AZIMUTH TRACKER ASSY Rev Date: 95-08-01
(BA-C91/A; 110V, BA-C91/B: 220V) Rev: 18

DCN: Drawn; Checked: Approved: QA App'd: Dwg No.: BA-C91
738, 739 DF

ltem | Part/ldent Title/Description Qy | Qy | Qi UofM | RefDes Remarks
No. No. /A /B IC

77 83-79-114 Screw, 10-32 x 1/2'Lg, Skt Hd, Cap, SS 12,00 12.00 EA

78 83-79-077 Screw, 6-32 x 1-1/4"Lg, Skt Hd, Cap, SS 400 4.00 EA

79

80 83-79-116 Screw, 10-32 x 5/8'Lg, Skt Hd, Cap, SS 700 7.00 EA  (Bag 4 For Mounting Brewer)

81

82 83-87-165 Screw, 4-40 x 1/2"Lg, Fit Hd, Hex, SS 200 200 EA

83 83-87-181 Screw, 6-32 x 5/8°Lg, Fit Hd, Hex, SS 400 4.00 EA

84 83-87-182 Screw, 6-32 x 3/4°Lg, Fit Hd, Hex, SS 200 200 EA

85 83-87-209 Screw, 10-32 x 1/2°Lg, Fit Hd, Hex, SS 400 4.00 EA

86 83-87-211 Screw, 10-32 x 5/8°Lg, Fit Hd, Hex, SS 3.00 3.00 EA

87 83-87-214 Screw, 10-32 x 1°Lg, Fit Hd, Hex, SS 300 3.00 EA

88 83-87-233 Screw, 1/4-28 x 5/8"Lg, Fit Hd, Hex, SS 200 200 EA

89 83-40-262 Nut, 6-32 x 5/16, Hex, Steel Plated 1.00 1.00 EA

90 83-40-326 Nut, 1/4-28 x 7/16, Hex, Steel Plated 1.00 1.00 EA

]|

92 83-40-278 Nut, 8-32 x 1/4 x 3/32 Thk, Hex, SS 400 4.00 EA

93 83-40-486 Nut, 6-32, Self Locking, Hex, SS 1.00 1.00 EA

94

95

96 BM-Ci21 Jamb Nut, Altered, 3/8-24, Hex 3.00 3.00 EA

97

98

99 83-95-626 Washer, #4, External Tooth Lock, SS 1.00 1.00 EA

100 83-95-604 Washer, #4, Internal Tooth Lock, SS 9.00 9.0 EA

101 83-95-605 Washer, #6, Intemal Tooth Lock, SS 200 200 EA

102 83-95-631 Washer, 1/4, External Tooth Lock 200 200 EA

103 83-95-749 Washer, #6, Split Lock, SS 500 5.00 EA

104 83-95-752 Washer, #10, Split Lock, SS 10.00 10.00 EA

105 83-95-750 Washer, #8, Split Lock, SS 400 4.00 EA

106 83-95-013 Washer, #6, Flat, SS 1.00 1.00 EA

107 83-95-019 Washer, #8, Flat, SS 3.00 3.00 EA

108 83-95-028 Washer, 1/4, Flat, SS 1.00 1.00 EA

Page 3of 3

Fia 7. I-4.5



¥3INGNOD DL
(wsi) 168V viva

(013 ‘ONILS3L dWYY ¥O03)
H3MOd O ANOSSIDV

9 ¢110—vd L * L w/ ¥ eNouDn \
AN WIBNON LINENNO00 13W5 - ST o ® ST
KOEN "2 X
NOILVTIVLSNI o i HSINL
1M 8 NOUdOo w S3toM | Oddy
TUL [esneds emans wewn) seowompL| W MIHD
ot ey 2358 "ON| SININMMISNI | (PP Wl SHO VNG A M [
7661 @ m s 16D-VB  ASSY LXaN| — | Fwos
o
waw SHYVA3Y NOULJRIOS3a ON SH4N | 'ON Lavd | mn [i- .
Al
(wG1) FI8vD ¥3MOd v
Ad [¢rveoze ZIGNDQ C€BO~vA 0L FONTNI4IY AONTY 9
I | Ad [szOL L 8GGNOQ (¥ W3L) SHIHSYM—XI07 IAONIY °]
I | Ad |61E0°16 8CGNDQ ddNS 3ounS Qv 4
M | A4 [zr's006 L8¥NOQ U 3A¥O N3Z ‘T "9l 3AONRI ¢
o
M| Ad [gozo08 0S¥NOCU 9 10N T3NONIY 4 Wm
W | mo|ozems| _— NSS! LSMd L |28
(&)
‘Gddv{ 'NWa | 3Lva UIBNAN NOQ NOWJRIOS30 AR 8

OMA'EL 1D-vE  SRWNT I

ONIMVNO (UVAINID ¥ILNINOD ‘NMOHS SV Y3L3NOLOHJONIOIAS ONV ¥3HOWIL HINWZY OL STEVD TV 1I3NNOD v

M3Y0S B/E G3ONNOY
3IND AINO HUM ¥DIOVHL HINNZY 3HL 40 30IS 3HI Of S30D MOGNM ZLWND 3HL
um_wgizﬁmgw_ﬁb:ogﬁu&wﬁzﬁwszéﬁue
[¥) ONISA 3WNO3S ONV NMOHS SV NDNOVHL HIWRZY OL NO zo.—mo..@

"AMBAESSY 0L HORId S00-vE—~RY TVINVIN 3DNVI<IOV OL ¥343¥ T

"L6D-VE "ON OMQ "I g NOUJO

40 1Mvd 3V ONV AINO S3SOiNG JONIIL3M 804 (G3LSN 3uv G3TVISNI 38 0L SAAU
gﬁalﬁsg:sggﬂgﬁn:oéﬁﬂggﬁum._

‘S3LON

TV YOSSINGdNS 39NS *

. TI8vO INNT HINNZY

~
6/100-v8 ¥0 109-vE

YALINOLOHJOULIZIS U3MRIB

Eia 7./1-4.L



SCI-TEC Instruments Ing.
Title: OPTION 'B' KIT INSTALLATION RevDate:  92-03-17
Rev: 6
DCN: Drawn: Checked: Approved: QA App'd: Dwg No.: BA-C113
562 FV RA
item | Parldent Title/Description Qty | Qty | Qty | Qty | UofM | Ref Des Remarks
No. No. B 1/ | /D
1 BA-C91 Azimuth Tracker Assy 1.00 EA
2
3 8379116  Screw, 10-32 x 5/8"Lg, Skt Hd, Cap, SS 4,00 EA
Page 1 of 1

Fia 7. I_,,,4' 7 i



SCI-TEC Instruments Inc.

Title: OPTION C KIT (UVB) Rev Date: 92-01-15
Rev: 4
DCN: Drawn: Checked: Approved:  |QA App'd: Dwg No.: BA-C84
568 cw RA
ltem | Part/ldent Title/Description Qy | Qty | Qty | Qty | UofM | Ref Des Remarks
No. No. B |1 /G| D
1 BA-F81 UVB Prism Assy 1.00 EA
2 BM-C175 UVB Dome Cap 1.00 EA
3 BM-C37 UVB Adaptor 1.00 EA
4 BM-C38 UVB Dome Light Diffuser Holder 1.00 EA
5 BM-C39 UVB Retaining Ring 1.00 EA
6 BM-C40 UVB Diffuser 1.00 EA
7
8
9
10  10-15-101 Quartz Hemisphere, 50mm MTD 1.00 EA Eptab (Intrasll Il)
1
12 83-10-739  O-Ring, 2-1/4"ID x 2-1/2"0D x 1/8, #228 1.00 EA
13 83-10-737  O-Ring, 2"ID x 2-1/4"0D x 1/8, #226 1.00 EA
14 8351834  Screw, 10-32 x 1/2°Lg, Bin Hd Hex, SS 3.00 EA
15 83-79052  Screw, 4-40 x 9/16"Lg, Skt Hd Cap, SS 4,00 EA
16
17 83-95-787  Washer, #10, Sealing 3.00 EA
18 8395748  Washer, #4, Split Lock, SS 4.00 EA
19 8395023 Washer, #10, Flat, SS 3.00 EA
20 BA-C114 Option C Kit Installation - REF
NOTES:

1. BAG ALL ITEMS AND MARK WITH DWG NO. AND REV.
2. FOR INSTALLATION OF PARTS LISTED, SEE DWG NO. BA-C114.

Page 1 of 1

Fia 7.1-5./




Z +110-vd ? w/ YLD~V IR : -
S L l FEY- .uwahﬂw \ ONIMVHQ OLVHINID MILNIAOD d.gnpégggggﬁ.iﬁggga
@ZeFN [ X 3
- - “35N NS 804 FUOIS ONV AN “INOO ZLAVNO ATINRNVD “3N00
(8AN) NOILVTIVLSNI =T il HSING 4 ZBNN0 3w unon ol T3n gﬁtﬂ&ﬂn oS (6 wﬁ.ﬁhﬁ ) &o&%ﬂoﬂig&
[ SIHONI w Gddv " "
1iX O NOUdO B e B B TNAOKGY 3N0Q BAN T
o) S 22008 “ONI SININNRUISNI | (5PU) U SSNiQ vng 1 AD tiwd NOSVIM ANV NOJ GIAON Si LINN ¥O O3AONGH SI ¥3ADD Ji O3SN 38 SAVKW TR D Sitoaind aiow -
SRR DIHIS B e o e s B S RS AR
ves1o RE] wo-ve  usovua] 7] s *2ESNUH0 GAN. S OL (GU3J3 MON SI (e SHIL NAOHS SY MIHISOOL 9 ¥ S ¥ SIGU TIGAGSSY -
S.3m vd | mn %_ul..h A “MING-30 NV STIOH_10Vd SNISEQ 1005, AV SN Tab SO VI0 05 £ I (8 100vE 5
e SHvraE NOULROS N & On 1 0 100-VE 40 1¥vd) 1ZD-VB “ASSV ¥3A0D WOk (60(—0L~£8 N/d) ONM—0 ONV (GZ0-NB N/d) 3iVid INMYV3S 3AOM3Y -
fovid SI INOG ZIEVD INGLMVI) | SUROW OU ¥3i3y ~
NOLVTWISNI 3100 BAD T
“¥80-vD "ON 9MO 1D D NOUHD 4O Iave 3v ONv 'ATNO SISOHNd IONJHIST¥ HOJ NMOHS 3uv GITIVISNI 33 OL SA3u ')
‘S3UON
L:4 3OS
NOILVTIVASNI 3WOQ 8AN
L 3dN9l4
— Z:1 3OS
NOILYTIVISNI WSi¥d 8AN V-V NOLD3S
¢ 3dNol4
(ASSV ¥3A0D 40 Laivd)
Id 9 'SMIUOS Ov—¥
(8/100-v@ ¥0 100—vE 1\\
40 1yvd) ASSY H3A0D ng
{
Bl () H_ _ \
T OO0 v/
) LT U0 == A
(8/100-vE_¥0 L00-vE
40 1¥vd) ASSY 3sva
- 28
Ad [sLr10C6 BISNOQ (1 91d) NOUVTIVISNt 3800 OHO z g
va | %0 — VAT N T 9%
"Oddv | ‘NMO | 3LVC YIBRNN NOQ NOWJRIOS3A Ay .VmNU

F-IEY 71/-54277




SCI-TEC Instruments Inc.

Title: OPTION C KIT (UVB) INSTALLATION RevDate:  9201-15
Rev: 2
DCN: Drawn: Checked: Approved:  [QA App'd: Dwg No.: BA-C114
568 cw RA RP
ltem | Part/ldent Title/Description Qy | Qty | Qty | Qty | UofM | Ref Des Remarks
No. No. B | /C | /D
1 BA-F81 UVB Prism Assy 1.00 EA
2 BM-C175 UVB Dome Cap 1.00 EA
3 BM-C37 UVB Adaptor 1.00 EA
4 BM-C38 UVB Dome Light Diffuser Holder 1.00 EA
5 BM-C39 UVB Retaining Ring 1.00 EA
6 BM-C40 UVB Diffuser 1.00 EA
7
8
9
10  10-15-101 Quartz Hemisphere, 50mm MTD 1.00 EA Eplab (Inirasi 1)
1
12 83-10-739 O-Ring, 2-1/4°ID x 2-1/2°0D x 1/8, #228 1.00 EA
13 83-10-737  O-Ring, 2°ID x 2-1/4*0D x 1/8, #226 1.00 EA
14 8351834  Screw, 10-32 x 1/2"Lg, Bin Hd Hex, SS 3.00 EA
15 83-79-052  Screw, 4-40 x 9/16"Lg, Skt Hd Cap, SS 4,00 EA
16
17 8395787  Washer, #10, Sealing 3.00 EA
18 83-95-748  Washer, #4, Split Lock, SS 4.00 EA
19 83-95-023 Washer, #10, Flat, SS 3.00 EA
20 BA-C84 Option C Kit - REF
NOTE:

ALL [TEMS LISTED FOR REFERENCE PURPOSES ONLY. REFER TO OPTION ‘C' KIT PARTS LIST (BA-C84).

Page 1 of 1

Fia 7.1-5. 3




N[

- : Souova OMATLIA-VE NN
.s“Wz NPF(Fm-g Phwﬂ.ﬁilllwl o+ ® STONW ﬂ\-«-aﬂl! ONMAWIO0 GRIVHINGD NILNDNOO
ROoOFEX A X 4
H3IM3NA "oy 00w -
‘ASSY 3189vD ¥3MOd R S3ON ™ | Gdav
Ul ﬂ e sew) ssounmepl|  MQ oD
...I..U smungen SB-06 “ONI SININMRILSNI soyou) ww M0 Vg H| s 1)
T SRt Yo ==t ISR NI SNOSNINK [ 5ol Tiva ‘NMOHS JM3IHM ON L¥vd HUM J18v0 g@
= e ‘9 W3l NI GITIVISNI SI (0Z9—01-£8#) ONRI-O0 NV LVHL %O3HO 'Z
Q ON SHIN | Ol [ A
il M o i 05 ‘1 ¥3AD TI3HS OUSVId JHL TIVISNI NIHL 'SdNO ¥3AI0S IHL TV ANNOY¥V

v3S OGNV S N3N 3SN "YOLDANNOD 3HL OL (IICI0S 3uV SIHIM 3HL ¥3idv
"0YVOSIQ ® 9 WAL 40 3AISNI. 3HL NOY4 YOLVINSNI ¥388NY IHL 3AON3Y I

‘S3ION
8
£l
S [
/1
M i ] | ]
1 l/@
¢]
001d
S'8v |
(A0zZ2) 8/Zim-vE (A011) v/TIM—vE
AWVHOVIQ DILVN3HOS ' AVHOVIQ OUVYWIHOS
8 v — v
N € _ ozh Z @ 8
_ oz 2 O ? 2
A4 | 90'SO'¥5| [=-5] (ri W3AU) ONIHSNE TIVAS 3NONGY v Q ] a
w | mw|_— 68¥ NOQ 338 £ m ™ 3 T 3
| m_— (=3 NOQ 335 z %m e 4 ey 4
_—| 2 [ro€oen]  91z~NOO—20S8 3SVITIY LN t MM 00td : 00ld
E-S
Oddv|‘Nma | 3Lva HIGNAN NOC NOILRIDS3C AR 8

d-6

- Fita




|

— @ MOV LM-VE VNI
.v_,.n!!; <_§m —.uu,.mF v | . \ DNMYH CUVIINGD ATLNANGD
y3Im3ug ol - - -4IHI3O0L HOVE TIIHS IHL dVNS ® SHOOMIUOS IHL TIVASNGY -
. “4400NVIS 3HL
ASSV J18vD VIvQ T " ...,..,m.ww..ss MH ® NOLOINNOD 3JHL NIIMIFE SHIHSVM IV NONNVD, Z ONIOV1d
e . HOLDINNOD H3HIO 3HL NO N3HL TIVISNI % SJ4OONVIS 3AONIY —
v o) TS0 “ONI SININNALSNI | (SPU) B SSMI vnd 4] na_] o SYO01 M3uDS IAONTY -
e B ooyl g g 4 -3 1333 NI SNOBNSNIG I ooy6]™ alva
jaindahebadeherrfy Um.—.|_umll 00-ve  ASsv DGN] 1 | Fwos SINWH TS NS -
= :ONIMOTIOA ¥3d SV IONVHONIINI 38 OL SVH Ui
S — N s | on 1ava | o oL — 0S 'ONIMYNG 3HL NO NMOHS S.VHM OL SV O3SH3A3Y 3JYvMONVH ONLINNOW 3HL
10 HUM S3N0OD £1 WLl "Ll W3L HUM Q3ddnS 318vD ONNOYS ILHM Q¥VOSIO ‘¥

"NMOHS 3JY3HM 'ON L¥vd HLM 378v0 xmcs@
"G WAl Ni GITIVISNI SI (0Z9-0L—CBf) ONIM—O NV IVHL XOIHD T
1) ¥3A0 T3HS OUSVId 3HL TIVISNI N3HL "SdNO ¥3Q10S 3HL TIV ONNOWY

V3S ONY GI 3L 3SN ‘¥OLO3INNOD 3HL 04 (Q3¥3010S MV S3UM IJHL ¥3LV
‘0YVISIC @ ¢ N3 40 3QISNI JHL WOM4 HOLVINSNI ¥388nY 3HL 3AOW3Y i

:S3ION
L
- @@
/1
$f ¥im—ve 1
" e,
o] 1
- 10td
- 0s
oz]
Ll s
9
S
wa [1yvovs] 899 10kd IV NOLLOINNOD SHD ¢ L \
TAR
Ad o«do.aj 695 ud Z 0t (11 NaL) Favo 9HO 9 1008d c 5
M £ rall oav 3 a N
R EEEE vor L 30N 3G '+ M3L V/d 9HO D T o
vy | WO [Irzize 29 A £ Em z 5 a
_—| %0 [wozive el NOSIAZY 'N39 T |¥E . dL v
m
| 1 |loeoes] ISVIT MUNI v |E= - aBHS
»
"Gddv| Mg | ALvo YIBNNN NOQ NOWJRIOS30 aw | B

Eita 7.1-77




SCI-TEC Instruments Inc.
Title: BREWER OPTIONAL ELECTRONICS SPARES KIT RevDate:  94-01-27
Rev: 6
DCN: Drawn: Checked: Approved:  |QA App'd: Dwg No.: BA-C122
1659, 662. 672 CW

ltem | Part/ident Title/Description Qy | Qy | Qty UofM| Ref Des Remarks
No. No. /D

1  BAE103 Power Supply Assy 1.00 EA

2 BAEYM4 Secondary Power Supply PCB Assy 1.00 EA

3 BAE2 Heat Sink Assy 1.00 EA

4 BAESOA /O PCB Assy (Micro/Shutter) 1.00 EA

5 BA-E50/B VO PCB Assy (Iris/FW#1 & #2) 1.00 EA

6 BA-C99 Azimuth Tracker PCB Assy 1.00 EA

7 BA-E50/D /O PCB Assy (Az Trkr/Zen Dr/FWi#3) 1.00 EA

8 BAE48 Photon Counter Control PCB Assy 1.00 EA

9 BA-E51B Clock/Monitor & A/D PCB Assy 1.00 EA

10 BA-P23 High Speed Amp PCB Assy 1.00 EA

11 BA-E52/B MicroProcessor PCB Assy 1.00 EA

12 93-70-401 Standard Lamp 3.00 EA

13 93-70-405 Mercury Lamp 3.00 EA

14 87-50-088 Power Supply, Switching, 5VDC, 10A 1.00 EA

15 70-10-014 Dessicant Cartridge 1.00 ‘EA

16 70-10-015 Dessicant Bag 1.00 EA

Page 1 of 1

Fia T1./-8



SCI-TEC Instruments Inc.
Title: BREWER STANDARD SPARES KIT Rev Date: 95-08-02
Rev: 11
DCN: Drawn: Checked: Approved: QA App'd: Dwg No.: BA-C112
748 cwW Fv
ltem | Partldent Title/Description Qy | Qy | Qy UofM | RetfDes Remarks
No. No. /A /B IC
1 93-70-401 Lamp, Tungsten, Halogen, 20W, 12V 2.00 EA
2 93-70-405 Lamp, Mercury, Type B 2.00 EA
3 9115217 Fuse, 5A, 250V, Fast-Blow 2.00 EA
4 91-15-257 Fuse, 2A, 125V, Slow-Blow 2.00 EA
5 83-79-116 Screw, #10-32 x 5/8'Lg, Skt Hd Cap, SS 4.00 EA
6 70-10-014 Dessicant Cartridge 1.00 EA
7 92-90-020 Allen Wrench Kit, Ball Point 1.00 EA
8
9 92-22-050 Insertion/Extraction Tool, 'D' Connector 1.00 EA
10 '
11
12 70-10-013 Humidity Indicator 2.00 EA
13 70-10-015 Dessicant, 4 Unit, Type ll, TYVEK Bag 3.00 EA
Page 1 of 1 FIL'I 7‘,_q



!

AN

£0Z0-v8 _ 1 °
UIDNON  LNIRNOOY 1335

LM NMOQ—3I1 d3IXOvHl
‘ONIMVEA NOILYTTVLSNI o

SIHOM
STILU | (ronreds 3mmmano ssan) S22UOIBIOL

®/1 ¥ SHoUI MJEOZTI-vE INVNI U
o ¥ STON FEY " ™ ONIMVEO QILY2INZD WALNGHOD
gcowx 0 ¥ wr
10 ¥ w S00° ¥ HSINI
Odd¥
OXHO

NMOQ—3IL HlM ¥IHSVM
30Vid3Y ® IJAONIY)
31V1d NMOa-3IL

NIVHO

YOOH .S, I/

(avd

A4 JTTTOE6

3SV3T3Y WILNI i

NG | 3UVa

£020-v8
‘ON_LN3IWN20Q

WIANNN NOQ NOWJRIDSIO A3

2 Smunama 306 “ONI SININNYLSNI Boyouy) W SNG WN A AY [ ‘GEL—0SOL—TVF LM 40 Livd 3¥v ONV AINO
1y somund n vouit ————— M SNOSNENG [ZZ7008 Tiva S3S0cNd NOLVTIVISNI ¥04 NMOHS 3dv 3A08V O3LSM SW3L TW 't
POROBP M 0} U B RSWOOP eN|] umhl—uma
Y651 & IME [ co1-0e0l—2Zv  ASSY LXN| — | Twos .
e :310N
wan|  swveay NOLJRIOSZA ON su3N | ON Luvd | wn =T
ALD
NOILVHNDIANOD JLVNAZLTY NOILVHNOIANOD (QaVANVIS
avd 3LIYONOD
MHL (. p)wwool X NIN OS(.8L)WZ
30VAuNS ONINNON J3ONINWOO3Y 3134ONOD NI 0300383 (INTTVAIND3 Qvd 3L34ONOD
IUIMONOD NI 030038W3 (INITVAIND3 ¥0) 1108343 Q3NddNS ¥INOLSNO uxn_u._&%.,mvrm.u_mmmoﬂ‘ ﬁuomwy%%wmm
HOOH S: — \l d0) 1108343 031ddNS HIWOLSND MOOH .S, \\l
C ~_7 ] [ <\ 1
S~ << -
] =
} \‘
JIHONENYNL /

TINONENYNL /
NIVHO /.u

(3SvE GNVLS 40 TIVM NI
Q3QIA0Y¥d SIACOHD NI SLld)

%O0H S,
Q0¥ NMOG-3IL

Fie T7.0-10




BREWER MKl & MKIV Spectrophotometer Maintenance Manual

BREWER REFERENCE DOCUMENTATION

Section 7.2 Power Supply and Harness

- Main Power Hamess W32 7.2-1

- Main Power Supply BM-E103 7.2-2

Section Ovérview

Fig 7.2-2.4: Note the 5A fuse. When Azimuth Tracker is installed, AC power first
passes through a 2A Slo-Blo fuse in tracker.




|
~

g ZeM—vd * { * 1 /1 % Swouovs OMATEM-VE “IVINTIY
A3 HIBNOAN LNINND0O 133HS o ¥ ST0NY o F STIONY ONIMYEO QILVEINTD ¥ILNDNOD
<0 ¥ X w0 F
\rm SV WWMZW_,QI S10 ¥ = §00° ¥ X HSINLi
43AMOd NIV W S3HIN ™ dd¥ ‘A3 ® "ON 9Md HLM 138v3
e ....ﬁ..z.. ..w.,!_o R s ANV 9v8 JILSVId NVITD NI ASSY (3HSINI4 30Vid ¥
oy v ) SWeunas 93108 *ONI SININNYLSNI sdyow) ww  SWIQ VNg 4 MO NMQ .
.Es%ﬂﬁuamhéwawwwum Um .—. l— m S3HONI NI SNOISNINIG 'oegorgg] aiva (Z€ W3IL) ALY HLUM STVNINY3L 3uv8 ¥3A00
’ " ceBL® U u 110-v8 ASSV 1X3N| 3NON | 3Wwos
T"on - 'NMOHS SY (KINO ¥d % id) SYOLIINNOD 138V1
WaLl SHAYAIY NOWLJINIS3Q ‘ON SH4N | ON lave | mn 1= |
ALD "HOLIMS OLNO {6 W3L) 1008 9NIGY3dHL Ol
YOldd (8 WAL 40 Lyvd) HIHSYM ONIA3N QuvOSKd
OVINOD H3UN3D
v N 'S3LON
[4]
(b)) SLF N¥9
' (.92) 8L NuD
- (.8) 81# g v
v
s (.2) 8LF A
¥ f— (8) 81# 8 ——a
MLl N
oN (#1) g1f na wnl°
£ (82 8if Im 3
(ZL) if LHm —lg
id (.2) 8L 1B ON L]
// ootr
¥
vd|; .
_ o3 —
() 8if w18 3070H3ISNI
™1d
me%
q/v
A [L180'SE ocL ld NO G %® € SNId 3S¥3A3Y 8
v | M [ezrioes 23 S/d M3N 303 HLOT 3uiM % 9 WAL SHD | £
wy | A [ot'co'Ze 6.5 (0Z £ ) ©£d IAON3 9
v | Ad [v1'60°06 L8 6% 8 U OHO 3 D
e | A4 [¥0'v0°06 zer AddNS MOd MIN 04 £ % 9 LI 9HD ¥ = = \@
va | mo fezol'ss oy ¥d 0OV ONV NMYHQ3Y /3 am N rd ]
™| s0 [lozivs e NOd 338 z u_vw g\\ r—
™ | mo jocgoes| ____——— 3INSSH 1Syl 1 m z
N
‘Qddv [ 'NMa | 3Lva HIGNAN NOG NOLdRIDS30 A3 8

Fitqa 7.2-1




(2w

o0

L

— £ . BT Y]
.>w¢ ¢0 _.wu!..<=mn!us Iﬂuuﬁiel v | \ MNYI0 TAVINED HNAND
1 A 2 [T 2 2
AGNISSY wo v flofhfied HSINL4
AlddNS ¥3MO0d ] S3HONI
e !..ﬂﬂﬂllll..i a0 IR e
mumunaed 33406 *ON) SININNHLSNI W
o B gongrovegio ki g 4 NI SNOISNSMIG
= .....!n.ﬂ.m.m.ﬂo Um.—.l—umn Kula ASSY DGN \.«._:”ﬁ_ %
wau |  suuvnay NOLLJINOS30 ‘ON 24N | 'ON 18vd | w0 _M..,HM
© © ——
EA
° g
@@\
i
M |eziove|  zionoa 3w ISVITH LN ' M z
‘Gddv|'NMO | YA | u3ENAN NOG NOILSROS3a aw |8

fl/477-7 I



SCI-TEC Instruments Inc.

Title: POWER SUPPLY ASSEMBLY Rev Date: 94-01-27
Rev: 1
DCN: Drawn: Checked: Approved: QA App'd: Dwg No.: BA-E103
Fv
ltem | Part/ldent Title/Description Qy [ Qy | Qy | Qty |UofM [ RefDes Remarks
No. No. A B IC /D
1 BM-E102 Mounting Bracket, Power Supply 1.00 EA
2
3 89-90-220 Mounting Clip, Axial Lead Resistor 1.00 EA
4  87-50-098 Power Supply, 80 Watt, Switching 1.00 EA
5
6 83-51-752 Screw, #2-56 x 1/4'Lg, Btn Hd Hex, SS 2.00 EA
7 83-79-068  Screw, #6-32 x 3/8°Lg, Skt Hd Hex, SS 4,00 EA
8 8385724 Screw, #6-32 x 5/8"Lg, Fit Hd, 100Deg, SS  4.00 EA
9 8340219 Nut, #2-56 x 3/16", Hex, SS 2.00 EA
10  83-40-261 Nut, #6-32 x 5/16", Hex, SS 4.00 EA
11  83-95-603 Washer, #2, Internal Tooth Lock, SS 2.00 EA
12 83-95-605 Washer, #6, Intemal Tooth Lock, SS 8.00 EA
13 83-09-210 Spacer, Threaded, #6-32 x 1/4"Lg, Hex 4.00 EA

Page 1ol | Fiti 7.2-2.2




NFS80 SERIES
80 Watt Universal Input
Switching Power Supplles ELECTRO

SOURCE!
* Balanced-current auxiliary outputs (604) 4352533
® Universal input voitage 8875 Royy Ouk Ave.
® Overvoltage protection ‘ S 3‘;,“:3
® Short circuit protection with auto-recovery. - ass2538
® 80 watts continuous, 110 watts peak output power g
® Two year warranty “

® Recommended for new designs

Sei-TEC #"-87-50,%078

The NFS80 series consist of universal input, four output switching - - drives, they will eliver 110.peak watt.

» .« -power supplies useful in motor or.line driver applications. The = ;-v‘viUmversal input allows the supply to operate from any line voltage |
- équally rated or “balanced” outputs will each deliver up to 3A . . sthroughout the world,without a switch or jumper: setrt'lyng The NESBO

- continuous and A peak output current. Furthermore, these supplies - .. .series is:approved.by.UL’ CSA.and VDE. and its.builtn fine flt
- will deliver 80 total continuous watts with natural convection cooling, ... ,e:,'uces Sgﬁéucted‘,‘{o.st below: FCC arE,'d VDEn?mnlB-m e et
-or 110 watts with forced. air cooling. For starting loads such as dusk ' B

Output \Output Currents - ’ ‘V.Ripple Total

- Model Number Voltage” - Minimum  -Maximum® -Maximum® -Peak® PP *‘Regulation‘"
" NFS80-7602 - +5V (A) 1A 8A 1.2A 20A - 50mV +2%
’ ’ +24V (B) 0A 2A 2.5A “3A 240 mV +10%-5%
+12V (C) 0A 2.5A 3A 6A 120mV +3%
12V (D) 0A 2.5A 3A 6A 120mV +3%
NFS80-7606 +5V (A) 1A 8A . 12A 20A 50mV +2%
' +24V (B) 0A 2A 2.5A 3A. . 240mV +10%-5%
+15V (C) 0A - 2.5A 3A 6A | 150mV +3%
15V (D) - - - OA _ 25A T 3A . 6A 150mV’ +3% -
" Notes . ..Operating Temperature Limits and Output Power

(1) The fioating fourth output (D) can be referenced as ecther positive or Range )

nedative.
“{2) Na%ural convection coolm?‘ - ... +iFor optimum:reliability, no part of the: heatsmk should exceed 110’C
(8) Forced air cooling, 20 CFM @ 1 atmosphere. _. - ~and:no semiconductor.case temperature should exceed 115°C.

i ,(4 Peak: output current. lasting less than 60 seconds with d cycle < . . CAUTlON:‘make primary circuit:thermal measurements

10%..During J»eak loading, outputs may exceed total regulation limits.
.(5) 50 MHz bandwidth, peak-to-peak, measured differentially. approximately”one. second:after disconnecting line power to
(6). Total regulation is def ined as the static output regulation at 25‘C -« raminimize:shock:hazard and: damage to-thermal measurement

- - including initial tolerance, line voltage within stated limits, load equnpment.
~currents within stated limits, and output voltages adjusted to their
{(a:)!/o'r()l's )setgngs Also, for stated regulat:on on the +24V output.

< .

~110W;« V ,,,,,,,,,,,

_ o : : ’ 0°C 10°C 20°C 20°C 40°C 50°C 60°C 70°C

] COMPUTER PRODUCTS -

7 ElNins Street = South Boston = MA 02127 + Phone 617-464-6600 * Fax 617-464.6612
- Cita™17-7 2




E»
e

- SPECIFICATIONS

Sci1-TEC ¥ 87-S0O-098

‘ Parameter

Condition Limits
Input Voltage : 85VAC to 264VAC
| Input Frequency Range . 47Hz to 440Hz
| Input Surge Current Cold start 115VAC 17A max
‘ 230VAC . 34A max
Conducted RFI : FCC limit B, VDE limit B
Safety Ground 110VAGC, 60Hz - 0.2 mA maximum
| Leakage Current 233VAC, 50Hz 0.4 mA maximum
! Line Regulation Low line to high line, full load 40.1% max
| Overshoot/Undershoot _ Tum-on - None
| “Transient Response +5V output, 2.5A 1o 150mV transient,
B : 5A load change setiing to 1% in 1mS
~ Temperature Coefficient _All outputs 0.02%/C
f Overvoltage Protection +5V output 6.25V 10.75V -
) _ Threshold - : :
| _".Output Voltage Adjustabllity - 45V output +3%
| Total Output Power 50°C ambient temperature ' Lo
- Continuous, convection cooling 80 watls
; forced air cooling 110 watts
1 Peak 110 watts
" "Foldup Time BOW_ 110W
| 220VAC input 740mS  700mS
| 180VAC input - 80mS 50mS
115VAC input 35mS 17mS
A : 90VAC input 12mS - 8mS
~_.Efficiency 115VAC input, 80W 70% ftypical
| .-Operating Frequency OW, 90 to 264VAC 100 to 250 kHz
R 110W, 90 to 264VAC 20 to 70 kHz
Altitude Operating 10,000 feet max
’ Non-operating 40,000 feet max
| Temperature Operating - 0'Cto50C -
| Non-operating . —40°C 1o +85°C
‘ Relative Humidity Non-condensing 5% to 95%
Vibration - Three orthogonal axes, 2.4G rms (appx)
- random vibration, 10 5Hz to 500Hz
minute test for each axis
MTBF - MIL-HDBK 217E, 25°C 125,000 hr

| : . —
o Weignt 131 (06K '

_CONNECTOR

PIN CHART
| J1 . . ; .
o ~ Pin1 AC Ground _ AC Ground Molex 09-50-9051
| Pin 2 AC Neutral . AC Neutral second

- Pin3 ACHot ____ACHot fourth pins removed
S J2 v ) _

‘ ~ Pint. 454V +5.1V Molex 09-50-3131 _
Pin2 +5.1V _+51V Mating Connector: ‘
| ~ Pin3 - 451V +5.1V housing with 2878
| "Pn4 " Rewm  Reum series crimp

‘Pin5 Retum Retum . -
1 Pin6 Retum Return
? Pin7 Retum Retum :
| ““Pin8 iV +15V !

Pin 9 +12V - 415V - ~

Pin 10 "_12VRet _ —15V Ret .

Pin 11 —12V —15V ’
1 Pin12 ~ -~ Removed for key
Pin 13 +24V +24V- _
B Pi a floatin whi n be r ground pad encircling the mounting hole near J1 allows system
‘ i ei&y(;gsqgwg oarr ?\eggqmalg. g'gﬁtgtg. polﬁit\‘/ga witgerese?ergtn&egi:ﬁt grounding through a metal standoff to the system chassis.

Either pin 10 or 11 must be connected to Return (pins 4-7) for proper

operation.

(8) All dimensions are in inches and (mm).”
_(9) Either metallic or non-metaliic standoffs can be used in all four

{11) itis always advisable to attach the power supply heat sink to
another thermal dissipator (such as a chassis, a finned heat sink,
etc.). The resulting temperature decrease of heat sink-mounted-
components will improve power supply lifetime.

mounting holes without affecting VDE safety approval. The diameter (12) The supply must be mechanically supported using the PCB mounting
of met;lg standoffs, if used, m'us% not exceetg o.ngz'. . ' :0163,_80 may be additionally supported by the heat sink mounting
oles.

{10) This heat sink is grounded, and aflows s¥.stem grounding when
mechanically oc_mnected to the system chassis. Alternatively, the

COMPUTER PRODUCTS [

7 Elkins Street o _South Boston ¢ MA 02127 « Phone 617-464-6600 + Fax 617-464-6612

Fila 71.7-2.4 ’




BREWER MKIi & MKIV Spectrophotometer Maintenance Manual

BREWER REFERENCE DOCUMENTATION

Section 7.3 Internal Cabling

- Data Cable W37
- Azimuth Cable W31

) Main Wiring Harmness & Wiring Sheets W36

7.3-1
7.3-2

7.3-3,-4



2Em-va g uet

HIGNNN| 3ZIS| 1KS

T cH WY
,JNJ,EQ«H ?ﬁﬁ, H%S 31va

SISSVHD QL JyWsOO

‘'ST0L

IgvDd wiva

119-va  sjaw3ssy LX3N

G 10 N

® waw) S

BN AH3SN

HSINIA vd _ .ﬁ;f

NN B SR Yo T ¥

TVRIZAYN - bI——33W5  I0%_wo be I

_ a9 YO 2 H

swal  awos L = L L ST M ST “
o

NI SINFWNEESNI 1 ¢k IEIRCECN P

JAL-IDS |4 SR i

177 0 Vo ¥ 2

PN B V5 Fe i

tfop - o v

e . e - aplp leed

o~ W
3} .Qb

— 8!

W

i T 21



€ ISM-VD a [1”l
‘$SH YIBNNN| 3218] 1IHS

/ 8 uwN
W%E "‘ANHO %\3L agva

I %W WILINOLOHAOULTIIS UIMTIS
IwEvo  viva

IARIQ HLUAWWNZY  TVNY3LN

05 -Vg & SV

fIv5o8 o R
1 ave s e wm |4,
n SN SR @l
° oN : ' oN n J
g 4 3N oN > |F
e —————————————
m 2 3N N 16 179 .
3 | o s - I
]
m N @
! ~ o
m ° RSSO0 91 Vo €8 NED i I
: I
£ ST e Y|
N2 ‘
e SOLON ZF 91 VD €9 a8 R
: |
_|||T|||..m.— CEIRETS Ol |
;
< T !
' 7! NOION 91 NS g8 Bk .IN..

V2 N4 pzlo-sg 229-™W>Q | €| —~Loord Nd ¢ SHIGNS 7 2901 HD %
VI m>ei-zs8]  ele-~a | 2 . AN R m

‘aadv | wma| 31ve UISRON NSO A NOUNOSID




— = - i s
s\w. wnbs,l.kmaa [ g l.;m \ S CRIE0
ASSY SSINMVH b i - vesa
1DINNODYIINI NIVA L) a0 T adav
v e o e ‘035083 3¥ SIVI1 FHL 0 NOLKOG
e SRR eSS N PosR0 - ON 05 VD UOISISI ISNNDY e 1 S V. IS MRS, o
= AN == R ] 20 5 Hil V31 HOVE U300 SOVET HQISISIY OL SR SHRGGWOS ALV
.E_ ) _ NOUROEN oM st o8 aed | e ~ SIUON

U/, SHIONT JnM ¥ SNOLLIINNOO

W0 9CM—M 1ST ONIHIM T3S
(v OL ¥Z SM3L) 3 /
1

ALISVTIO ¥O4
NMOHS ION ONim

CHOHOHOHON

Fic 7,”3’-3‘7

O—1—01©:0:01®"

® T

¢z 1rve ZL9 NXO (S/d 3N N0d) B 4 OOV ® L1 4 WO

N L
Y| Ad [0is 225 NOG Gv—0v 0T L OOV eI 9
Wy | Ad Isorsoos £8¥ NIQ 29T 1 OO Vlicderiid 10 ]
v | Ad Jrovo0e Z8% NOO |cwei 50OV uns wod N WU DO | ¥
v [ o [seoiwe; ¥ NOG VOB: OL OND $/H 2HO I WON OOv | €
v | MO [mzra]  ZoE NOO QN N GV - NOUVIAND M0 | 2 Mm
i sawziwe|  9€L NOQ NOMON 2D 1 m..
Fockv| wea aul B

auva WG 100 NOULRDSI




SCI TE . CABLE ASSEMBLY PART NUMBER ~ [conn- # COT:; TYTE
- C P2 |orso- 3131
- ¢ rRNNON
INSTRUMENTS INC. BA-W3G PlOS |perin-25s
UNIT L LED 83568 - zon
TeeriNa Brock Pz |GEniiss
EpAC
INFORMATION CONNECTOR NUMBER Y R
USED FOR PRODUCTION 7RI
CONNECTOR TYPE
CINCH 20-] 4
INTERNAL DESTINATION | orIGINATION , EXT. DESTINATION |
POSITION| FUNCTION | PN [uire TYPH GAUGE[ COLORLENGTH PIN | CONNECTOR
—~ [ _No lConn&cTiod)
! No |ConMecridn).
+SV 2 lzz Yeu |23 Z Pz
yA ZZ |Mecu | 12" TPS +SV
3 22 |Ver| 247 3 Pz
— 3 22 {Yer [13Y2| 9 | Pz
3 22 | Ve | 28"] 2 LED
—— tISV 4 20 |Rep |237] | P2
— 4 22 |Rep |15} 12 | Plo&
4 22 |gep |20 S | PiloS
L 22 |eep [ 19"] 4 | PioS
=Y 22 |ReD | /1" TP4 t/sv
e 22 |pep | 13| 1L | Puiz
7 22 |pep l16%R°] X _| Plox |
DATE . IssiJE NO Z 3 & | s é 7
JUQE 83 DATE %71-12{488-10:2890 -2 24 %-9-4-| 91 - 1. 25942 -7
DWN. D) CN/RN 362 | 44771 482 | 481|522 (672
CHKD. CERT. RA VR4 |24 |24 | 44
APPD. J( [ TITLE  MAIN FowEl. SHEET NO. |DRAWING NUMBER
SHEET | OF I3 [Hapness Assy / Buw-w3k

Fita 7.3-4.1



. CABLE ASSEMBLY PART NUMBER  [conn- # | CORN. TNPE
SCI-TEC BA-Ww3Gk (;PZ— Sez Spr )
INSTRUMENTS INC. 105
UNIT ' Cloé
TE@M)M'AL’ BLOCL P 'z
INFORMATION CONNECTOR NUMBER
| USED FOR PRODUCTION =] (Cow‘l’)
CONNECTOR TYPE
CiNed 2o- )4 )
| INTERNAL DESTINATION | orrervaTION EXT. m:snmnou
| posITION| FUNCTION | Pn_lvire TvPH caucE| COLORLENGTH PIN | CONNECTOR
—  + 24V 12 22 |oeale3h)] 1o | P2
| & zz loen|)9Y2] | | Plos
9 22 lora 1" | 2 | Plo4
9 {22 loea|9p'l 22| Plos
B ‘ ,
- /O 22 loq |13 1S | Pliz
10 zt | oenf o TPT +24V
-1V [ 22 |BLo3Ey' | | R
- N zz (Beu g | B P
11z 22 |Bw |17 ] 9 | Plo4
1z 22 [Beo | 11" TP -ISV
T _
13 1 No | Coun e Tr04)
Gnp 14 | 2olBuc ]| & | P2
14 22|k 119"l S | Plo4
1 14 |22 ek 221 13 | Pios
/S 22 lrc 1187 /G | Fro4-
‘ 15 zz |ee |18Y,] 21 | Plo4
(See NexrPaae) | | 1S zz e 1" ) | PVWZ
DATE , ISSUE NO{ | e 3 & | 5 b 7 B '
Jone 83 e -
pn. Dw  Jow/rN 32|44 | 424871522672
CHKD. CERT. - RA|RA | RA ] e4 | R4
APPD. JCL TITLE MAIN PowEl SHEET NO. |DRAWING NUMBER
SHEET Z OF I3 HuedESS Bssy a B - U)B@

- Fitr 7.3- 4.2




. CABLE ASSEMBLY PART NUMBER  |CONN- # JCONN. TYPE
SCI-TEC BA-Lo3 6 Piob |fs Skr |
INSTRUMENTS INC. Pz i
UNIT o PLi |Smmes
TERMAWAL Bloc Pz [As sur |
INFORMATION CONNECTOR NUMBER LE_@ "
USED FOR PRODUCTION Rl (ot
' CONNECTOR TYPE
CiacH 2o-141 |
. INTERNAL DESTINATION ORIGINATION EXT. DESTINATION_J
POSITION| FUNCTION PIN [|WIRE TYPH GAUGE| COLORLENGTH PIN | CONNECTOR
GND__(ConT) Jea 22 |Bue |97 T |Pioa-
Jea 22 \px |19 Z | Plo&
_Jea 22 B 1171 2 | Puz
— p (9 | 118 1B B | (up *,gﬁ“‘g;}f
7 22 [Bue |16h'] ¢ | sw2
NN 2T B | 21" T | plog
17 2o |Buc |42} | Pl
1% 20 |lpe} 21 S |2
18 22 |Ruki43 "] | LED
1© 22 [Pk /9" B | Plok
LJLes 20 |Rex |zeld] 11| 26%5
|68 | 27 |8k | /5" TPl _GND
DATE ~JISSUE NO \ 2 3 4— s A 7
doune '83 fpate
DWN. DWW CN/RN 3z {4417 |42 |487 522|672
CHKD. CERT. RA | A [RA | RA | RA
APPD. JC TITLE = MAIN) PowEl SHEET NO. |DRAWING NUMBER
SHEET 3 OF |3 Haeness Assy 3 Bw- W30

4}—/1(7 7.3-4-.%



A CABLE ASSEMBLY PART NUMBER  |CONN: # |CONN. TYPE
SCI-TEC TRl | oo nrdl
B A - (4\)5 @ Kl CHMNITE
INSTRUMENTS INC. IS 3/eR
UNIT HAMMON D
Powser SoPPuy
INFORMATION | CONNECTOR NUMBER
USED FOR PRODUCTION P2
CONNECTOR TYPE MoLEY
09 -~ 313\
| INTERNAL DESTINATION ‘| ORIGINATION EXT. DESTINATION
L POSITION FUNCTION : . PIN |WIRE TYPH GAUGE| COLORLENGTH PIN CONI‘!ECTORﬂl
! t5V we 1]/ WO _Lonnecifzond |
Z + SV 1z lz2 |Yec |25 Z | 7RI
3 + S/ 3 1z |Yec {249’ 3 | 7Bl
4 GND | 4 | 2o |Bycl|20le] 14 | T8I
S _4ub s 2o |Ruk |28%] 18| T8I
b ND I ( No Lonn Ec7ion)
1 aMd  nC 1 NO LovmecTan .
B 1% ) 20 |Rep 1231 4 | TBI
9 + ISV 9 Lo |ConnEL T7I0nd :
/o Gud (-ISURN) 1o Zo |Buk |27%) I | TAI
L —ISVY [ 22 |Bw | 971 [ 21
1z Key K 12 Ao IContecTion)
/3 ¥+ 24V 13 22 |ore |24k & | TBI
DATE ISSUE NoJ | 21314 |5 |6 9
Jone 83 foate B |
DWN. D) CN/RN 362|441 1482 14871522 |612
CHKD. |cerr. RA [ RA | RA | R4 | A
APPD. Y TITLE  Many PowER SHEET NO. |DRAWING NUMBER
SHEET 4 OF I3 Hapness Assy 4 Rio-Ww3b




. CABLE ASSEMBLY PART NUMBER  |cONN- * CO:/’BC:WE
SCI-TEC R A - 036 TEC L
INSTRUMENTS INC, [0S | pBriA-253
UNIT | P1i3 |5&ha%ns
Secondpey Powee Sop-
INFORMATION CONNECTOR NUMBER
YSED FOR PRODUCTION Piod
CONNECTOR TYPE EPAC-
| 1322-044 -So0 -258
INTERNAL DESTINATION ORIGINATION | EXT. DESTINATIONﬂJ
| posiTION| FUNCTION | PIN_1RE TYPH GAUGE| COLORLENGTH PIN | CONNECTOR
-5mﬁEZ'Nof0£;fZ¢V/R$0| ‘ A 221 RBLul 0%l 2 »‘P'OS—
! Gano | | B 22 |puL]23" |1/& | TBI
" )230([@3058 " C 22 |Gen 02| 3 Pros
) Q3038 | D 22 |Gen | 307 14 | PioS
_ _ LE No| Connecrron)
Swurree florog_Q303C | | F - 122 |Gew| 3171 )S | Plos
Stp Lamg  +ISY | | H 22 lep 30| & | Pios
" Gup | | 22 |Buwclzy | 17 ] T8I
\ ®loze/Rioll | £ 2o lvie |3V | 7 | Plos
. @lo38 L zz|\Vio |31 |18 | Pios
o R 1o3C A 22 |Vio | 31 /7 | Plos
THERMSTOE. 2 N 24 (kep| 14 | ¢ | Pu3
! Z 1P 24 |Gen| 141 S | P
! Z LR 241Ben| 14 | 6 | P13
L 3 11s 24-\ep| 14 | T P13
T 3 s 24 Gen | 14 | B | PU3
v 2 v 24 |Bav |14 | 2 | Pu3
u [ B Y z4lrep | j¢ | 1+ | Pu3
) LW 24lGen |14 | 2 | P13
' L X 2z leep |l | 7 | TRI
BT Suppry DA {11 Y No | Cond ecTy on
H'l’Suﬂﬂu/ (78D Z 22 \PpLre AR TR
T 22 |Be | 21 | 16 | TR
DATE ISSUE NO} - 2 kS A | 5 e | 7
dove ‘83 fate
DWN. D) CN/RN 362 |44 |48z |41 522|072
CHKD. CERT. RA | RA | rA |RA | A
APPD. KL TITLE  Maw Powel SHEET NO. |DRAWING NUMBER
SHEET $ OF /3 Haeess Assy ) BLW-W3E

- P 7k-4.5



. CABLE ASSEMBLY PART NUMBER  [Conn- # CO?{’:L:YPE
SCI-TEC 28 W30 L5 | e
INSTRUMENTS INC, ' Plos” |pgriA-259
UNIT Piil oSt
Seconbary Powet Su(;(;u/ P13 %g.'f:’”%%
INFORMATION CONNECTOR ' NUMBER
USED FOR PRODUCTION Ploa-
CONNECTOR TYPE £DAC.
Bzz-044-500 - 258
| INTERNAL DESTINATION | ORIGINATION o EXT. DESTINATION J
| POSITION FUNCTION PIN kJIRE tyPH GAUGE| COLORLENGTH PIN ‘| CONNECTOR
| Hg lerp) R7043 | | | ' 221Geyl30" | 9 | Plos
/ "__Qjoacfv] 1 2 2z loeq | 10| 9 | 7RI
3 n Q704 E 13 22|Geyl 30 | /o | PIOS”
4 Lane 271 b 7o laed 14102 ¢ | AU
S GinlD S 122 g |18 |14 | TBI
N b Ab Yonnr1dn |
7 _|HrSoppy - Ve W T 722 lwir|30 | )2 | PloS
S |Hr Sufﬁcy FEEDRACK 2 7?:;__ \b:\:r: sbo z= T:g_ Py
7__1#S -8BV e +ov 9 22\ Bulia 1)z | 7RI
/O RATEMETER. OfF jo 22 |Rul 5 P8 avE .
/1 1S BV REH 1OV 1 ZZlwyrl3e | )1 ] Plos
12 |7&rp 2 Rare 7ISV |2 22|\ fep | (5" 4| T8I
/3 Ao Corms ECTTOW
14~ Mo |GwnecT/on
| s No |Condyaehon)
(b | TEmp How Gup | L1 |- |22 |Bel/9 | 15| TBI
] I I A/O OanlezTion)
_ : 118 No | ConnEcT W , L
/9 TEmpl o/t 19 |72 |¥ep| b | TPz TEMP
20 |\ THeRH/STOR [ 20 U \Ben | J& | 3 | Pu3
2] Gup Z\ 22 B9l /S| TBI
22 | Yr Suptey =12V 22 2\ o 1364 2 | R\
27 22 |Vio | 8 TP -12V
DATE ISSUE NO{ | v 2 14|15 |6 |7
Jone '83 foate |
DWN. DW CN/RN 1362 447 4821487522672
CHKD. | CERT. 1 ealed | 24 | A | RA
appp. KL TITLE = MAy PowEl SHEET NO. |DRAWING NUMBER
SHEET (o oF /3 Hogness Pssy b B - (w30

61346



| CABLE ASSEMBLY PART NUMBER  |CONN- ,# Co’g;:;”i
SCI-TEC BA L3 18l 2
INSTRUMENTS INC, PlO4 22z 02d- 2o
M Near=sink Plil |peeu-9s
INFORMATION CONNECTOR NUMBER
USED FOR PRODUCTION PlOoS
CONNECTOR TYPE
) (Ao DBMA-25S
L "INTERNAL DESTINATION ORIGINATION “| EXT. DESTINATION
‘ POSITION FUNCTION PIN 'WIRE TYPH GAUGE COLORLLENGTH PIN CONNECTOR 1
Storree Horold 724V | | | 221080 /9] & | T8I
" REeopad |2 2.2 1Ry 31 A Plo4
v @eze | I 3 722 |Gen 13112 | ¢ | Plo4
+5V - Sv PeG 4 r2lRept 19 | s TRI
Srp Liamp +IS Y/ 1 s zzllep1alz] &« | TBI
! sV | | & 22 |ReD |30z B "Pio4
, QRu3E/lrol] | 7 Zz|Yio] 31 | k Ploa
| & Mo | owMecTaand
Ho lamg Q1048 1.9 2 1Geyt 3) l Pioa-
FT04E 10 22 1Gpyl31 | 3 | pioa
- LAmp I 20 |wirl53% 9 | e
Hr Suppey  VE {/f | /2 22 {wHT!l 3] 7 Plo4
Gud 13 2Z B lzz | 14| T8I
SHrTel Morog_ Q3038 | | 14- 221GeN| 31 1 D PIo4 .
" @zezc | LIS 1 22|Gen| 3V | F | Plok
| e NollonMecTidn) |
+SV To K& 17 122 lwHA 3L | o Pio4
ST ldmp Q1038 118 t|Viol 31| L Plog
. @ro3c | 119 zZ2 (Vo] 31 | M | Prok
" Souece | | Zo | 2o |@ep|53z] 5 | Pul
12t Mol OniEcTon |
+24V zZ __leezloeallqlzl 8 | T8I
Ha LAng QTo04C 23|  No|GwnNECT oR)
24 No| GunalecTrin]
Hr SoepLy FeevBack ] | 25 22 lwyr] 21 | 8 | Pioa
DATE ISSUE NO{ | Z |3 4 | 5 A T
JonE 83 Joate
DWN. D CN/RN 37| 4411422 | 481 |S22- {672
CHKD. JCL CERT. ea JeA [RA LR A BS
APPD. TITLE = MAIN PowER SHEET NO. |DRAWING NUMBER
SHEET 1 OF /3 Hapness Assy -7 Rw -3k

Fia1.3-4.7



| CABLE ASSEMBLY PART NUMBER  |CONN- # CONN. TYPE
SCI-TEC PU2 |paraciss
B A - wW3b CIlch
INSTRUMENTS INC. - _ 78l | zo-ial
UNIT
SwteH PAnNEL
NFORMATION CONNECTOR NUMBER
USED FOR PRODUCTION Swl - Swl
CONNECTOR TYPE
Soupel. DIRECT
| INTERNAL DESTINATION | orzcryatIon EXT. DESTINATION |
POSITION| FUNCTION |p1n Jurre TvpH GaUGE| COLORLENGTH PIN | CONNECTOR
Swl| [Resetr vl tzeleey| 131 71 PUZ
Swl | Common | 2 _lzelpee|18 |17 | TBI
|
—'0 oz—-Ress—r
&1ad
TPl (P 27 B | 157|168 | T8I
z TEmf 2z |eep| ¢ “] 19 | Pioa
3 Hv lze |wur] 67] & | Plod
4 +ISV 22 leex | 17| s TEI
S + sV fazfve 12| 2 | 1B
b —isvV 2z | B n“fiz | TRl
- +z4y 2z ot 16" | 10 | TBI
8 RATE 22 leeu | 87| 10 Plo4
9 -V 2z |vio | 87| 22| Plo4
DATE ISSUE NO| | 213 415 |6 |7
- Jone B3 foate | |
DWN. D CN/RN 362 | 447 |48z a8 |522] 1,72
CHKD. CERT. kA | RA | RA | eA | LA |
AaPPD. KL TITLE - MaiN) Powel SHEET NO. |DRAWING NUMBER
suEET 8 oF /3 HBENESS /—)SSY & P ‘W.%

Fia 7.3'43



. CABLE ASSEMBLY PART NUMBER  |[CONN: # |CONN. TNTL
-~ I/B { CinctH
SCI TEC BA'UQ%(O 20~ /4
INSTRUMENTS INC.
UNIT .
[LED
NFORMATION CONNECTOR NUMBER
USED FOR PRODUCTION _ E-D
CONNECTOR TYPE M oLE )(
O3-0b- 20|l
“INTERNAL DESTINATION _ |L_or1cINATION | EXT. DESTINATION |
POSITION| FUNCTION A PIN = |WIRE TYPH GAUGE COLORLENGTH| PIN. | CONNECTOR
_JLep auD || lzz |Bec (437118 | 7K1 _
1D | #5V Powel z 122 |yee |28 “1 2 TRI
DATE issteno| | | 2| 3| 4 5 6 | 7
Jone ‘33 foate
pWwN. D CN/RN 32{441 |4z |48 [522-{6T72
CHKD. CERT. _ehA | R4 eA | ra | A
APPD. JL_ TIiTLE - M AN Power SHEET NO. |DRAWING NUMBER ;
suEer 9 oF /3 Haeness Assy Buw=-W 36 '

ﬁj{ﬂ 732-4.9



. CABLE ASSEMBLY PART NUMBER  |CONN- ¥ JCONN. TVPE
SCI-TEC A- 1030 M | pEmAeas
INSTRUMENTS INC. EA-W Pios Dgffz%
UN17 _’(1 4 Srp am / 2|04 327.—0«-504%
INFORMATION | CONNECTO; 7U/M;3ER |
USED FOR PRODUCTION
CONNECTOR TYPE
Ao PEMA-9S
INTERNAL DESTINATION ORIGINATION EXT. 'DESTINATIONj
| POSITION| FUNCTION | Pin[wire TvpH cAucE| COLORLENGTH PIN | CONNECTOR
STD Lamp Gup | | T “ZolArl 42 17 ] TRI
, . - — S
= i
B I s _ A | -
St Lamg  tve | |5 | zo |ReD|54)z| 20| PlOS
Ha tarfd  Prw] | © zo|Gen|4oY2| 4| Prog-
7 NAC |
L | B NIC ]
Ha Lemg _+ve]l | 9 20 |warlSal| 11 | PloS
DATE ISSUE NOo{ | Z 314 | 5 6| 7
dove '33 fpare
DWN. DWW CN/RN 362 | 447 |48z |481|522]67Z
CHKD. CERT. Ralpp |4 | ea | A .
APPD. KL TITLE - AN PhwER “|SHEET No. |DRAWING NUMBER
SHEET [0 OF {3 ﬁAﬁMESS_ Qssy [0 Bw-W3b

 Aw 7.3-4.10



4 CABLE ASSEMBLY PART NUMBER CONN. # CQZEC;YPE
SCI-TEC BA- 00306 TBL_| jo-/dl
INSTRUMENTS INC. Swl_{AshBurron)
UNIT '
Caed Bad
INFORMAYTON CONNECTOR NUMBER
USED FOR PRODUCTION Pz
CONNECTOR TYPE
i CanNon Danmp- 1SS
~_|LINTERNAL DESTINATION |__ORIGINATION _ | EXT. DESTINATION |
| postrioN| FUNCTION ~ |p1n_urre 1vPH caucE| COLORLENGTH PIN | CONNECTOR
(N D d 1 lerlpwlnll/s ] 78I
GuD Lz | 122 || 17 Jo | 778l
L3 | /e
14 n/L
1S5 n/c
- — 1L NI
eser e 1= 22 |Ggey] 13 |N.O) swli
—/SY ) zZ B 14 | (1 | TBI
3V 9 22 |VeL |12] 3 T3)
[0 ANAC ,
+ISV /1 22 lrep| 13 | b | 178BI
/2 | MAC
/13 NAC
| L/¢ | NIE - |
424Uy /s _l2z\0rG i3zl jo | TBI
| patE ISSUE No| | 2 13141516 7
Jdone 83 foate B
DWN. Pw CN/RN S| 441 42 |48 |52 (72
| _cnxo. CERT. e | et [2A [ea A |
aPPD. KL TITLE . MAIN Pacoel SHEET NO. |DRAWING NUMBER
SHEET | | OF /3 Haeness PAssy [ Bw-W3b

Eita 7.2-4. 1/



CABLE ASSEMBLY PART NUMBER  |CONN- # [CONN. TNPE
SCI-TEC RA-0o 3 PIO& hoees-soo2s
INSTRUMENTS INC.
UNIT |
THERMISTORS
INFORMATION CONNECTOR NUMBER
USED FOR PRODUCTION Pi3
CONNECTOR TYPE '
| Caunon DertA - 95
| LovERNAL DESTINATION _|_orrcrNaTION EXT. DESTINATION |
‘| POSITION| FUNCTION [PIN_|u1re 1vPH GAuGE| COLORLENGTH PIN | CONNECTOR
THermsToR. #/ | | | Tz4leen ]| )4 |V | Piog
N #( | 2 124 |Gen| /4 | W
, o = L3 z 4 |Ben| /4 | 20 %
X N #Z2 1. 14 24 \pep| )4 | N
sl " "z S | 20 Vel )4 | P
X _ » #2 1L G 241Ben | /4 | R
" " £3 7 24 leep) /141 S ,
* n =3 & 248 Gev) 1| T |
x b 3 9 244Bend| 14+ 1| U | Pro4
X COPTIONAL ,
DATE frssue no| | 1 31alsle | T
A
DWN. D CN/RN _ 3z |441]|482]481 522672
CHKD. CERT. A |ea |eA Jea | rA
APPD. L C TITLE  MAIN PrwlER SHEET NO. |DRAWING NUMBER
SHEET | OF /3 ~ Haeness Bssy 12 | Bw-w30

Fia 7.3-4.12



. CABLE ASSEMBLY PART NMBER  |CONN- ¥ |CONN. TYPE
SCI-TEC 9 PT{F
INSTRUMENTS INC, - BA-W T6( |55
e Plot |7 mard
Fower Lesistol
NFORMATTON CONNECTOR NUMBER
YSED FOR PRODUCTION @\
CONNECTOR TYPE
OHMTE 95 TI9k
| INTERNAL DESTINATION | - ORIGINATION " :: .| xr. pESTINATION
POSITION| FUNCTION | PIN_juire TyPH cAUGE| COLORLENGTH PIN | CONNECTOR
| | 1 2z 8o | 9° | il | Pz
N 2z [Bo34k| 11 | T8I
2 {22 [Jio |36} 22 | Plok
DATE ISSUE NO{ | 2 2l4 1516 |7
JonéE '83  |pate ' ‘
DN, Do CN/RN 3¢z 447482 487|522 |72
CHKD. CERT. eA lea (20 | 44 LA |
appp. AL rimEr TMAIN PoweR SHEET NO. |DRAWING NUMBER
SHEET /3 OF /3 Huguess Assy /3 RBw-W3 b

¥

Fitr 7.3-4.13




BREWER MKI! & MKIV Spectrophotometer Maintenance Manual

BREWER REFERENCE DOCUMENTATION

Section 7.4 Secondary Power and Pahel

7.4.1 Secondary Power Supply Board E94 7.4.1-1

- Complete SL Schematic E64 7.4.1-3

- Other Reference Schematics

7.42Heat Sink E21 7.4.241
- H.V. Supply Spec E21 7.4.2-3
- High Voltage Cable W38_ : 7.4.2-4
7.4.3 Control Panel C82 7.4.3-1

Section Overview

Fig 7.4.1-2: Secondary Power Supply board, E94, includes circuits for Standard
Lamp, High Voltage Supply Regulator, Stepper Motor (Shutter) Regulator, HG
(Mercury) Lamp Regulator, Plus-Minus (+5, -8V) Regulator and Temp Monitor.

Reference Sec 4.12 for description of these Regulators, Heatsink (E21) and high
voltage circuitry. Most if these analog voltages are measured by AP command in -
the computer software. R




|

L ¢mmm|._..%m_ 101

‘AN 133HS

ASSV Qyv08 AlddnsS

W/ ¥ SHOUVEd
o ® STONY

w ¥ oo
900" ¥ =

o F ST
goTrx
O ¥

~

OMA¥63~vE INYNI Y
ONIMVYEO O3IVRIEN3D H3IINDNOD
‘A3 % ‘'ON OMO HLM ASSV Q3HSINI dmﬁ@

‘80d OL HOL03NNOD ONLNNOW HILV
‘NMOHS SV 30ISLNO NO SHIHSVM V14 Z HUM (S W3L) SISOd SNINOOT Hm:quMNN

4IMOd AYVANODI3S i S3HOM! 0ddv
STUL | Goupeds snmwwo sorpn) ssouTIeO) oY)

BiDe onl SIGALSN | (GPPW) WeSRa Vhd 3| A NAO

o] hﬂhﬁelm‘:.m Um .—.l—Um‘l- SanoN NI SNOISN3MO o5 161 aive
£661 @ aa 100-va ASSY DXGN| 15T VoS

S
waw SHIVIIY NOWQIHOSA ON s | oN savd | wn =T

A0

10zz
v Iivi3g

‘(102Z) 3SvD O 3HL LOVINOD SHNISIVAH 3u3HM 3ZIGONV 340 HSIOd
‘HSINII 3ZIGONY YOV18 HLIM GINddNS FdV (92 % Sz SWAL) SHNISIVIH u_Q

‘S31O0N

000 v 30 3
Vel yA

S

co1r _HHW_ 2022 2oz ® _Ill.mo

€093019d

-
°
o!| ez
o
°
1

o

oo 05 30 [ J m m
m E oo .wﬂu.se_m_ e S,
gs oS e Dm
€022 ro

€ o » 2 d
20 T eece <>

Q: :é
swéuO huwﬁJ% i&e

[:]“oo[:lo

30
o5

20244 g3 5%
226 { XX ) e o Qoo
au® 100l _Je PY @ cdl 2 o ® 909
g 8898 Zax
20101 §S 3
2012 o @zicy o BREER & ®
[ J Boo
& m“m ne .Mw. 20€] e mm .m. HENER ..]W.mo
4 o
] 18

of
e[Jee[Je®

2
¢ 00000 4, 00 ¥
y = 9014 _ 0Ty ey )
. A S ae o e o0 6060000 %0®
O = s ¢ Du@.. “g “eop o 8 3 Quely i@
- - e o »OL Ji @ ey € Proes § (XYY
z o o @.D Re omH_ oo 61 it ° ﬂ oreed ~ L A2F eojg)
() e o, oce ‘'liig l 9 ¢o¥ @ YOEQL oeL uﬁ&oo om@
—‘ e ofe _HUsos... e 'e ./Wcmu— ugh.s& mje [ ce L.SE 8 S—
=5 iy n__m& :E:.s ¥
z { e o Ewsz © oo_nu _H_ oy vocde D o Ow $eo —
° - n_zaummmum-mm@ ° _HUoo o [ egyy cce ] @ /. g%.@m
O k14dis Y3MTA ANVINDIIS oZ T e vm e ] ey acie ] ® 5w om_H_ eee,, "~ O
(=]
2
As [osiies]  eca/asoNoa 3SVITBY VUL L |35
ES
"QddV|"NMO | 3LVa HIANAN NOQ NOWdRIOS30 A3Y .m

Fia 7.4.1-1



A ASKINNM L9000 3

DLVAIHOS QN8 ATddNS

H3MOd AYVANQO3S

FUL

AlddnNS ¥3A0d “1H

MOWEI-SE I
SN GUNNID MLINGN0D

GLINR J3LVKOLIV
ANATHU NOATINDD /0
AS+ OL O

*
o 202d1
€2-S0Ir g M

o1 1

:mu..ﬁ 38;... ~
L ¥OIM 2 AT+
AST+

390138 NI SNOLLVINVA ¥OLSISIY 304

®/01d1
sy
L1y
==
R * A—n
cIS TS
— e
AB62E
2 »l
PACSQIE
hadentes |
mn * AW
200> E0NAS
—
oL
Y01
_HN\9-CoTr

xucmnm“.r/n¢c=;. JLYSNIJWOD D) O3NIND3Y 38 AVW
21-80Ir& X
ap- VoIl
et 4
102d1 202d
»t
«d S % ﬁ i1
902y n oy L o
9 Nzw SNUH mcmoH =
, : . vsﬂvviazu:
L
oo, g9 1018
€1-c0ir wir _ S02JT+ w\.cmm umv
Mmh L2 *®EY o
#l
1 m.mﬂwﬁ &__,%
61-coIr l ¢ 1013
a0 I it
81-coir 11 x
g-eow€ wcéﬁ(llm !
yo1r
4
A lociies|  ese/eeanoa TG M MJ

_ YOI W9 ASH
SI

ASH 101

AN [-G0Tr

#0177 3-£0IB/ 10
b £0TdL §._

Fia 7.4 1-2




v63-58 k4
AN LG0T

JIIVAIHOS QM8 AlddNS
d3IMOd >m<ozooum

i

ANdind , #

¥313W 3LV
yoir

AAA

"ot w % .a. A662E
YOSy gy sl 10CHSTY

w2y Ncwu._. Bmub.

€

VVv-

206

313N 31VY

 00S |

m_w
toir omecu), TS bl BN NI SNOILYINVA ¥DISISIN A4 A
g 5 ¥0¥3T 90¥3T H 6\ I6L ILYSNINOD 01 T3dIN03Y 36 AN o 8
8- TP ns- ’ ? ACI-
b n_ +——®0edL
yANGE W % ﬁwﬁ\s LY
v m 20 T kb
SSH €09 T SO¥3 o
ASH—os H . — Pne s SIESS 9IE
Lase 7 AB+ , F_
eoir H M 107 .ﬁ. vorr _u 4 —
AS+ A+
€T
@xv0e /1 O 20ED = ﬁmm
BOLY N93d AB-/AG s auw uq | o B Tl
,\ﬂ ¢ b<.M(l %2 *“v
cled 20EXS £0EYS
Z u —AAA % -
¢ W
2eey )
SIS0, 4 ¥ \2-SON
J-€0E0X v
vi-soirlg o] CA2e
i [SD10” Nm&Ew_ sl e-enr
. > 105
«m P JEd S ? 2081
Ad o sies €59/859N00 1 Wl
‘Ocdv] W0 | v NN KOO AR ﬂw

Flf- ".4."2




SMIIH3-58 IWNGLY

o:.«ﬁu:om ayg >._n_n_3w

H3IMOd >~_<n_zooum
i TGS O StanaLSH | D - ?ﬁ N3O

SFRIRESE J3HOST [ enispes

T Tl Do,
SI\E 038

7 HLSINYZHL

smﬁ My

m:m INdING @1 M . mauu. nax
Hi c09%  ,q0y L05d1 vesy 1298 u%
€ mewu._u
1o1r
?m N9
_ A0ASTHAIHL
A2 Ng
$09dL _\ UOUSTWA3HL
o MLLAN-§ ik}
yisy 7 AUSHYIHL
2 M,
€ wcwu._.
Py -
1092 ? <~<m_ »
T o . 1L ]
N v VV V- "
“poir Y098 gpgy 909dL €258 0258 - \%
2 B0 O30T
1o
ﬁ~ N
_ ALSTHNIHL
el og
209d1L H - ADUSIWIIHL
Wt Al
M9 vﬁmﬂ:«u&
am W,
w o 0] ﬁ -
1092 3 Vv =
9153 z_H
1 1Ndin , 61 %528 W ot o gwu.._v gwm $ Y097
AL IWORBHL T AN, s LAAA—-AAA . stlyoan
P2l 1093 2093 G09d4 2294 619y " pn - o
L E0R2 1093F e €093F 20907
_ ~—t_} o
i R
T 10941 R

YOLINOW 33NIVY3dW3L

mm w01r
Ad loeuies) €99/8vaN00 RITN t ”..
23

El(—r 7.4-.1-Z




! yoa-c9g ta - ,
S BT S IR - HSINY
A (T e | eedld _

A cart v —_— TVIHI LYW
WMYWINS Sd's ~ LoD maoL ‘SN0 WIS
AdAYT QAVANVLS  3L3NdNQO SINT SINAWNNISNI
i Ca) §9TIR ey Dan I4L-IDS

e e — g W g o 1

AGSY MNISLv3IH NO Q3ILvOOoD

ADNWHAN PUY @ M9 40 TIMOJ
ANGLNO NV 3AD qu a3LOTNIS

I
H
i

2

pree-— -
2010

€0IQ

)

oI

P D Aasis

=T
|

ASTY QEVOE AlddNg
VUIMOG APVANOIIAS NI QIALYOO

F‘A- 7.4~ "3




x

1]

1 5
. >...m§mmm< v_z_m._.dmz e v?l:noa« -
v mmhms_e.ozmom._bun_m mm?wmm - - atowa )
A ‘- 18L o gieme
T NI
u-vorir
VvOAC
‘ Aldadne M,
- z-vorr
Le ¥OAP
o G-tg
1 : S L) ARV OH
. . o N A CER KL $-ve
4 X . o, -y
A ) [ sacuna < KT B E p e
. ! ) ., ..wv. . .. .‘ . \'I’,go,a& L Aﬂﬂ.{‘d‘g E - 3-vOIr
- nl * . . ‘ . s TP 3]  AvErhieL S
ol - R ‘ 2o |
TN : .. ' . ]
: . BTt 3 o
. : . . o . ERRAnS a-var >  MOLOW Niww
,ﬂ T I SRR V¥ 7y 3Dy D-yOML .
K T EAE e R ] Y-y
] R VA | Srwwwant Swas % 97 Sa¥ |1 3% 90603 | . >tu..:nr.«‘
o K NCH AR
- 7 R T OBN-GOReS S3Y WA | e orio;
A}
] ~acL V) aiaav Sor Ao SHeLvwASRal h-vorr
3 hdeael IPXY13 . .._zn- (®'3-v) A B et A% oW - S Aevorl | N
- — : aw
N B A R e T o i
1 v g‘g.i%-.s 3 YW Tw " wo...k
T [ e - 20 Wl DA QDS VW - WANEaT Adiet 1oL
ﬂ o | %P0 [p.ddy] 7 - uopdpateq pun- vopspey s
17
L |} L ) ) < y
a,sn. 04 ‘ , 4 Q. f\ﬂn\ i .— e ‘mfw.,.x..zw.,:.‘w..,._hu“ v« "n ‘ - — ﬂ [ 4 ' R

Ay e S————

b et S, B e i A . B r

© e sty

Fia, 7.4 .2-1



‘NIOHS SV (¥ L) 3uvid
DL 3NIHOV ONY 51 SL°1 (4C FOL) SRS MOJ 0 SIOAd T ind

NISLVIH OL ONLINNOM OL ORI G 330 EBVL ONUNNOW O3SNNA oMo
WNISLVEH ONILIVINDD

SI0KS TV NO £y ¥ TV OL (Z1 NAL) ONNOJNGD WNISIVEH >._&<4
‘SHIW HUM
ATINGHYD_ HOLO3NNOD DNIJIOH JTHM INN NAIHOW (€ MEL) AUVl

QN (8 W) oM AIIMI38 (801 J0 i) AEHSVADDOT WIS Ivid \§/

SOV ZOVII0A HOH 3V@ TV OL (11 1GL) Al Kldav \L/

“(#1 WGL) XNRIHSIVEH NOBL HLM SOVI1 30VITOA HOH SuvE AVINSN \9/
(¢ nay) 1ot
ONUNAON ONY (#O/D'COCO'C0LO) SHOLSISNYAL 40 AQOR 3HL 40 NOLLOG
OL (21 MGL) ONNOJNCO %NISIVH 30 W4 NHOINGN ¥ NIHL ¥ Aldd¥
TSSO SV NNISIVEH 440 HOIM SV SISOd ‘WNIR3L OL SOVI1 MIAWS

A3HNO3Y
S| ONRI3TI0S 3H3HM 03SN 38 OL ATNO XIT1J NIS3¥ SNISCENMOD-NON £

“SINSNODNCO
40 J3M3Y SSTUIS YOS 1°9°Fy VRNd—L10T TVIINVI¥ HHSNWIORIOM 335 T

“GT3-58 JUWNIHOS JONREN i
SALON

[ E I L IR == \ X,
- v
ASSY HNISIVIH dIM3uE - ST
FUL [ o el miouamy oNe
e o) RTINS M SUGusN | T S L
=wEaTead 3HISE L Ve sl e
-D”— DUV I— L —‘i s | ™0 =

o

@

&,

¢

[3)
©)

L 4
>




CRESTRONICS INC 221-2008
SPECIFICRTION CONTROL DRAKING

PS 336-18-2000-VD+F

18 INPUT
14 VOLTAGE NOMINAL 10.8 YOLTS
12 VOLTAGE MARXIMUM 11 5 VOLTS
13 CURRENT MAXINM 8.68 AMPS
20 OUTPUT
21 OUTPUT VOLTAGE 1949. 88 TO 2060. 80 YOLTS
2.2 CURRENT MRXIMM 6. 0822 APS

2.3 THE OUTPUT RIPPLE AC PEAK TO PEAK WILL BE LESS THAN 7. 2080
36 REGULATION
2.3 FROM 6.0822 AMPS TO @ 8002 AMPS THE OUTPUT YOLTAGE WILL INCRERSE 200 08 VOLTS
3.2 THE OUTPUT YOLTAGE IS ALMOST DIRECTLY PROPORTIONAL TO THE INPUT
3.3 THE OUTPUT YOLTAGE WILL CHANGE 188 08 VOLTS PER INPUT VOLT
4.0 EFFICIENCY AT 10 VOLTS INUT = 73 %
56 TEMPERATURE -38CT0O+78C DERATE T0 168 C
5.4 IT IS RSSUMED THAT THE ENGINEER USING THIS UNIT WILL PROVIDE ADEQUATE
HERT SINK TO MRINTRIN R TEMPERATURE OF LESS THAN 78 C AT THE MOUNTING SURFACE.
5.2 FOR TEMPERATURES GREATER THAN 70 C DERATE OUTPUT CURRENT BY  ©.82 MR / DEGREE C.

60 ISOLATION

6.4 INPUT TO CRSE 10K NEG. @ 198VDC
6.1 1 A NEON LAMP IS CONNECTED FROM NEGRTIVE INPUT TO CASE
6.2 INPUT TO OUTPUT 10K MEG. @ 6008VDC

70 FILTERING

7.1 THE PRIMARY TO SECONDARY CAPACITY CAUSES SWITCHING SPIKES TO APPEAR ON THE OUTPUT.
TO MININIZE THESE SPIKES A FILTER IS PUT INTO THE QUTPUT LERD THRT IS NOT GROUNDED.

2 THE FILTER IS NORMARLY PUT INTO THE POSITIVE LERD.

3

7.
7.3 ON THIS UNIT THE FILTER IS IN THE NEGATIVE FOR A POSITIVE OUTPUT GROUND.

Rer Dwaé BA-EZI

Fia 7.4.2-3



£ 8eM-va Qe
;S waannn| 3zig| ine

W . 9&(2

ASSY I@VD ITVLION HDH

F\éj?A.Z- 4,

WOK UCIBSILIS USILM INOUM UOR .
-onpQad 20§ peen J0 PIGCO ‘SN0
PORCIOND 6Q OF 10U 8§ JUSWINOOP SRIL

zeet O _ v : o 3&',0

Fise au.ui iﬁghﬁuﬂo’h -y

,i%ui*e}%ﬁ%n wiﬂm« €
- E :,r, Lty ‘ E 'm AN
‘_ ln-laiuaﬂgrgaia 1

f=
s k. 3 ¥ |
Rl K I G T §
- e - «I)l‘IN

adavl nma§ 31va HIBWAN NOONH ‘Az §




J3NVd TO¥INOD

Tun
sl SO S 08 NI SANINRUSN

i
SRR SakosH

T P T IHS THO-ME W/V SNSN XV N NI3UOS IS -
00CI# MM NONKI INOGNO SIWID T
) ONV HSWA TN IVOD | HIW 300 TV INND — HSINE T
ZEH-TSOE WAL 0" _
"IN AOTW NTW

B !
|

N Vand [ 4

\S
LA +
Tl n I !
_ |

o

SID HWS ONY SHENE TV 0N "1
SAION

' T
.%n.l,.m Jsyowoloydonoads yImINg i
. L
, -t
- 901 fu— - e || / o
s . RS
T sce
&8
sroL
050}

A [0C00TH) STOH 347 0OV
ol N Gl 3 STa AT w s e | e
& | Ad lereo0sy @ 60 120 DO WM Wi | O W
~
agv|wna) auva | wmeeow w0 WOUINIE i B

cica 7 4 <-—’




BREWER MKIl & MKIV Spectrophotometer Maintenance Manual

BREWER REFERENCE DOCUMENTATION

Section 7.5 Card Rack Boards

7.5.1 Card Rack Motherboard E46 7.5.1-1
7.5.2 1/0 Boards E50 7.5.2-1
- /0 Control Cables W43 7.5.2-4
- /O Power Cable W42 7.5.2-5
7.5.3 Photon Counter Board E48 7.5.3-1
- PC Harness W34 7.5.3-4
7.5.4 Clock/Monitor Board & A/D Board E51/B 7.5.4-1
- Cables W51 7.5.4-56
- Clock Monitor Board E95 7.5.4-6
- A/D Board 185644 7.5.4-8
7.5.5 COSMAC Microboard E52 7.5.5-1
- Specifications 185601 _ 7.5.5-2

Section Overview

The card rack contalns 7 boards and are mstalled as shownin Fig 7.1-3.1 (BA-CO1)
The top 3 1/0 boards are CII’CU|ts for motors and lamp control Basic operatlon |s o
: ;descnbed in Sec 4 9. ~ o

Fig 7.5.2-1: BA-E50/A and BA-E50/B boards for ShutterMicrometer, Fllterwheels
#1, #2 and Iris are the same for both MKII and MKIV. For Azimuth/Zenith and Sighting
Switches, BA-E50/D is used. This board also includes motor control for Filterwheel -

#3 in front of PMT, on MKIV only. The Photon Counter board is the next one down

and its operation is described in Sec 4.10. The Clock/Monitor and A/D boards are
next and are described in Sec 4.13. _

The Cosmos Microboard (BA-E52/B) is the same for both MKIl and MKIV.



CABLE ASSEMBLY PART NUMBER  |CONN. # JCONN. TYPE

SCI-TEC - .

INSTRUMENTS INC.
Wit CHRD RACK

NOT USED FOR PRODUCTION

INOTHER LA D - il

" CONNECTOR NUMBER ’ . 1
INFORMATION ONLY . . . b

- SN2 }

CONNECTOR TYPE . w

DEC- a5,
(Dac._-\sP)
Pin

Al..o.....--.......o..-di ‘ 22
-oo.‘o-....o..o...-.'-ooz 2 =
2 _—

q —_

S {

(A 2

MOTHERROARDY i 9

ReAr view/ a8 T

9 - et Y

10 X
i 2Q

12 1o

3 s -
4 —
IS {2
e e e e g 9
.bm‘l )
« (e BoARD mou )

DATE : ISSUE NoJ
| %::: . %3 [patE

"DUN. D few/rn

CHKD. - CERT.

APPD. Ko TITLE = _ SYEET NO. |DRAWING NUMBER

SHEET | OF & | Lrewer - - Vo BwW-E 46

- FR& 75 [-]. .



ONN. # JCONN,
CABLE ASSEMBLY PART NUMBER ¢

SCI-TEC

INSTRUMENTS INC,

UNIT /707 E7C Lo ARD

S/IGNVALS

CONNECTOR NUMBER
INFORMATION ONLY

NOT USED FOR PRODUCTION -

CONNECTOR TYPE

INTERNAL DESTINATION ORIGINATION - EXT. DESTINATION
POSITION] FUNCTION JPIN JWIRE TYPH GAUGE] COLORLENGTH PIN | CONNECTOR
Component Side 7 Wire Side '
Signal Signal
Pin | Mnemonic | Flow Description Pin| Mnemonic | Flow [Description
Al . ; Sysie&n Tlmmg Puise 1 A1 ‘DMAIN | In: : DMA Inpu{ yaequ:eé.t‘
B ~[System’ Timing Fuise 2 12! DMAO-N In.' DMA Output Request
® t|Data Bus .3 : B B ARNU-P_Z o= ;:.‘- Run Utility -3+
D Data Bu 4 INT-P ... { .In {interrupt Request
E ut{Data Bu 15 MHD-N ='Out Memory Read: )
F iData Bus. 16 “Q-P “ Out Programmed Output Latch
H Data Bus 7 SCO- -} Out |State Code "’
J Data Bus 8 -8C1-P . .| Qut |State Code -
K QutiData Bus 9 | CLEAR-N | In -{Clear-Mode Contro
L Data Bus: : (10 | WAIT-N -~ In ‘|Wait-Mode Control
M .Out; {Muitipiexed Address Bus 11| =5VI-15V | "=~ |Auxiliary Power: " . o
N it |Multiplexed’ Address Bus | 12 +24V - , T
P ut”|Multiplexed ‘Address Bus { 13 { CLOCK OUT - Out".{Clock from CPU Osc.... ... | | -~
R ".|Muitiplexed-Address Bus [ 14 | © NO-P -~ }~Out [IO Primary Address.
S “IMultiplexed Address Bus | 15 N1-P - | Out {l/O Primary Address
T ut: iMultiplexed. Address Bus | 16 N2-p . Out /O Primary Address
U :|Multiplexed Address Bus | 17 EF1-N : '
V' ~.|Multiplexed"Address Bus |18 | EF2-N-
w -*{Memory Write Pulse E EF3-N. .-
X =fExternal Eiag ' +12VI+15 v
Y ¥5 T i+8V
Z ; “GND ] | d SRR
——— — Epqu— _+ i
i
DATE ) ISSUE NO
| Qo §5 foate
"DWN. T fon/ry
CHKD. ) CERT.. ~
appp. W JTITLE - . . SHEET NO. -|DRAWING NUMBER -
- ; SR REWE R . - -
SHEET 2 OF 2 - 3B - I -E46
— T

Fia 7.5. I—Z



S
\
o
-V » OMO'S63-VE TINVNI W >
m,vu__m O@Mmz:z _.zmuzpug P 133HS r o F ST w Hm«zou:u.ﬂﬂ ONIMVEO Q3LVHENIO HIINdROD g
20 F x [ ﬂlo
SI0 ¥ 0 S00" ¥ wax'
ASSY YN HSIN ©/0G3-V8, "ON ASSY OL IX3N G3QIAOMd 30VdS NI AZd INIHINO 5
Qyvog o/ L SHoN Gad¥ NV (D13'6/°v/) "ON NOISUIA 3LVINdONddY HLIM A18N3SSY xm%@ S
IFULL | (pourate aspmuano 30n) $25UDIBIOL 3D F
oo Swanae 03-08 “ON| SININNYLSNI (soyou) ww  'SAIQ VNQ 4t A NMG ‘T uc_m<._. ¥3d SV ﬁh-w.m..v mEm.Cv S318Y0 1VISNI ¢
..nwuaj”m poen H.ﬂn%.us.._hsuo.m NI SNOISN3NIG ['e7°cqy6[ 31va
R g | | 5 o v | e e e ve T S ‘L 3avL ¥3d SV 9Lr-9r 04 (SL WaL) SyIdWNr Emﬁ
ON — ' .
waLl SyHYIY NOUdI¥0S3a ‘ON SHAN | ON L¥vd | w0 1= 1 ‘S3LON
ALD
IAINO S.ASSY 3/ % O/
‘6 Nid—LlN ® XOvdL LD
(MIIA viLYvd) 3AIS ¥3070S
o
|
,
) ) | ¢ ) ( fucd
(108LNOD (THouom, YNHL ZV) N32) _ L
PN N g/cvmova | ofcemeva | 9/com—ve | v/cem—ve | /053V@ ol Mz.\m
(1081N0D) (cfma) (L Zv) (N3z) ~ u I
AN N &/cvmve | vormve | 8/cvmve | v/ewava | /0538 o Sen
» ) S| H L4 n_..-..“
oI ON N <\AM§wv<m <\Amwﬁ<m <\M4_w_w<m 8/053-v8 w b
— 1Y
e e N e T ot
Iddv Sr [ cr Zr Ir "ON_14Vd o O
SNOILYO01 318v0 _J0dINGD ~ ¢ 318vl

eN e~z ]e-z]ec-z]e-zjz-1|z=1|z-1jz-1|s-2 |2~ | 3/053-va
N |-z |c~zje-z|¢e-zlz-1jz-i|z-1|z-1|e-2|¢c-Z| G/063-va
wN |s=¢ |z~ et |z-t]|e-1|z-1|e-1 | z-v{s-2 [e-2| @a/0s3-va 3AIS ININOJWOD
N fe—z|z-t|z-t]z=1[2-1}e-z|c-z[Ee-2| N
r Ziw

£ b1e- L8 - tot | v/0s3-ve \er =v or 9 ¥ yearzas
O Jam cea-ve[ Jam| |
sirfsiriwirfeir tirJoirf 6r 18§ LM [ O | "ON Livd @ o 2N aam H-_@ @ @ @ L _H_>n< Js.:ﬂs nm_m‘m ©
NOILVYNOIANOD ¥3AJWNr — 1 J18vi - m oo] EENI o EN ¥l £in ? P
(] =.-Hl~ ™
n
o |3 ol I.4 o z
E..W _m: . m - o n sin
e o] . N L M YN —
@\\I\‘ S Tn
A [1180°SE evL 3/053-v8 NO O/S¥M-va OL £ 9HD | Ot o o8 RN LB,
sra | AJ 01806 Lot LiN @ »ovai ONILIND ¥03 Wvi3a aav | 6 @ _m —! ¢ ﬂ& 2 me e efe e en
sra | A |LZSOTE 169 LNOAV] QYO8 M3N ‘NMVNO3M 8 oo o0 g & wrEsme 5 e
N2 (0]
Sra | A |91L20'P6 099 X, HIAKAP B M LNO XOVHL OV L ﬁ ﬁr Sneje 2N .
ve | A4 [orsoce €69 A 10D OVNL OV 9 a - on gy SR 0
o 2
vy | M2 118088 £5v SHIANP 7 SHIOVIL-10 TI8VI-3u 0/ 0Qv| S z z fﬂL Sir MH@ o @w 3
o eC e e Je o [l oe [ se I
vy | Mo |90'90'88 607 ¥S—1S HUM .S, 30VId3Y v 108 e [c] R w nB 8
va | ma [siziie zo¢ 9HO 1/d “NOUYILIIVID Ma c |7z
w | 3a Lotiss SS1 NOJ 338 z {03
Oz
‘0ddv|nma | ava ¥IBNON NOa NOLLJNOSI0 A | S




N t e . ot A s L 8 L 4 L U SR § . L4 i £ 7
. G ONAI — seibep | 7 ¢ ) e
b os3-89 uoyaaypedg] S00° TNHOWRP £ o suopdawig ' ooy
‘oN Buimoy, peioossy 0TS p T opsuswig v T v '] n M H A N
M L suosususg - ~ 4 + f .
QY08 LNJLNO/LNGNI| _zeit & efimap iimwesd ) . oA e
H313WO0L0HJONLO3dS IM3ug 31PW1 SEmiBe 98] oo s bey| 1wai 230 € i m . : o . o S R . N .ﬂﬂ«n PG ASN SIS OL WIIN -y
sjiny] T v 1o suoituewip jy ‘e sag) ’ e R R . BALON vasNa® . [
NG T E T TR T T T . = : : .
g e g r g s T - 0 : ‘o - . :
eumanmanl IAL-IDS| : o : e o
+ o——
‘ . . . : . jar~tos dbmemii 7 T o |
= . o . . : : T Iy WL oy | - Y dovaL Ly | T ASSe qwwon o/t
STANERT| - vy apioge|  v/osa-vd |
1 . : . L — — 9/ 053-v9
- b= b 3 N 5 d . L = j 3 S7053ve
- o i L ) yalelu ajosa-ve
2=3 : - -
" 1 3 3 ;"3 3 }
¥ bl ”» w » -
[
oo *
I | A ¢
) . [
1 .
2 o) A = B
) WW Lk
4 Jmmu
LS
- »
ﬁ
7 3
a
d S -100- Uy A
127 -00- WY néy » (V34 - -
(s won vvs) 520282 P2 - T 1 < b i
oD ° < . -
TRy ~ m
) 390s0reD B (DX 2 - —\ :
oG~ atn {1 <7 K 1 - dx ! .
ovas N FReN= Senrans FEFEEEEE EEEE AR . .
IWGOvOd t 5 RN - 2 I I I 5 z38ké w ’ , \
. o | we T TITL 2EZREEES $8388388 J2EZEEseE ) > : :
13E-100- UMY 4 Y ¢ Y v Yy _.., R
TJacroras w'a ] J —||_1 c — . P
W SORNENM - . !
q L ) Q
ABEBISAD 3'v
TG 3G i
gz
o iow] 77 (v e s ojote 351 oI av] g | " . — — - ¢
1-67b] 99 “v5 1% %) Gav (>'1) $,on07 30| b $ |e & _ﬂ = &
T srore) YT e NvO-oIM T aaY | 3 - P 3 3 c R
2 R BT M F0903  Bav S| B S S . > b N i
ozoe| — | — orea Man| = T 3 2 h4
- - <
awnﬂ aj0Q ip,ddy| uoydisIseq pus uaisiaey onﬂ_ 1 ' v '
L]
awiod ol T I J o v s ' ] ’ ¢ ' v ' § r ¢ ¢ :
S -




4

OS3-¥g  paeog 0/1 40 weaberp %20(g

F6, T:5.2-3

SANITHOLIMS 2 HOLIMS
e ey
| LHIANI®
S3AIHA HOLOW d3LS € HEANG
N.QNOD
S3NIT LH3ANI-NON v 13AT

SANIT LH3ANI b

i

1H0d
1iNdiNo

103138

140d
1NdNI

L e

<

SN8 OYOIN

P4BO§ 1AdLAO/INANT




i
e |

]
A3
SID ¥ - 00 ¥ e
3718vD 10¥INOD - 5 ﬂ.u
- [(oypede sopmpe maps} mooucsep)| MO e
....u..isal.......m.. F-EE “ON) mEu_z:sz-_ [ .m:a L] nnuus. mﬁ
e m._..l_OmII 0S3-V8  USSY LXGN| 131 VS
dz -
w3l SHYIVINY ON s | ON Luvd | nn Hn.H_oH
Al

“NOUVTIVLISNI ¥OLOINNOD H3d0d 3MNSN3 OL NOWD3JSNI IV US3L AUNNIUNOD ¥ WHOLN3d °¥

“HNE FNGMIANI ONISR NMOHS 3903 AJINZOH ﬁmm

NI TIBMEONI HUM NMOHS 3U3HM ON 1avd 318vD Ei@

Z N3U ¥O4 310 ZTLE-BLL

| KAl 04 3K 994Z-6LL
004Z—6LL 00L GNYH ATISNY um:Q

*S310N

MO ErA-VE SINWNITLY
ONIMVHG QIVHINTD YAUNINOD

8/srM-va

s

lov

i

ey

€L

¥l

GL

9L

i

Pl-|n|m|«]|n]e|~|o|a]]T|Ni2]t]R
BiRig|g]«|n]e|~|2]2| 2|8 2|2|2]¥

<+
-
-

RIF[E ~ [~ +[o]o]rle

&
a

i

2l Nid

T

£YM-vE ‘
ON_LNINNJ0a

91 = X, 8/cym-va

N 6 ¥ZT = X, 9/crM-v8
SL HOLON 2V 04 ON{St{oN|ON D
oN M B EIED oL
C1]  NOlON 2¥ (13 CLJCLION{ON i
N gl zijeifzi]el Tt
N ¥\ i €1
ON [ otjoit]ot]ot i
N 9L 6|6]e]6]s St
8 | OSN35 MO [] ON{8 [ON[ON[ ® 8 9L
L [ L ON| ¢ [onfon} £ L 8 8
N 9 9|9 [oN|ON| 9 ] L L
S | OSNIS MDD S HBKEEIEIE s 9 9
N v [AKIERERE ¥ [] 5
< HOL0M 2V £ glelefe]e 3 ¥ ¥
ON [ zlzlzlz]|z z 3 £
1 HOLON 2V ' Lis e i z 3
[ NOUINNY Zv Z|sw|ed{id|ws 1 1

NOUWVNUSSO  |edjzd £Zd ZZd calzaln

8 Q1S/1d0 ja/|5/} g8iv|v]vias s la/lv/] 053 |

v | Ad 0/053 ¥04 TTEVL OOV ‘NMVKIZY S
vy [ MO HIZY 38vD ‘Z 3UON ‘M3A 00V 14
vy { MO 'ON OMQ ASSY DXAN 9HD <
~ |44 " 4
~ e i
"Uddv| ‘NMO NOWJINIS3G AN
_‘

fa 1.5.2-4

NIDINO




R RN !
< it = I Y ! . 91 5N =]
| LT S .T..,... _, e e = e vt e e )&M.Z.—K; n— H 075 m_
77 RS W ¥YN 14 =35 B oL
S . C e L 3T <l A N or
T gavore | N4 = SN =
el s:cm S It N n
3 S e T T ol ULNGD Y QIS O
2IGV0 TOGLNOD "dIMOd O1 ! v ety A 3 ORGSR BH 6
L . RS =) ON [=]
<\0@U.4m R A 4h” . V.,»N,N ..‘N. V.J i N [
T S e GRS T e - 5 SN 9
WOl gga usyuUM INOYHM uoy n 02 ﬂ -
-onpoad 0§ PEsn JO Patdod ‘SIR0 O}
pPesoosIp 8q 0} 10U 81 } P SKIL id ON v
ze61 O T |INGO HOIOW "aLinHS 53
) INTgam "oloON| 2
] TINIEEOD J0LON 1
Je0\d NOILONAS | ]
L‘m []
.8
g 6 sl P
oo Q m T
<\omu.<m\ ad 3 og g Addng
Qavos o/t 88 8 B | UIMod
ard mm m A 20 mm m AAVANOTHS)
a6 a8 S 28 8 20
I3 N : F 9N
. SYIALI L=/
AI0O3 Yo NI TnaaN NSO L SRtaN
DA SML AJLNIA KErEan
{
o
3
o oG rmwtpxui.wnvwgw.
il N s Z29e-hxd z * B 292 -62¢ A © 0OIZ-6¢¢ TOOL aNVM ATISNY 3SO “
R ET " LSI-Na ] Na 33 & 5 SI10N
Ll A
2O IR m N "
{1

Fla 1.5.2-%



2 8v3-va S R
‘8Si HIANNN] 3218 ] LHS HENLL "
A AL | L) e8¥vN 4 z9s
Qdd¥ ‘ANHD ‘NG ALva WiINALYN
oi=aB
AGSY O¥vYO@ CRILNOD S10L ‘SWa VI8

YALNNOD NOLOKd NI SINRIKOMESNL

oo -vg AONIASSY Axan] .,UQ.N u\.\VM.
T ok SAIO8
WO UORIMLISD USRI RO UOR
g!i!%i’

Aoy -
ze81 O

. L
@\ SFINLOOPI NN IOraO B
A A ?
4
IR0IOrad
dd.z(u.*n.)*iooc&_H_ d \wl
Qe thse 4v@) €0 Tty f*...N..vnv m
Oy 4
@oovn) 10 T EE ) e
M o bd
AUSBOrGO
MOBUVD *% G M w01 2 AVLIOPAD ®
e

g e 1
Y | meo] 2t-21-Lg) 29¢ - n2a 2 o1 AL ono? [Pymegmer 4 ‘ g
k4

| ] i-so-s8 g€zz-Nr2a | ‘N IS
R e [ADSRUURN NN B R —— e e e ol

Fia 7.5.3-1




8 e £ | -9 L § ! 14 I . ] [4 i {
2SN o0 ’ ssllep | § 198 :
: Btiits 3 - .
. 8¥3-s9 uoyodyedg wiq k é 1o>oiu< :
‘oN BUmoaQq peinidossy

\Wm\_a/: _:a«_ Ay . H "
Qyvo8 J3aLNNOY NOLOHJ peY>C)) | uBiseq @) S¥3-vE - 1S Sidvd-!

H313N0LOHJOYLD3dS mw;wom:m P - u:m_v_u.__ ouw_ﬁoo__u_...me_v _u:. x“a_“”“:o _¢ﬂ.u”.ooM 'SIALON v=aNID |

Py

T CooapsT 0 -

zi00'Q mO_hluO.rum_‘IOu 3933 °
4
_ g
dmn_ ey 9dL
: - C¥ O vdL 3
{
z €
= s CFon
m_ et B
M_ a5 |~
Lol o =
IO NYWg)
a
_ m -2 1
H 3019
- =
| ﬂ»a $i ! |
- &
o & ’
HECEE ast v
8
ASH
M [ i
2 T
B L I
1ZjeifLs .n_ ON Q) 14 :
ﬁ 8
I3 [ai2vte] WY ! 2
sgnon| 77 . 9¥-80909 53V SwA . Y
029¢] — | - . oma m3an| : i R R | 1-€z¥ p | o nep et ulomize ' oo ¥ v
‘Ol ° .
V_Bﬂ, %ioq ip.ddy] uoydusseq puo uospmey - - owﬂ_ . E.zzg_:s ..2

2 W04 8 | Z 1 9 i s ] y i . £ . T

Fiet 1.5.3-2



.Q«.m\(m ‘paeoq 433unod uojoyd 40 weuberp 32049

410

Flé 7.6.3-3

sng
viva

S140d
1Nd1No

Hv31D
JHYMLHOS
— O3 743
HOLVH3INIO
ILVONIVA |
Y10
103713s
THO4 SINITN
H3a0%3a H3AI303H UOOOAH
HIINNOO 0L | o | 3N |
HIVd G3LSIML

(¥v08 ¥3LINNOJ NOJLOHd



14 rPEM-va , 9 bt ; —_——— , ’ | 349N 335 ~——m~ 4673 201 d
L L _ . SN I3
24 0 (XE C8fe1 VI ” b s 2 I _
: e “ﬁ - \ Lo TV L S6-Ynaa @ ) m T 2
. e T ) (..,imluIUZ_ . i ﬁn_ S 1 J— <
| . . ws[isn _ ™Y a5
ASSVY SSIANNYH HIALNNOINOLIOHd = s e S| R e NETETOAY Ty g TTod
_ S 898 | —~Bam Y5 9 [
. .U,M_Qw—:g:bwﬁﬂ;ow‘r.aw R . Z . e e T R Y =1 J%QI IN|8 NS
WoJ} uoksSiuuad Ue) —N5Z3 A% )
-onpoid 404 oomzawnhoﬁﬂaww." A ERNUN N ?' k4
DosO0SIP 9 0} 10U S AWNGOP JUL LOdN WILIN BN 2 s T .5 . e
2s8L @ aNv |8 —SzEona . T Ny e
K K Seca) - : & ¢
’ o
g .
K1

CDALZINING G NfOHLFITSV] 9L W) SIWiL NIL xoudy
CSHIP TALSIOU QoL Qo0 (S vif) 2T ) Lsimg |
TITIHS S ANAID E ONSLKM SPidg QALSIOL YNLY LY !

15340 S —— ]
N . (VOT Aadag s
YIMOd “REINQNOI3S) Soid
(ua aney ,
q33dS HOH )
2 901a
@@
qFo
-~
W !
. -~
)
[+]
VI UL Brele|  255-MT | % STIN @Y |p 8
T mo] vlore 22¢-Nxa c “7d 1SimL adv ' 31@v0 30 pional on7 |7 z
ETFG | Qs vea-2ikg | = 732 555 £ m
2R RS { 0SS LSuid W W
a
addV|'Nma | 3Lva HIGWON MO A NOILIINOSIa 3
. HIGWNN NOINY *SS1 h

Fit1 7.5.3-4

B E L e IR A PR



.v

A3Y

1G3-v8 L ° 1

Y3BANN  LN3NMO0Q 1S
ASSY Q¥g a/V %

adg JOLINOW O01D

N

SMO'163-vE SINVNT TS

UL

~rpesd

woy uogmused
PosopEp 3G

Duy SBwE

wpe
05 patn 2 Gacico

‘g
€ 1 o wewosp By

s JALI0S52

€661 ©

= 2308 “ONI SININMRIISNI

WAL

SHIVATY

NOUCRDSC

"ASSV NO Quvoe a/v 3a0av
ATLO3YIG Q30Vid SI Q¥vOS HOLINOW 301D ¢

‘3OYVHISIAG OILVIS CIOAY
%® 34vD HUM JTANVH — AMLNDO¥ID SOWD i

‘ON

‘SAION

A3Y IN3YHNO ®
18vd HUM AJUNIGE

——

/L F SHoU
JE— Ppepumiien ONWYHO GUVHINO HILNINOD
SO F X [T
S0 ¥ nx 900" ¥ W
(] S3HONI D OddV
| (pesecs semman seoun) g2oOML)L| WA ONHD
Seyou) wuw SN VN | 40 N
T NI SNOSN3NQ |90 TOvR|  aivd
2Z10-va/100-v8 ASSY LGN| SIN | 3wos
.oz -
ON s | ON 1avd | e [= ]
AlD
ayvos a/v
(e rau 3sn)
B-L
ol-§
ti—¥
€1-T 0av -
QTIVISNI

3l SHNIT IADNZ M0 6-9 ‘ZL-¢
‘Pi=1 IND SHHUV HSYO 3UHM IV — (1M 4V

SHNM TIv 3AOW3H
ANVNIE IHONUIS
AST+ OL 0 ¥03 N v

INdNI G3AN3 JIONIS ¥O4
Qyv08 a/v OL SNOLVOIJIGON

—

C

A¥3LY8 11

Qdv0g HOLINOW Y0013

Aydilive 11

Quv08 NO

A4 [90°01°C6 659NQ NOISAEA 8/ 0OV v m

v MO 1S1TILE Z9ENDC Vd OHD "L v SINIT OOV [ %M

W | 40 j£0'10728| cog-NOO-108 NOQ 335 T |05
hA

"Gddv|'NMa | ALva YIGNNN NOQ NOLLJRIIS30 a8

S3Y3LIVE ANIHLN ¥04 INI 0L 135
ONIddIHS ¥03 440 OL 13S ATIVARON

ATOF S/ 01 13S INdNI

AY3LIVE TWNYELX3 ¥O4

298N $000°F
29sn GZ18Z'88Y
OL 135 SI GORI3d
INIOd HO1INOW

|——1Z Nid

IN3NdIND3
Y3Jo¥d 1NOHIIM
| ~~— 1Snrav LON 00

F'é‘l 70 5-4‘"



SCI-TEC INSTRUMENTS INC.
BREWER OZONE SPECTROPHOTOMETER
SPECIFICATIONS FOR
CLOCK MONITOR BOARD & A/D BOARD ASSEMBLY
P/N BA-E51/B

Power Supply Requirements

+12 Vv 25 mA
+57V 50 mA
-12 Vv 25 mA

External Battery Requirements (Optional)

Voltage: 7.5 s 0.2 Volts

Current: 0 ... 3mA
Real-Time Clock Specs

+

Accuracy: 35 seconds/month

Drift: - 2 seconds/year
A/D_Specs

Analog Input Type: Single Ended

Range: 0 ... 2.5 Volts (without conditioning)

Resolution: 8 bits

Accuracy:

+
without conditioning 3 3/4 LSB
with conditioning - 27
Number of Channels: 16 (See Figure 1)

Physical Requirements

Temperature Range: . =-20°C ... +40°C
Card Rack, 3 Adjdcent Slots

Memory Address Map

(See Figure 2)

Battery Backﬁp Specs

Battery Backup Time:

SwWi Time )

INT 500 hours (typical)

OFF 0

EXT (Depends on External Battery)

Battery Type:
2 Non-Rechargeable Lithium Cells, Size AA
Board Mounted P/N BCX72-AA , Electrochem

June 1, 1984

Ciz .8 A-7-



A/D Channel
0

w0 o g o s W N

I N T
v e W N = O

Monitor Name
Brewer Temp 1

Brewer Temp 2

Brewer Temp 3

H.T. Voltage + 200
+15V Power Supply
+5V Power Supply
-15V Power Supply
+24V Power Supply
Rate Meter

Not Used

Not Used

Not Used

+5V Secondary Supply
-8V Secondary Supply
Standard Lamp Current

Standard Lamp Voltage

Typical Resolution

0.3620°C/bit
0.3620°C/bit
0.3620°C/bit
54.7 mV/bit
98.5 mv/bit
24.4 nv/bit
97.7 mvV/bit

117 mv/bit

1950 pulses/bit

24.4 mv/bit
38.8 mv/bit
10.68 mA/bit
48.5 mv/bit

A/D MONITOR INTERFACE

Nominal Reading
173

173
173
200
148
205
150
212

210
213
150
220

Fll:t 7.5.4"3




Memory Map Hex Decimal Description

FFFF 65533 Top of Memory ~] VNot
Used
~ /4 A - (E800-FFFF)
E800 "~ 59392 ' .
E7FF 59391 Control/Status
E7FE 59390 Month Real
E7FD 59389 Day Time
E7FC 59388 Hours Clock
E7FB 59387 Minutes (E7F8-E7FF)
E7FA 59386 Seconds
E7F9 59385 Freeze Circuit
E7F8 59384 : - ]
E7F7 59383 Lo : —
L '/L, Battery
e 1 Backed-Up
RAM
(EOO00-E7F7)
E000 57344 __
DFFF 57343 7
L /L N
—~ — ot
— - : Used
(0000-DFFF)
0000 0 Bottom of Memory |

"t - MEMORY MAP FOR CLOCK/MONITOR BOARD

Fla 1.5.4-4



-/ EM- T a {19
HIaWNN| 3218 | 1HS HSINIZ
@.;«m ¥ NOR T fd IS
‘Addy "ANHD ma alva B WIHILYN
S F SO i=
SaEvVo Quvoe a/v 'SI0L "SWia 3V0S

¥  QuvOd HOLINOW/YOCTD

NI SLNTIWULSNI

1S93-va AMBN3SSY 1X3N U'N.N INU%

p

NGM NI

Fav0 1nNdiN0 DO WNY

0L

(n

LU

/IS C1¥S

!

il

i

-z\c/Q..Qw‘ U.réom
Lv ﬂN_OW.mqu.ANUZZOO NO aﬂ;w-

AL HUMT GIIGYD  IGNIASSY

SUT-624 £ CIVD ANIANHOWLLY "NNOD A DH00S

di3 T HLVM Q0I-&2Z # Wv0  00L ONvH
ATISNY  BNISA SHOLOANNCO TV TSN g

"NOHS | s3avd 4o sanN3

FHL 1Fav] omd,qnma.f\_n\} 1) WIINON
LuvVd WiEHL WM 3T8V0 HOY3 13avn e

TerM-VE  # BG4Iy

£3318VD O/I HUM  dOXIN QIOAY OL AV

SIHL a3NDISIA “(T Nid HLMm  L1D3INNOD

»

a/gM v :
Tiavo 1ndNl BOTVNY

10N S30a T Nid) NMOHS SY a3ISWI3SSY
49 LSAN 31FWD IOVAATING HOLINOW i

S310N

g/1SM-¥S

DE" X

'i:lDDD

| i

N /1GM-va O
Tavo n.ﬂoﬂmw._.z_ JOLINON

‘ \
5 36 o
ul mm o
IS \‘w_ m“ b/Ism -y mm
Wi § oo g ag .

\ . . U Y ;
__.Ln /! .ZE =
W _.?um_ 71-Z1-L9 29¢ -t z rNYSIND )d
.n,a.m...m ‘NMC m 2L5¢C M HIATHAN NOC ‘A3Y NOtLdIMOS2C

GWVIS HLI
101 A

Fitr 7.5.4-5




Fia 1.5.4-6

L | s63zve Lot /1 v s \ SNV GRIVENGS Haindno0
A 4 ¥ ST < ® STONW
o % o ® Ay ININEND ONV ,S63-vE, ON
ASSY Quv0dg wos o0 e HSnad "OMO HUM AJUNIGE GNV ,6¥3-VB. "ON ASSY ONUSIA muso@
HOLINON MO0T10 [ STON > Tddv
P 1Ty e ey "NMOHS SV Td ¥ ‘43r3d SS3IS ICIAOHD OGNV SQVI1 A¥3LLVE
T T O SNaNsy | (PR U SRV Al 0| 3UVIOS! OL B3d NO 3AISIHQV 40 ¥IAV1 ¥HL S8L/1 P_mo&aé
EE R rrle & | T e [ f v | S ] T . "35vD A¥ILIVE HONOL ION
el e aevoo T $300 (28 % 48) SINILVE ¥04 SAvd NO Ti ¥3TI0S w%mzwﬂnw
W3t SHUVYASY NOWRIDSIA ON SYIN | 'ON Ltivd | KN Tto “IV3S ONV OVE OUVIS—LINY
NI 30V N3HL “(ONUS3L 3y0438) ISV1 AMILIVE TWISNI T
N/ "4 W3L ONISN TiY % OLY¥ '8y ¥IJNNC "QITIVISN! 1ON €Iy — 84 °I
“ / :S3ION
00 N ] M
[mam ] T
3| |5 —e—am—en [FEEEEEEERE 0 =
—Oo=3 a—— T +
] w s s m:a —
q ”_u (<] "L w O CT—
i BECHN O ]
c—
C Ed 0 F] 0 e | |0 -nu |
g 8 ElEE g 212 3| N n —
—
: B =
@ a —
~ mi=ln —
"o A on m zin ﬂ & 15| % m v o v - —
—
J ® © 0 ° o
w0 +Q —
BHEREEEEE R R e e =
0o o5 b o [N - o —
i ° o L/
e o —]
o _ o —]
A EP—C s (gl = o —
e e mmmm“m“m“muﬂ__m"m auwm_m_—m 1 W_ | G—
_ _ ee¢ o - s IS s N N} @ C
GaT =7 [zl [~ ] |~
WO [ 0.0 5100
Ad toOOL'EE 6SINOG ZIY'OIY'BY YIdNNE ‘CLY—BY 3NOMRY | S 82d aNv (LA)
v | Mo |1zeose \Z¥NDO HOLO3M3 WRIL 01 AUON TS0 G JUON oav| ¥ IVLSAN] NIIML3E TIVISNI
vy | Mo [siTies Z9ENO0 SILON ASSY GOV £ Gm
™ 40 [10'80°L8 £LB6T—NDQ-1048 NOQ 335 z W..M
w | a0 jwozres| ——— ISVIBY MUNI v |33
(3}
"Oddvi'NmMQ | 3Lva UIGNNN NOQ NOULJRIDS3T A3y W




[) uc n - VA u — _ 0 [ ,
do__ uaennn| aze] ane . : |
’ ‘Z\3 ' 'ey VAL T
LIS TAVOS IBLIW/ A0 . o e m..& =
ATBNISSY “NNZ 3 3
m g
) e L to
o L3 E J
. et
ZH
127
" - |
3 "
f m$ L 0 W 4]
viwo %
S HETHTE Lo
| n I i
hz)
w0 ;
Agt: _
1
g —
- 4
st {20 e o
nlihd @ 1 b
> Y Ll
ASES
o |
i M % 173 _ Tm.
- e : 7 , g
40 [Lbma—W g
@ [a]
-4 v 2
3
132 W M.-.:.. :
o1HD [T f WA :
21 9%, B
o [ ;
e
o w..w IIARET é ..H
sM
- w
v (Bl g gt - St 1
= oni
s |1]] PR3 AW~ AsH y
&1y ]
e an
= T3 + }.
ZIHD @H"‘ll uﬂl.ﬂ‘ﬂnﬂlﬂ:i ! q
i) 4 3
| o |1
STHY [T} e R T AT WA &
1 b
a1 ||
2a . ,ml—. J
2] R < o L
o [T}~ . pree ;
WHIN v —5u~ m ;
5 7 ] B
Ll - S ¥ PR WA 1€] M
; 0
m
o0 ; h m
F oy 0
™ € b g e a3
wy 3
L] - |
oHD F VL ST W H .K.
" & Y

Fla. 7:5.4-7




RGA S

CA CMOS Microboard

A/D and D/A Converters

CDP18S644A, CDP18S654A <ci-7ec # 90-98-/52

B

o R S iy —L
e A

gD By

RCA Microboard
‘Milliwatt Computer Systems

MB-644A
t /- 7 c A.— Q



CDP18S644A, CDP18S654A

The RCA CMOS Microboard A/D and D/A Con-
verters CDP18S644A and CDP18S654A both contain
an analog-to-digital conversion system and two inde-
pendent digital-to-analog conversion systems, each
having 8-bits of resolution. The CDP18S644A is capa-
ble of both unipolar and bipolar operation. The CDP-
18S654A is capable of unipolar operation only.

These Microboards operate from a single S-volt
power supply, require minimal currents because of
their primarily CMOS design, and feature two-level
I/O address latching and decoding on board, with
selectable addresses for flexible system configurations.

The CDP18S644A and CDP18S654A are designed
for use in a Microboard computer system, are expand-
able by use of the Microboard Universal Backplane,
and are plug-in compatible with the RCA Prototyping
: Systems CDPI18S691 and CDP185692, the RCA
; CMOS Development Systems CDP185005 (CDSII)
i and CDP18S007 (CDSIII), and the RCA Microboard
Computer Development Systems (MCDS) CDPI18S-
‘93 and CDP18S694 to facilitate hardware and soft-
ware development.

The CDP18S644A and CDP18S654A differ from
the CDP18S644 and CDP18S654 only in circuit im-
provements to assure proper operation at 5 MHz sys-
tem clock.

Features

* Low power .

» High noise immunity

¢ Wide operating temperature range -40°C to +85°C

(oouuacron') ANALOG
P2

RCA CMOS Microboard
A/D and D/A Converters

~ » Expandable by use of the Microboard Universal

INPUTS
Nf2:0]
MRD 170 SELECT . 16~ CHANNEL
TPA.  ———P AND > | ANALOG
> CONTROL V"1 'MULTIPLEXER
e T
CLEAR {\
UNITY
GAIN
BUFFER
AMP
CONNECTOR
)
| .
" X DATA A/D SAMPLE
os(7:0] d BUFFERS CONVERTER AND
HOLD
92CS- 34068

Fig. 1 — Block Diagram of A/D Section
of RCA CMOS Microboard A/D and D/A
Converters CDP18S644A and CDP18S654A

D/A Section:

~® 5§ MHz capability

N[z0] :
MRD—1__3 1,0 seLECT ,
TPA—————8]  AND :
" rpa—r—— CONTROL L ’
D/A
‘ couvm>w_'
CONNECTOR
Pt _
CONNECTOR
P3

A/D Section:
e Multiplexed inputs — 16 single-ended or
8 differential
¢ Sample-and-hold circuitry
¢ 8 bits of resolution
o Scanned or fixed channel mode
¢ Straight binary or offset binary output codes
(CDP18S644A)
o Straight binary output codes (CDP18S654A)
e Unipolar or bipolar input voltage (CDP18S-
644A)
_.-®“Unipolar input voltage (CDP18S654A)
-~ o Ribbon-cable input connector

» Two independent D/A channels with 8 bits of
resolution
» Straight binary or offset binary input codes
(CDP18S644A)
» Straight binary input codes (CDP18S654A)
» Unipolar or bipolar output voltage
(CDP18S644A)
» Unipolar output voltage (CDP18S654A)
2 Ribbon-cable output connector
» QOperable from a single S-volt supply
+ Small board size (4.5 x 7.5 inches)
» Simple system interface
+ Assignable 1/0 address

Backplane
» Compatible with CMOS Development Systems
¢ Member of extensive Microboard family

otrl <
ncs-soou
Fig. 2 — Block Diagram of D/A Section of
RCA Microboard A/D and D/A Converters
CDP188644A and CDP18S654A.

Trademark(s)® Registered

Clavanmlaly Narictracdale)



o

#®

Specifications

A/D Input
No. of Channels: 16 single-ended/8 differential
Input Common Mode Range:
0V to +2.7 V (CDP18S654A)
2.7 V to +2.7 V (CDP185644A)
A/D Input Voltage Range:
Unipolar operation 0 V to +2.5 V
Bipolar operation -2.5 Vto+2.5V (CDP18S644A)

A/D Output
Unipolar operation: Straight binary
Bipolar operation: Offset binary (CDP185644A)

A/D Transfer Characteristics
Resolution: 8 bits
Conversion Time: 215 us max
Total Common-Mode Error Over A/D Input
Range (Differential Input): <1/4 LSB

A/D Accuracy
Differential Linearity: =3/4 LSB
Power Supply Sensitivity: +0.16% of full-scale
range/ % supply volts
Gain Error: Adjustable to zero
Offset Error: Adjustable to zero

D/A Output

Channels: 2 independent

Output Range:
Unipolar operation: 0 Vto +2.5V,0V10+2.56 V
Bipolar operation: -2.5 V to +2.5 V, -2.56 V to
+2.56 V (CDP185S644A)

Output Drive Capability:
Source: SOmA typical :
Sink: 10-kQ pull-down resistor to V neg.
(V neg. = 0 V on CDP18S654A, V neg. = -3.0V
on CDP18S644A)
Output impedance: 2 Q

D/A Input
Unipolar Operation: Straight binary
Bipolar Operation: Offset binary (CDP185644A)

D/A Transfer Characteristics
Resolution: 8 bits
Settling Time: (For any step size to within 1/2LSB)
15 us
D/A Accuracy
Differential Linearity: £1/2 LSB
Power Supply Sensitivity: +0.08% of full-scale
range/ % supply voits
Gain Error: Adjustable to zero
Offset Error: Adjustable to zero

MECROGSYSTE MS

Operating Temperature Range
-40°C to +85°C

Dimensions
4.5 inches x 7.5 inches (114.3 mm x 190.5 mm)
Board Pitch: 0.5 inch (12.7 mm) minimum

Power Requirements
CDP18S644A: + 5 V supply @ 50 mA typical
_CDP18S654A: + 5 V supply @ 15 mA typical

Connectors :

System Interface: Edge fingers, 44 pins on 0.156-
inch centers )

Analog Input Interface: Right-angle 20-pin header.
Berg part no. 65496-007 or equivalent. Mates
with Berg part no. 65847-021/022 or equivalent

Analog Output Interface: Right-angle 10-pin
header. Berg part no. 65496-001 or equivaient.
Mates with Berg part no. 65847-003/004 or
equivalent

Micropearg Bus Interface Signais
{Connecter P1)

The following signals are generated or received by
the CMOS Microboards, CDP18S644A and CDP-
18S654A.. For additional information on these signals,
refer to the published data for the CDP1802A CMOS
Microprocessor (File No. 1305) and to the User Man-
ual for the CDP1802 CMOS Microprocessor, MPM-
201. These signals are summarized in Tabie 1 which
gives a list of the pins and the signals for the RCA
Universal Backplane Connector (P1). The signals
marked with an asterisk (*) are those used on RCA
CMOS Microboards, CDP18S644A and CDP18S-
654A.

DB7 through DB0 — Eight bidirectional data bus
lines. Taken directly from the CPU bus, these lines
transfer the data from the CPU to the converter and
the control logic.

N0, N1, N2 — Taken directly from the CPU pins,
these lines indicate that an I/O instruction is being
executed. They are derived from the three low-order
bits of the N-register and are valid only during an 1/0
instruction. These lines are decoded to control the
transfer of data between the data bus and the RCA
Microboards CDP18S644A and CDP18S654A.

MRD — Derived from the most significant bit of the
N register, this signal defines the direction of the I/O
data transfer. A low level indicates a transfer from
memory to I/O; and a high level, a transfer fromI/Oto
memory.

T4 1.8 4O




A A G b s e TR B bt im i en i mn Tl T T

. MECROGSYSEEMS

Table VIl — Digital Output as a Function of Input Voltage for COP18S644A and CDP18S654A

Unipolar Operation, CDP18S644A and CDP18S654A Bipolar Operation, CDP18S644A
Fraction of Digital Output Fraction of Digital Output
Analog Input Full-Scale (Straight Analtog input Full-Scale (Offset
+2.5V Full Scale Value Binary) +2.5V Full Scale Vaiue Binary)
2:490234375 V¥ FS-1.SB 11111111 2.48046875 V: FS-1LSB 1111 1111
1.875'V +3/4-FS 1100 0000 1.875.V +3/4 FS 1110.0000 ~
1.25V +1/2 FS 1000 0000 1.26 V +1/2 FS: 1100 000Q:
'0.625V +1/4 FS. 0100 0000 0.625 V' +1/4 FS ~1010°0000
03125 Vv +1/8 FS 00100000 0.3125 vV +1/8 FS 10010000 .
0.009765625 V +1 LSB 0000 0001 0.01953125 V. +1 LSB 1000 0001
ov 0 0000 0000 oV 0 1000 0000
-0.01953125 V' -1 LSB o111 11
-0.3125V -1/8 FS 01110000 -
-0.625 V -1/4 FS 0110 Q000
-1.25V -1/2'FS: 0100: 0000
-1.875V -3/4FS 0010 0000.
-2.48046875 V -FS-1LSB 0000 0001
25V -FS 0000:0000

Note: Analog input voltages given are theoretica

| center step values.

in Table VIII. Both Microboards are prelinked for
straight binary output code and an input voltage range
of 0 V to 2.5 V. The CDP18S644A is prelinked for

down. Adjusting the gain potentiometer R2, varies the
slope of the transfer function (see Fig. 4). The objective
of this adjustment procedure is to approach the ideal

offset binary output code and an input voltage range of

transfer function for an 8-bit A/ D converter.

-25Vto2s5V. Table IX
Pin Assignments for Connector P2
Q Table VI Py ——"
Digital Output/Analog Input Links Pin Single-Ended Differential
Input Voitage . 1 0 o+
Output Mode Range Link LK2. o 8 -
Straight Binary | 0 Vto 25V 2:7' Open 3 1 1+
Offset Binary | -2.5V to 2.5 V| 2.7 Closed 4 9 1-
(CDP18S644A | (CDP18S644A 5 2 2+
only) only) ° 0 2
The analog inputs, available at the right-angle con- 8 1 3-
nector P2, may be configured as 16 single-ended inputs 9 4 4+
or as 8 differential inputs. The input mode, which is 10 12 4~
determined by link LK1 (see Table IV), is prelinked for 11 5 5+
differential inputs. The pin assignments for the two i 12 13 5-
modes are listed in Table IX. 13 6 6+
; 14 14 6-
- A/D Adjustment Procacures B z S R
K . Potentiometers are provided on the CDP18S644A 17 : GND GND
and the CDP18S654A Microboards for both gain and 18 GND ; GND
offset A/D adjustments. Adjusting the offset potenti- 19 GND ; GND
! ometer, R1, moves the transfer function either up or 20 SPARE SPARE

CG 7 5. 4’—3””



14

AN

¢s3—-vd !
IONNN LNIRNO00

1335
ASSY Qyv0od

/L F Suouvad
o+ F STON

w e
200" ¥ sor

& ¥ SN
®owr
0 ¥ -

(OYNS0D) DJ0¥dOHIIN

HSINY
™ Odd¥

" SIHONI

3uu

(pepeds smmmge SSOWA) BRIUOIRIO) oOHD

Sumunaes 23108 “ON| SLNINNULSNI

(ww) W SNiIG Wha 4] 30
———=— NI SNOSN3NIU [T5Z5°58

NMQ
3Lva

AR 531108 T

Javl 338 ASSY LGN| T

oo o0 )
NOL JiNIS30

‘ON SN | ON L¥vd | AN

ADIN B HDIN
XN Y3IMINE

0610-va ®
8/100-v8 ‘L00-va

8/283~va

31370880

v/N

¥

‘ON Lhvd

YN ZL-6 aav -
ANM ¥i-€ aav -~
INT L1-9 3AON3Y —~
YNIT 91—1 3AON3IY -~
o —
Li—-8 aav —
¥1-G aav -
Sl—v aav —
gi—1{ aav -
120
VI09 300N ‘¢

NN
AN
ANM
AN

NN Li-9 dav -
o —

ol-6 Qav -
AN €1L-9 aQv
XN ¥1-G aagv
ANM L1—=¢ aav
AN LL—-B8 JAOW3Y
MOVYL Zi—-L 1ND
AN Gl—+ 3AOW3Y

MOVHL 9L—¢ iND -

L2

109 300N "I

ANN

SNOILDNYLSNI TVAOW3Y/NOLLIAY NN

S1°Z0'v6 €49N00

3N0S ® STV NONd3 OQY

¥T 01’88 B8¥Y¥NIQ

8/253-v@ NOISY3A Gav

2|8
gig|e

9LTLL8 29END0

Vi09 OL SQON SHO

¢G3-vd

"Qddv| 'NMG | VO YIBNNN NOO

‘ON_LN3WNJ0a

NOILdRIOSIC

OMTGI-vE SINVNIT
ONMYYG QLVAENID ¥3LNdNOD

(1-££0L8 dNV) Z06-ZS—18 ON1d ONL3N —
(1-91098 dWV) LOG—ZG—18 SLOVINOD HOLOANNOD -
(z-8¥198—1 dNV) 006-ZS—18 y3IQVAH DD 0L —
IONIMOTIOH ¥3d SV MOOLS OINI MOvE NOIS
ONv (Z W3L) Q¥v08 HLUM g3INddNS ON1d ONIUIX ® SLOVINOD “¥OLO3INNOD OvE "9

‘(A1BN3SSY OL HOINd QHYOB NO ISIXI ATINIHHND AVA
SNOLVYILY INOS “3LON) SNOILONYISNI ¥3d SV (9 WAL) SHNM 3IAONIM/TIVISNI S

“WVL30 NI NMOHS SV (S W3L) Si¥ TIVISN! ¥
"€ W2H ONISN ¥ WAL TIVISNI 0OV ONV S¥DLOINI DUSYId ONUSIX3 3AONIY MnN
TBAIT 1S3 WILSAS IV ONINWYYOONd HO4 3OLIS NV (1 W3L) +2n 0L (£ W3L)
T3SV 0OV ‘GEV0E NI TIVAISNI ONV 1381 31VINJO¥ddY aav ‘(1 W3L) £z ‘9zn
‘GZN SNO¥dI OL SNO¥J3 YILSVA NOYJ 3DMNOS JUVMANLS 40 NOISH3A INIUYND AdOD
“T1GVIONVHONILNI 34V VI09S8d00 ONV 109S81dAD 4

:S3LON

——

5.5

~

Fita




SCI-TEC Instruments Inc.

Title: MICROPROCESSOR (COSMAC) PCB ASSEMBLY RevDate:  94-02-14
Rev: 4
DCN: Drawn: Checked: Approved:  |QA App'd: Dwg No.: BA-E52
673 DF
ltem | Part/ldent Title/Description Qty | Qty | Qty | Qty | UotM | Ref Des Remarks
No. No. /B IC D
1 90-57-250 IC, Eprom, 2K x 8, CMOS 400 EA  U24U25U2,  NatMM2716Q-1
u27
2 9098150  MicroProc PCB, 4K RAM, 4.8K ROM 1.00 EA
3 7722050  Rivet, Dome Hd, 3/32"Dia x .24" Lg, Alum 2.00 EA
4 82-10-163 PCB Ejector, 1/16%, SS 200 EA
5 8809096 Resistor, Carbon, 8.2K, 1/4W, 5% 1.00 EA Rt
6 99-31-261 Wire, Hookup, #24AWG, Solid, Wht 0.08 FT
7 BM-E105 Eprom Label, Micro Brd, U24 1.00 EA
8 BM-E106 Eprom Label, Micro Brd, U25 1.00 EA
9 BM-E107 Eprom Label, Micro Brd, U26 1.00 EA
10 BM-E108 Eprom Label, Micro Brd, U27 1.00 EA
11 BD-E109 Brewer RCA Firmware Source Code - REF

Page 1 of 1

Fita 1.8.5-7




e

RG

RCA COSMAC Microboard
omputer

CDP18S601 <c/-72c#90-98-/50

; KFSREIRPULE
0y

S S

L aeswasents
PR LR
]EECenaas

L 2L
s ¥

Solid
State




RCA COSMAC Microboard

Computer
'CDP18S601

The RCA COSMAC Microboard Computer
CDP18S601 is a versatile computer system on a single
4.5 x 7.5 inch card. The card contains a CDP1802 CPU,
a crystal-controlled clock, read-write memory, parallel
1/0 ports, a serial communications interface, power-on
reset, and expansion interface. Four on-board sockets
are provided for read-only memory enabling the user to
select 4 or 8 kilobytes of mask-programmable ROM or
EPROM, depending on the applications. Because of its
CMOS design and low current requirements, the power
supply and cooling requirements are minimal. The
CDP18S601 Microboard Computer is designed to pro-
‘vide the key hardware for various microcomputer ap-
plications allowing the designer to concentrate on the
software and special requirements of his specific ap-
plication. The CDP18S601 is plug-in compatible with
the RCA COSMAC Development System 11
CDP185005 and the RCA COSMAC CDOS Develop-
ment System CDP18S007 facilitating prototype design
and the debugging of both hardware and software.

Component Features

Central Processing Unit. The central processor for
the CDP18S601 Microboard Computer is the 8-bit
silicon-gate CMOS RCA COSMAC Microprocessor
CDP1802. The CDP1802 has 16 general-purpose
registers each 16 bits wide. Any one of these registers
may be dynamically designated as the program counter

ADDRESS LATCH
AND DECODE

Features

« Low-power static CMOS

« Operable from single 5-volt supply

« Current required—10 mA (typ.)?t

« High noise immunity

+ 2-MHz crystal clock

» Compatible with COSMAC Development Systems
» Stand-alone capability

« 4 kilobytes of read/write memory

« Sockets for 4/8 kilobytes of ROM/PROM
e Power-on reset

» COSMAC Microprocessor architecture

» Flexible memory and 1/0 expansion

20 programmable parallel 1/0 lines

« 4 flag inputs

+ Q serial data output

* RS232C or 20-mA serial 170

* 65,536-byte memory space

* 44-pin system interface

« Temperature range — 0°C to 70°C

« Small board size—4.5 x 7.5 inches

tWith CMOS ROM and RS232C serial interface.

thereby giving the system multiple program states. Each
register may also be used for data storage and as
memory pointers for subroutines, 1/0, stacks, and the
like. One register each is designated for DMA and Inter-

SERIAL
I1/0
INTERFACE

s i .

: NU G ot BUS
Aoonssé-eus‘> E

— 92CM-31449
i v . i G

PRATICR N SR & ORI

A ik

Block diagram of RCA C

OSMAC Microboard Computer CDP18S601.

Trademark(s)* Registered
Marca(s) Registrada(s)

Printed in USA {180

) e oA Supersedes issue dated 6-79




rupt pointers. The CDP1802 provides a serial data out
connection, Q, and four external flag input pins, EF1
through EF4, which may be used as test and branch con-
ditions independently.

Memory. By means of eight MWS5114 RAM’s, the
CDP18S601 provides 4 kilobytes of CMOS read-write
memory. Four sockets are provided for four or eight
kilobytes of non-volatile read-only memory. RCA
CDP1834 mask-programmed CMOS ROM’s or 2708,
2758, or 2716 EPROM’s may be used in these sockets.
Each of these memory types may be placed in-
dependently in the 65,536-byte memory space on one-
kilobyte boundaries. .

1/0. By means of the CMOS programmable 170 In-
terface CDP1851, the CDP18S60! provides twenty pro-
grammable 1/0 lines. The software customizes each of
these lines as input, output, bidirectional, or bit-
programmable with or without unique ‘‘handshaking”’
signals for each application. A serial communications
interface, provided with both 20-milliampere loop and
EIA RS232C capability, is driven by the Q and EF4
serial 1/0 lines of the CPU. The baud rate and the data
format are determined by software. Edge connectors are
provided for the parallel 170 lines and the Microboard
bus interface. Right-angle header connections are pro-
vided for the serial communications interfaces.

Application

The COSMAC Microboard Computer CDP18S601
may stand alone and be operated as a complete system.
Power may be supplied through the Microboard Bus In-
terface connector or the parallel I/0 connector or wired
directly to the board. It may also be operated in con-
junction with other Microboard System components in-
stalled in any location in the five-card Microboard
Chassis (CDP18S675) or in the 2S-card Microboard
Chassis (CDP185670).

The low current requirements of the Microboard
Computer and other Microboard Systems components
permit operation from a simple, compact wall-type sup-
ply such as the CDP18S023. No cooling fans or heat
- sinks are required.

The CDP18S601 Microboard Computer may be in-
stalled in the card nest of the COSMAC Development
System 11 CDPI8S005 or the COSMAC CDOS
Development System CDP18S007 in place of the CPU
Module to facilitate software and hardware develop-
ment. This feature substantially expands the designer’s
debugging capabilities by making it possible to debug

RCA

MICROPROCESSORS

1800

the software of a specific application concurrently with
the use and testing of .the hardware on the CDS. Other
development systems allow only software debugging,
leaving it to the user to transport the software to the
hardware under test. With the final Microboard hard-
ware configuration imbedded in the COSMAC
Development System, the application software and
hardware may be operated together in the optimum
situation for analysis and improvement. For example,
RAM may easily be allocated in place of ROM, thereby
saving much time that might have been used in pro-
gramming PROM’s or EPROM’s.

Specifications

Memory Capacity

On-board RAM: 4 kilobytes

On-board ROM/EPROM: 4 sockets for up to 8
kilobytes.

Off-board Expansion: Up to 65,536 bytes in any user-
specified combination of RAM, ROM, and EPROM.

Memory Address Map
On-board RAM: Any even 4-kilobyte block.
On-board ROM/EPROM: Depending on type and
quantity of ROM’s, any 1-, 2-, 4-, or 8-kilobyte block.

1/0 Capacity

Parallel: 20 lines each programmable as input, out-
put, or bidirectional.

Serial: One input, one output, choice of 20-mA loop
or RS232C. User-programmed baud rate and format.

Operating Temperature Range
0°C to 70°C.

Dimensions
4.5 inches X 7.5 inches (114.3 x 190.5 mm)
Board pitch 0.5 inch (12.7 mm) minimum.

Power Requirements

With CMOS ROM’s, with RS232C: +5 V at 10 mA,
typical operating

With CMOS ROM’s and 20-mA loop: +5 V at 30
mA, typical operating

Optional voltages used only for RS232C interface:
+12to +15V at 8 mA, typical
~5t0 —15 Vat 8 mA, typical

-3-

/

L. 1.€5_%




190L¥IE -1026

(=] o O 0O [
© P EEEE
[ [ H £
Yy (-2 - [~ -1 o © O ©
.v__n__u__ :_ o T N u L
p P P Y T v vV
NS o N-QEW e o1 N-oun ol € 21 1 v el 2] 0l
gijp'zfrs|e's] .
33 IM]
-] © 9 o o o{* cn-z2in PfeTe 6in-91n 5i
4 R T 2
x v v vV qdqvc]]iulsici r...._o_»_v_n_m__jo.o
PHPP> B pP B
<’ RETEES| | ) mEmmsl) 4
[*Y]
Q R RAARRAARS z
£
C 3 2
Q z
M ——— — —— —
- N
) 1
[}
rSin-o)
8rbin-ii|

L'en-ail
w..us.m__

Logic diagram of Microboard Computer CDP185601 - memory portions.

o.x-._w.n_ vigl 21 11016
f < C.

(4498100

Fl& 7.85<6

2

-13.




PARALLEL I/0

INTERFACE
TPA-P3 132 + v
SELA-P Mg MRO-N 5
38 MRD-N
- PB -
- S I T =
DBO-P -3% ARDY-P-P2-29 N2-P
oBI-p (33 ASTE-P P2-27
082-P ADO-P P2-25
D83 P Jg. ADI-P P2-23
DBa-P 132 Ap2-P P2-21
0BS-P --33'3 AD3-P P2-19
0B6-P l—-s- AD4~-pP P2-17
DB7- |29 Aps-p P2-I5
CLEAR-N 28 Ap6-P P2-i3
INTA-N (21 AD7-P P2- 11 LK1
H R £y
P2-9-BROY-P - -1 O—INT-N
P2-7-BSTB-P (24 gs-p p2- 8 [ic
P2-5- BO- P £ B4-p P2-6
P2-3-BI-P 122, g3. -4
21 82-p P2-i ‘O'ZC u30
L
EFI-N
la
R2
—AAA— 24c uso
10
pn Y
2MHz =
_ﬂ}__wu out ' [—EF2-N
PI-13 o
. i OPTION 29 us )& c
. +V -'—f—_l____.f erov-p—E-9 ° uso
1
v i 22pF
I H x
40! L = | 92CS-31466
5 —_———
WAIT-N
(P1-10) T e 22— OMAT-N PI-1 :
PI-60-b —zd Y39 [ OMAO-N PI-2 ol
Pi- -p 126 INT-N P~
Pi-gl gcc'oq»Z ,gg; | 33 }n':vTR-':q ,;.'-4‘” Nner 2 CUTRERT
CLEAR-N PI-5 MRD-N— %_ TPA-P P|-A Ji-3 oUT
(PI-9,P2-16) zlitggtz—ﬁ- 1 33_ Isa;P PI-B 921
Pi-J 035-P—!.% 3 fe e pi-u J2-10
Pi-H DB4-P—'— A5-P PI-T SERIAL X/0 =
<h ggg-»—'z— 122 pq-p pI-S INTERFACE J2-6
- et A
LK37 PID oen-p—:“_ 127 p2-p pr-p J2-7
8 A PI-C DBop—L3] -?g—AI-P Pi-N 42-8
e N2-p —iT) (24 po R ot Q-P—y
wl ceu EFI-N PI-i7,P2-33
::-l'i »:‘16? S - 2 E;z-m P1-18,P2-31 L RS232C 3‘2“3
- - 22 £F3-N PI-i9,P2-26 -
= -2l Fra-N - 5 out
92CS-31469 -5V/-I5 v 92CS- 31467
ALK‘S
Pi-X —a——0— EF4 ~N(P2- 24) LK36
N~/ o 7 R?
~ EF3-N—0 R8 EIA
P1-20——C—0— 412 V/4 15V (P2-34)
c D ® ; VWW—J2-2 DATA
crand & le 1 cm IN
PI-v,21 +V (5 VOLTS) (P2-30) 4 N—o £ 9 cR2 - Re
Pi- 1l -5v/-15v(P2-32) ->—¢ LAAA~ JI-8
ok I !
o 37 e
PI-2,22 (P2-2.14,18,22 AND 28 2 DATA
: =+ e Ji1-4
92C5-314¢4 %
NOTE
WIRE JUMPER WJITOBE INSTALLED
$2CS- 31468

FOR RS232C OPERATION. USE HOLES
MARKED CS

Logic diagram of Microboard Computer CDP18S601 - CPU and interface portions.

Information furnished by RCA is believed to be accurate and reliable. However, no respon-
sibility is assumed by RCA for its use; nor for any infringements of patents or other rights of
third parties which may resuit from its use. No license is granted by implication or otherwise
under any patent or patent rights of RCA.

-14 - /
Flée 1‘7.’5.5;—,’7




BREWER MKII & MKIV Spectrophotometer Maintenance Manual

BREWER REFERENCE DOCUMENTATION

Section 7.6 Optics
7.6.1 Instrument Optics C61 : 7.6.1-1
7.6.2 Foreoptics FO1 - , - 7.8.2-1
-LampF96 7622
- IRIS Actuator F106 | 7.6.2-3
- Zenith Driye F71 v 7.6.2-4
7.6.3 Spectrometer SO1 | 7.6.3-1
- Shutter Motor S11 _ _ 7.6.3-2
- Mecharﬁcal S§02 7.6.3-3
7.6.4 Photomultiplier PO1 ' 7.6.4-1
- Tube Assembly P02 . 7642
- High Speed Amp P23 7.6.4-3
- Dynode Chain P25 ‘ | 7.6.4-5

- Photomultiplier Housing Assy P42 (MKIV Only) - 7.6.4-6



Z 19D-S8 N
wooan B = : o= Hav,

I ¥N HILINOLORAOULIILS HIAMING

STILHO ANIAMNHLST

190 -v3
ouf suswnasul 931408
WOy uciISsIuLEd USNUM INOYIM Uog
-onpoid Joj PESN 10 PaIdoD ‘SiBYJo O}
PaSOOSIP 3G O} JOU §1 JUBWINOGP S|

2861 O

2/-99 s yu4 ‘ToN voy
QNwIBwNKQE t?E.Q\SY
JAING AW

ANd

Hevd A5
Qe 3INOZO/BH

ST NUECHL dNNYT
NIDCIYH  MNOLSDMNOL

SNIT ZLEvND

WSiag
AN
'
4 e
1 / -

Nea i ~a
NG .
- NSRIg - -/
@ TEVLVLOY
i
[ BRNIM AN
H
!

8es NOC

NSV LS LxX3

SN
O%HI-YOSIN 4
Sy ThlF

n-on :

AN g -
-
\\
ONILYLON

S
PrLYLoN 4 On

25114 PN Zvviog
/3Lvd 2LV

P
-
-
-
.

3gnL

BNMIIA

Fia T.6.1-1




. DNT160-VE IMANTS
o | T \ Nl GUAIGS nanso (XINO 8/190-v8) ¥ W13
N/IMA ¥3M3YE ASSY | o= i s o s vt
AvOIld0 3L37dWOD ] SO ) Taev @ @@ g @
TUW [(eeress s wmp) secuoip) | MY [y
AN
\ “1350Vd8 ONUNNON 01
/ = 5 SHOLOINNOD J16vO ONUNNOW NIHM ATNO H3HSYM 1v13 L 38N Q
] '190-vB NO DSF A8 AMVA AWM
a] J10H 3HL 40 NOWSOd 3HL :3LON .m@« W3L) ALY ONISN 33v1d
NI 38235 GNV J10H OiNi (8 W3L) ASSV HOLSINNIHL TIVISNI Q
(OEN/ SN
= s
=
g8—8 NOWD3S ® v-¥ NOILJ3S
8/190-v8 ¥04 v vL3d J
33S 'NMOHS 180-v8
JL=" :
o o M
. =
i A
®© ©° Q
<} o H

”wu\g o N

WA

b = !

Wz 72

sre LZ WU 730 ‘28 NAU 9HD

£180°56|

I Z .2 g
] 90'10°26) 3 1S OL WIOOL INI MOud oL Wi 90 | ot @e
™ org 24/L NOWd Z/i OL ST W3U 9HO 6
Y] 5 WV QIS "DHO WL 0
] 5 § ‘v SAIU GOV L
w8 617 8/190-v3 00v ‘8/C+H~v8 B E]
Y s0v 1724 SN3U DO T WGL OHO S
vy 855 £4'14°y=Z SNAU 0Q¢ v
v ore 33 Vd © mm
o Srs € 20N aav ‘1 2108 ey iz naw oav| Z |1
" YOLZ8| o | 1#8-22900 S3V Sk - 3ISYITY WUNI | 1 Wm
[adav|wwa | v WENW N0 NDILAINTS30 |~ B

FIL"" 7160'—2




SCI-TEC Instruments Inc.

Title: BREWER COMPLETE OPTICAL ASSY Rev Date: 95-08-15
BREWER MKIMKIV Rev: 11
DCN: Drawn: Checked: Approved: QA App'd: Dwg No.: BA-C61
745 FV
ltem | Part/ldent Title/Description Qy | Qty | Qty | Qty [ UofM | RefDes Remarks
No. No. B C D
1 BA-S01 Spectrometer Assy, MK 1.00 - EA
2 BA-S01B Spectrometer Assy, MKIV - 1.00 EA
3 BA-C62 Main Support Frame 1.00 1.00 EA
4 BA-FO1 Foreoptics Assy, MKII 100 - EA
5 BA-F01B Foreoptics Assy, MKIV - 1.00 EA
6 BA-C1 Light Cover Assy 1.00 1.00 EA
7 BA-W52 Thermistor Assy 1.00 1.00 EA
8 BA-PO1 Photomultiplier Housing Assy, MKII 1.00 -~ EA
9 BA-P42 Photomultiplier Housing Assy, MKIV - 1.00 EA
10 BAP44 Filterwheel #3 Housing Assy - 1.00 EA
11 BM-C70 Options Connector Bracket 1.00 1.00 EA
12 85-10-150 Adhesive, Sealant, RTV 1.00 1.00 ML Dow Coming 3145
13 81-90-620 Connector Slide Lock Post 3.00 3.00 PR
14  83-79-072 Screw, 6-32 x 5/8°Lg, Skt Hd Cap, SS 1.00 1.00 EA
15 83-87-211 Screw, 10-32 x 5/8"Lg, Fit Hd Hex, SS 1.00 1.00 EA
16 83-87-194 Screw, 8-32 x 1/2'Lg, Fit Hd Hex, SS 1.00 1.00 EA
17 83-79-070 Screw, 6-32 x 1/2°Lg, Skt Hd, Hex, S 200 200 EA
18 83-79-114 Screw, 10-32 x 1/2*Lg, Skt Hd Cap, SS 200 - EA
19 83-79-119 Screw, 10-32 x 1"Lg, Skt Hd Cap, SS 400 - EA
20 83-95-607 Washer, #10, Internal Tooth Lock, SS 6.00 4.00 EA
21
22 83-95-749 Washer, #6, Split Lock, SS 3.00 3.00 EA
23 83-79-122 Screw, 10-32 x 1-1/2"Lg, Skt Hd Cap, SS - 4,00 EA
24 83-95-750 Washer, #8, Split Lock, S8 - 6.00 EA
25 83-79-084 Screw, 8-32 x 1/2°Lg, Skt Hd Cap, Hex, SS - 6.00 EA
Page 1 of 1 Flia 1.6.1-




it 7.6.2-1.] |,

LT | — — Tmel ] —
‘o8| iwmus DAREUBNS JIVOS| m soia
104~V ; -
8 1SSV SIHLIO 30T |
‘OM AWVarON N WAL | seenvisweL ] K
S S 54108 a1 - "
e | O e L e -} e )
T s 20 I4I-10S .& wavee - :
o 0 . u\&ﬂ_ el TnmsYR .
9
L
2 XSt
-
S s e g e s gy 3
W 0 G PP B M DO D
WKW Sg) wosme (uP ane hame {2 vl Avy sy aa g L
o f— -
—
2 0 (0 Weel Sameess Sk WG 23 Samg) Sengien PuB SuAEe Bageh (9t g G edieg SN D
VY g Iy
s S St 30 P B SR S0t 0t 0 G0Sg oo gy 08 prbney " 104 trang 7Y
‘g ooaihs ) R
dooy ooy T
o dowy. A o ey ferany A 2y
o 5n Sy 4 15 ¢ W) oy Gatery) oy S0 08 P8 & e Mooy oL SO Rey 08 pea b
LT
-
n“j/ +
- HHe—1-
T g D. 14y
i ' .
1 H
e ————————atsc—
WUYNFHIS IS 3744738
| J
L3 .
741 R
7oAk 123074 $7SM?q | L S5y Livdd(] . .
AT oo5-ra | 2 PIS3Q Y WS, e G 3 B ”—
Kz Lir-eo-of £1$0-r0 | & 78 V7 Sz ] ToreE 3o ¢
¥ ' 5] 614 -89 oLE-wx1 ¥ “§1°0 BO Y Y AL D WIS . .
\dw@ Ww rav 5E-rN | € Jitdeal, POVIR' T o1 FRIGN Gev w w
= ] E] ore-0-coWBC O3 S|P
Ce-rp -000 [ e lriddljm
o] uve ..-Il!’-ll...ﬂ ] »o1enorse u

P




SCI-TEC Instruments Inc.
Title: FORE OPTICS ASSY RevDate:  94-02-18
Rev: 8
DCN: Drawn: Checked: Approved:  [QA App'd: Dwg No.: BA-FO1
674 RKF
ltem | Parvlident Title/Description Qy [ Qy | Qty | Qty { UoftM{ RefDes Remarks
No. No. /B G { D
1
2 BAF0O4 Front Optics Tube Assy 100 1.00 EA
3 BA-F06 Rear Optics Tube Assy 100 1.00 EA
4 BA-FO08 Fitter Wheel Housing Assy 100 - EA
5 BA-F088B Filter Whee! Housing Assy - 100 EA
6 BAF9% Calibration Lamp Assy 1.00 1.00 EA
7 BA-Fi06 Iris Actuator Assy 100 1.00 EA
8
9 8190630 Lock, Connector, Slide Retaing 200 200 EA
10 50-10-030  Stepper Motor 200 200 EA
11 8885653  Gear, 48P, 20Deg Pitch, Nylon 200 200 EA
12 8146-124  Connector, 'D', 15 Pin 200 200 EA
13
14
15 83-79-048  Screw, #4-40 x 5/16"Lg, Skt Hd Cap, SS 400 4.00 EA
16 83-95-748  Washer, #4, Split Lock, SS 400 4.00 EA
17 83-79-047  Screw, #4-40 x 1/4"Lg, Skt Hd Cap, SS 400 4.00 EA
18 83-51-786  Screw, #6-32 x 5/8°Lg, Bin Hd Hex, SS 200 200 EA
19
20 83-95604  Washer, #4, Internal Tooth Lock, SS 400 4.00 EA
21 8395605  Washer, #5, Internal Tooth Lock, SS 200 200 EA
Page 1 of 1

f’:c—, 7.4. 2-1.2




Z 964—-v8 N s + sowzu \ P . 10D {au~0 anv HUW NVFI0) ‘ASSY

Ay Ll = B e gy WAL SINRCUION 0 T4 3 (iZ ¥ 016 SAIV1 ONY SNE1 NSN3 8
ASSY dAV sl = SN {62 1) ALY SNSN TIOH NI SR 3UN03S USSY waw N7
NOILVH8ITVO " S3HoM o GV {(£Z ML) ALY HUM SOV3) ¥3A0D *(8 MGL) IDKOS

UL [(Prre e wom) S2owAwL| W ) &Ssﬂgﬁﬁaﬁqﬁguﬁnzwﬁgguﬁaﬁ_&@
- e NOHS SV oy o (cz
gﬁm%“s ONI mEu::EWz-_ (woupu) m:ai_ah:.n.em u-““ gz”nqu._. W 3N03S 04 (! :usAZz um:@

o el - e NNOD NI DNITVISMI OL NORId (2 PalL) WL M3A0D OWV (1L QL)

o S wi 3 [-1)G 02 oy Doa [ T 3wos ABOWH W1 40 S3tM 0 S0 Ol (ST MG i 30 S0 2~ 3nas N/
ON — “JMVMONYH UZHIO GMYOSK "NMOHS

v | sxivasy NOLLJRIOSIO ON susn | ON Lavd | wn [i- SY MHSVWIO0T 3N0 ONY ABHSVMIVLY 3NO HIW (€4 BL) SIS0d TvISNI ¢/
ALD ‘L WAl JO 3IOVINNS G3ANND 40 NOLIOE HUM HSI 3OS 0L ONVY SNIY

ﬂgueﬁnuﬁuizo:.!gﬁ.u?ﬁuvghxﬂmauug@
‘SINAI0 ONIDOT LNOHLM FUVNGNVH TIV NO (2T naL) MO00V3YHL 3SN °i
SIUON

ALIMYIO 304 NMOHS
ION 3¥VMQHVH 3NCS

V=V NOILO3S Tvilyvd

0l TS

9 X8 vd 0T
sSxewor °

]
S
L)
:
L]
T
|

¢
OO NM+~ND -

(1L N3L JO Lavd) A VYO @1 Z X8 V9 02
(1t raU 40 vd) JE vo 81 &L X8 WO 02

A4 |60°907Z6 8% T UON OHD
Y| Ad 90714706 _e—— 35V WUN

[Odd¥i'NMT | 3Lv0 YIENNN NOQ NOLLGI¥OS3a

(zL naw)
NNOD Nid 6

o]
.
EE
C ]
g
i
|

g

File 7.6.2-2




A3y 1330S o ¥ ST o ® STONY
O XN w0 F o

A18N3SSY S0 v e 9007 ¥ o HSINU

L 9014—v8 s ! W/ ® o SN0 CAVeaNED SiNdNGD
S o “yL NIL ONISN SQVIT HOLOINNOD W3S ATBNISSY mmF.zQ

"S3UIM ONIddVRIM—IIL ONV HOLOINNOD OL ONNEW3SSY OL HORd

HOLVNLOV SIy! wn SIOM__| B | Gdav NMOHS SV ¥vE ¥30VdS NI STIOH NYHL SIMM NOSN3S w%uﬂﬁ
ITUL [(Peapeds sspne mawn) S30U0BI0L D
o sumunsey 308 ON| SININNMLSNG | (SSUPU) WIS WNO A Ad NAD S3LON
mms oy hﬂhﬂﬁim%.”m -y SIoNT NI SNOSNNIO [ 17098 aiva
- Ry 2310553 10Iove  ASSY DGN| Tt | TS
ON =
e SHYVNIY NOWJRIOSKI ON SN | ON tavd | W [I= ] 03so10
r)
N3d0

DILVW3HOS
= ¢ |
Ny9 ¢
NYO st
e ¢
NY9 9
r&éE—-r—=-r T r NéOo £
e e
s
vy 1 43 I J
o 8
rom ot
e T
e e |
hacad [ M
£

\ z
L xa
¥OION JO 3SvE

1SIUVAN Z % L S0

SrQ | 40 |¥1'ZO'YE PLINDQ 43 NSS! LSy i

9014-vg
"ON_ININN00Q

"Qddv{'NMO | 3ivd Y3GNNN NOO NOLLdRIOS30 AN




(S A3L) ABA3SSY Wv3S 0

uou._oxz_,__ouEEzﬁe,zuoaozo<85n_.>.ﬁzumm<Et<Q

"TI0H ONUNNON XS.0 M3A0O 1ON 00 A3HL 3uNSN3

‘SF WU ONISN HDSNIS NONi SIUIM XOVIE ¥ 39NVNO NWOD u:.a@

‘A1GNISSY OL HOWLLY ONY ¥Z ¥ ‘04 .nmzw:ga@
‘S N3LI HUM HS3N OL

ASSY NO (£ ML) HVD HSYDIOVE-LINY NO SONMJS NOISN3L-3¥d

SIUON

wa [Lvovs [ {0 va) W30 90 [
sra | Ad JOLTOYE OLONDQ (44 naL) vOION DD [
o | A arTite N0 ISS 04 DE MEll BHD ]
w | A jireoze 00ONQ NOO T35 DHO HOM MMVNOIM 3
v | Ad 0TR008 =] ¢ 1t W Ll OOV *
v [ %O [eT it canol T 2N O TYIvDYes W B0 |
i | WO [IT0I98 SN $1 4 OOV 't Alb 02 "M T v
@ | KO [CETIAR YOTROQ =K © Wm
™|« [0 ZIN0a OO 336 3
™| % [l 61100 00 T %
focv| wa [ auvo | ameww woo NOUNIS30 | B

1z IW0S
v-¥ NOILO3S

2NN
25

_ ﬂmx\\s @)

-

OUVN3HIOS

7-4

V:/—' -7/A



) ¢ ' 9 N s’ . 14 . €, 4 3

\ ot | [ \ ]
F] _ 10S-va ;_,.:.:.:..3.,._ ' :,..Lx.,_ esilep | 5 seduy - wo— - ( Qorep isdk 3%3 OS-Vi-ah F0d WAGTCI4 LA WLV rRINM Ll ||||luu_¢ Fd ATvo. |
= momw. 3 1mu s {2 polaiddy © (5080 LrawronY Wevad WALK) G5-W-dY ™ QIWPHG 3V I AW 040 (FTY T ANZQY °y i
|owpep g - -
ASSY 2ILIWNOILDOILS 20'F pwep | & uesug fﬂ\ - t<— u\ ‘LTS TIHWALINE OV OVINOE WWINOZ Ml ST TIVISM LW YT R 19 Sve o —_
Zo/1 3 suoreunp jouoiaay 3.:6 P e W W UM davriv w9 KTIL @V 50 1O XaWS VOIS (3l L) Fareva Y o - )
PR St Simawnatsn | PRI SnaIsye s1ejun’sedunssl0) <o, =S ron (2 o) semd vy risl NGad LD ewn TSt 153t 'sve1 rousver TrasN A g .
B S IR e T R e o Gunn - o ™
it b o Ao b A L4 gumeig] T "Ndg) . U W roxd n’;sgﬁ!itﬁ%aﬁggviq!gs«i 2 1 -
Y o3 nd, (vembs) 924 2 é
e [ o ssmamed 3. So 92 vk rowd
VL rrovinpd :; J _nﬁ#-xd.. il b Adaias it 5300N .m
vy Mo QaN | axsv LY Y Lavd \l w b S .
T ommvwmaosi oh | Bowr o] " v/195 -v8 105 . . O
. - i g
s wer oop %, | B w1 e | 9/ 195-vd | 9/05-vi Jro 8fesva(S) . ) ' fH
. v U
A0 1958 (1)~ . Y
A < : 2
2 J=I x i .. . .
12iee N 1l : l.qAE 1 . =
1 . ’ - \ — - » _ﬂ/
] = . = = » )
& : (491) ™oLYOT )
W TMINS AODIONS 6t
»
@O—r
<
&' oM ’ﬂ
WD INEIW JIY o #01) ek
. .
I . :
iy LIVTHNGOY F2idy A
[ 764} -
e Prig v, —" : : 12l
Mocooald . - .
= Y ] .
inl \n\ ui ) . ' 2
1 (1
' | 3son 338 ’
1 33 1) G )2 dwon Bs
»IS 22| SH MIFIS YOY WILYO 104 ey nyeL WY | 9
20 | DLes| tY [ odmmt 9/105-v8 GOv 'i/106¥E suom we-t| G
S i S S » ¥ 3L0N GAY TENY Wiweyuw myIaa| ¥ -
SO VTl 7 r o & :
R (220 pi Y T - §
w/rse| VLsM wy a6 TTVM-" . JOD RO 2z
DL — | — DM MIN 1
- T
.veoﬂ) 90 lp.ddy| uoydidteq puo uoisiaey onﬂ_
awsod o ' u ! ol T N ' 8 ! ¢ ' 9 ' s ! v i ] ’ z
o A
A LA




SCI-TEC Instruments Inc.
Title: SPECTROMETER ASSEMBLY RevDate:  93-05-21
Rev: 7
DCN: Drawn: Checked: Approved: | QA App'd: Dwg No.: BA-S01
652 GN LV
ltem | Part/ident Title/Description Qy | Qty | Qty [ Qty [UofM| RefDes Remarks
No. No. B | /€| D
1 BA-S02 Spectrometer Mechanical Assy 100 1.00 EA
2
3 BA-St1 Shutter Motor Assy 100 1.00 EA
4 BA-S51 Grating Support Assy, 1800 Line 100 - EA
5 BA-S51/B Grating Support Assy, 1200 Line - 100 EA
6 BM-S42 Correction Lens 100 1.00 EA
7 TP-BA-S01  Acceptance Test Record, Spect Assy - - REF
8 LP-BA-S01  Optical Frame Alignment Proc, Spect Assy - REF
9 BM-S47 Spherical Mirror 100 1.00 EA
10
11 9810010  Sheet, Closed Cell Neoprene, 1/16%, Adh Back2.00 2.00 S
12 8395830  Washer, Flat, 1"OD x 3/16"ID x .015"Thk, Nylo 1.00  1.00 EA
13 83-78022  Screw, #4-40 x 1/2°"Lg, Skt Hd Cap, Nylon 400 4.00 EA
14 83-40-237 Nut, #4-40, Hex, Nylon 400 4.00 EA
15
16 85-10-145  Adhesive Sealant (Loctite 242) 0.10 0.10 ML
17
18  83-79-049 Screw, #4-40 x 3/8"Lg, Skt Hd Gap, SS 200 200 EA
19 83-79068  Screw, #6-32 x 3/8"Lg, Skt Hd Cap, SS 100 1.00 EA
20 83-79-051 Screw, #4-40 x 1/2"Lg, Skt Hd Cap, SS 400 4.00 EA
21 8395748  Washer, #4, Split-Lock, SS 6.00 6.00 EA
22 8395605  Washer, #6, Internal Tooth, SS 100 1.00 EA
Page 10f 1

Fic 7.6.2-1.1



g ‘Amu [T do T . mvos] ]| s
‘$81|  iusus BOESURINS HIVO8| Wi 'ewi0 . Ciova ts-va ‘ewsa
ASSY HOLOWW MILILNMHE NAOHE BY DIAHDN GO0'E Q9P G LAWHE NO BNLLIS TVN3LY
B A" - ANY “aid LAVHG, HOLOW ML OO SMIEOR L3S roa OV
*ON LUVJIrON LNEWND0Q : maiL | “saonvumios HSiNu 0% 136 39 OL (T N3LU) YIALLMHS IO TNNOUKOd TVIOYY VUM °v 7\_
: - . * =5 e : : CBACRY  DVWRLS !
fiq”ﬂ%ﬂr ‘ONI SINTWNLLEN] FI T owmo Lt 44 ONV NMOMS SV AGEY dMWMzoI WILLHG WM T o
Bk = *2HS  ILILOON v MIHSYM MO0 :
POSCIONP 8q O) 10U & WWNOOH SRLL -
zee1 © ' U.N.N N.UM. l —— avadl HLOGL TYNHIAN ML G3WI01 EMAWDIST TIv NI 3 /m
B i e -5.._ VINELYN ‘ : ‘2 WAL TUSHLS0 NS B QL BeYwea —I
: B A0 ALTNR9snd onN BIOSND QL ONTING .
WOMS ONVWINGD LN,  DNIEN e d b onoma WU camimen b 08 NG
ANV O3NS UAMOd HLIM INOO QAR Y? W T QBNG QS Mg TNV —
“ S! ODNINOWISOd WIGYY N4 T NN RBOTVYINNS DY QL AGNESSY ABNSI™NG | u
(HOLOW MLV QINAINS TaiIM 40 HUBNTY ‘X4 T60) . ISALON
_ LN TwaioY R E O°9
he-va
‘ON LUVdI"ON ‘20Q ‘l

2 18 hpsd

_m . u _ * : A, NoLISOY, S« (7)]
o _ T LI = ppSD
| £ NOLLISOQ ¢ 1L

. [ I N - . Iﬁ
. n _)

‘M2l o-h-Le| evre -N2a

P 582 -M0-2199

LT 399 [92-N3Q- 6o

! _ /
sma 3lvawn 11Ja Mo o) vabi-ida T2/9's sy s
SNI0NBYIS) & M By
(Svox D) e = -z

N MR b

BrlISe sl AN 2068

2T W] W NSU-Uty

BINY AW B BQuo TNEBMLSS

ENL-N3-ovIGR TN oS @AHoT AR QL PBrEdM ' OT wWRLl

-1 1] Hale

- ! - _ — WA _HE NN WD ER SN .




ASSV TWOINVHO3NW
Y31INOYLI3dS

TuL

MT LUS-VE INMEUY
SN0 TLUWIED WUNINOD

|ty it ma Vi

zo-En-I

HOLON ¥3cdUS ~

nnnnnnn

¥ ESHD
LA BN -]

8 B
=3
e
¢1Ce —
< CEBEEEEE
©), Bl-vmerczea:
|
(]

—®

¢
¢

8L

) IV QNI
gggasubgg;u:ggﬁusméuzgﬁzg

ATV IXIN IHL IV TIVISH 304 ASSY OL (I MELt J0 1ve) 10N C0H HSAJ HOVLY
AING IHOW ¥30Ni4
9 AU DL 3UVNDS GILNNDR 3¥¥ GZ ® T} SWAL NSNS 0L
.:gueazgﬂguggu;SWEgrggﬂﬁﬁﬂguzmﬁsﬁq
§§E’¢m&ﬂgz§¥d

“NRHL ONVISK) 3NVS 3HL ONOJIS 3HL TIISM P dIdIvD HINUIA V HUM 11 3HNSVIA “ISHU
3N0 TWISM 0L ¥ 6 SAGL! NUHL SNMNL £ "XOUdd¥ 36 ONOHS SNOUSOD HIOE NI —nchﬁ

‘OMMVIE BV3H NEHL S! (4 AELI 40 LNG) LivHS MALINONOIN IVHL 3WNSNI 9

6 ML 40 WOLIOS OL TITIVUYE S L1 MGl IVHL JNSNZ §

S IGU 0L RVNDS S (1 KGH IO LiVd) DZS-NE [INOWVUE JHNOdNS YALINONIIN IVHL JNSNI ¢
6 WAL 40 35(3 OL 3¥VNOS GAUNNON 3Mv 01 ¥ 6 SIGU vk SN T

D WA OL RWNDS SI 2} PAU Ivii 3INSKI T

gggggzunnnévsgeégfgg
onv a3 SV S3MM NOSNIS OLdO ML ‘NMOHS SV (i W3L) ASSY HILINONDIN 3 °1

‘SALON

ri z 6

© 68 8 g

/ 13 \®\ee.
__

\\\m @@

//N

(=]
[+

Org ®

/@ LAvBYIE
1]
T2
zfe9) 2
(D @AY

a3 [z o)

w [ Ad {ITSOES

Ad Ad |DT0LS| o,

R G

[ [ w5 [vzores| |

[ [ [soow]

[au {0 [socize] o o Ss00_3%

| 0 [I0L0SR| DSZ—NDO-L088 [

W | 30 [i0zowe| tei~wo0-20% e ——————— \\\WW

R ] DE1-01 -DOFIOE "O'TS S ¥ ]l

[ —— | Wi SVITH_ IR 183
~

Podev| wea | auvo WA 100 UMD .ﬁ._ B

Fit 7.6.2-3




_ i _

‘Agu| 740 nwost ~ASSY AXEN
m ‘SSt|  iaEns 0N O] gyyas| Ni"SmIG
? A —— 172-¥3
10d -vg DNTOOV PROSUTINWQLONG — —
"OM LUVdI"ON LNENNIGO : FILIL]  sEONVUIIOL HEINIL . .
7, A v . P
o O e 93,108 ONI SINTWNEESNE c.w .Hu (VS FAL F90GYIAL) NVNS NOTIZL KA (D HAH YIQ) LW4 S0 SAVIML 490) °G
Seaong 448 1o s L DS =Tl 10d-¥S-100Y TIS SRNGIO0HA ABSY B ¥
° .
o —ma| Mve TvsuRLYI ‘@ WEH  YNISN ASSY TYNU NG SMIw08 IV 3ULD0) '
‘BOSEL P 2N DA WM TRI F Dwms L ONS Tusaa
I N ™ Doaus AeSe .m0 TNoUENawed Mo 2
Pl
SRLON
‘el TWINIG INd T oN TWRIIS o AR
HLM DU NN XTTVASN HOWLAY
4

z
oz Zy (]
10d -vg
"ON LW Vd/°'ON*2040 m —— -

FiT.6.4-/

SOONSANN /// // NN NNN NN
N
N
N -
N .
L N -
|
=(on \ F--
NS - d )
DN AN A AN P Y
< z
s o0 @&
A NNE Vb9 €0S Mg S 22412 4 IV 7 H A
W5 |-m2| onls 1SE vz | P |12i0y Wewny Sfd ~O 4M/d daY
A | axjze/mon] aso-wd9-nzg 2 Of1-DI-00pISE 03T SYM
sew vy -ooviak| CTROYRL LSg
‘4dv ['Mmaj 3ava by s NOIL4INOSRT

[y
A



ITEM [DOC. NO./JPART NO. DESCRIPTION ::'?F REMARKS
T3
| B___A:-POE C [PuoTor A 0CTTEL & TTOAGE hres | :
2 |BA-Pab | B UTeAVioLET FuTER Hee Br
>
4  |BM-PIl C |covel , T \
S |BM-PIS C lrems § FioTeR TACUNT \ B
- |BM-PI4 C |HOVEINE | PUOTEMUL \ITI PUG KL l |
T |BM- P16 B liens pETRINES . & LS TR \
S |BM-PIZ B |romefa cuaTmNEE [
o | 85-/0- 145  |AoHeswe SEALANT LCTITE 242 mepium | Ale | S5 T
10 .
Vo | 83-|0-620 ‘S =Lln Rovo-TexlxYie NBR > ASf-ﬁiﬁﬁt:ozo
v | 83-10-628 [0 enaefoze - \Tax 2« Vie NBR 2 ﬁf—ﬁﬁﬁﬁfw
D> | 83-10-638 O eneto38 - 2Yx 2% « Yic NBR 2 ﬁeﬁf’f:;fsa
4 |85 10-644  |§ eme®osd - 3% x BYex Ve NER. | |ARREEBAL 44
\s | 7o-lo-on2 DESSICANT 2ie4 MiNiPAX T 1566M-900/cAl] 2 0;4%1?,%%4;2'&6'55‘_955_
I | B3-95-748 |wAsHER#4 sPLIT LocK SS MED PAT 316 | 3
) | 82-87. |6l SCREW, MACH. 4 -do < g FH. UX.5¢. 82D SS 2
e | 83-51-762  |scpew, 4-40 /e BUTTON WD X SOC.CAP 85 | X
\> | 83-56- (43 |sceew,SET, 6-32+ Y4 coP PI. 55 UX SOC. l
20 | 10-10- 020 |Lens Bifcx &I FSD@TZ 38.1muD,38.Imm EL | | | ESCO
— . —
1 |
bDCAg—E ISSUE/REV.NO. \ 4 L) 4 5
20 | DATE I NG lockel8)-1I-17 (90929
DWN. | RN/ICNNUMBER [0 >" REY. Bl 2ntoon| BEY- A
APPD. lpo | Yo | Ry | ¥
TITLE

080/79/1

\scI-TEC

INSTRUMENTS INC.

PUITORLCTHTPLER . WOVS\NE p%f .

SUPERSEDE

ITEMS LIST FOR

BA-POI

- Fia 16411



| 4

fAmu| T 40 T mvosl Sin|  — | "ASSY XN ‘Syad hLM MTINdTYD  FOLBNNOD  INITON MO
ABEHS BRSNS vas| Ni‘smia TR _ 5 FoNEEe OB 08 e TNISN 1N FALNIIL 9 yiEL shvyseva ary

20d-vg A5 8 oL Y SIE OGNS Oz YGl YM FEIMIEE §) WALl HUM O30S FBHSVIMODA) PUS TV D
‘ON LUVJdI'ON LNZNND0d . B ) "L ...:-.-.olg..or HEId . TINOWIY S

) - X | odev FEOU. 40 ONRINO SAvVd © B

woy uresaoed umon oen o | ONI SLNZWNULSNI Va9 | ame .A_A/o QOB SHrzuS T b DSMLONET  Sdraus ©
porooms sa s wwmsn |, IS =Twwdl — 'ZE WAL 'EJNL N34 HUIM ) WRD 3901 JvIM P

2961 O
S| MY IvLYN CBOSs B aN TBa WUR

QIIZEV OWE DUSYY THUIYD W ™ WOV B Podg
TGOS HLIM IEBM \m.ﬂw.q O TNOUENAINED NO €

SOI V-0 IO Io00d ASSY I35 (@orova) 7

© G3d-68 =ES “TUNWIS TWrid Bona 2dod )
(SRILOM™N

J— QAAVSR LIODHND.
BWl al A3a3dNos SNJd

(o= 1) or o g‘
AITIHG W3IQTOT

21 WIL G2IRS
ol W3NS

' <1 9 20N I35

20d -va
'ON AUV4/'ON "300

g BL 3, 0 RV
8 { oo ot11-t] Ise-hx | ¥ T A N S i
77 | =et|3e/roN|  So0-woo-wze TG 981-J1-00kI6T  Q3IE Svm
ors=" e 2 SWV AS AESIASE DMA
v -aopriar! | TS LD

Fla, Jub.4-2 _




s

g c2a-va g |19
‘S81 HIGNNN| 3ZIS| IHS HSINId

> I &N €8 934 _ . , :
\m.na« "ANHD ‘NG 3iva ; ” , € 3INSSI

1 4]
\
o=, : W AWES v
ASSY  QuvOos 'ST0L ‘swig} - ENACE) €O -DE-COVIGE # D3N , S
arny  J33dS HBIH . FIAWY GBS WD w04
ONI SENINRLSNI LOCAYT INBNOIWOD ~
T34 A . A18NISSY LXEN U@..N..\U% &Il
“ouy suswnsuy DILDE aa =
WOs UOISSILLA USHUM INOYIM LG
-20POIA 10} POSN 1O PHOD *SIAYO O} S 20ie /
DIBOOSIH 854G O] jOU St JUBUNIOP SU{L
zesi @ . ) | ’ D
, *=RIOAD0Yd £2d-NE Op , ,
Azsar byg no AYRAN QY Q3153 wadM Bva £ m g _NDO
-~
aND SI B M4 § AB- S 6 Nd b ASH ST NI . 0zo T+
CSTW O g-$02 7 YWOU & G+ NVIT LNIIND 9 muoo N> +O
. Gio 0
IRV RBVOOS IR cog - bdl 'S gio | 21 VQ
<oPsW Ol Md3IN2  Sovadad NAR o %
UM @S W 9] ¢ 10dre LEMNM YD MW -S4t P o ﬁW& o>
OVNSIS NI, BWy 2 5 bdl ¢ ldb v o = pald 2
‘3 1od S0[0Y AN Of «— ldi 7 mmo PFTIO PN
IS0d =HW 2 Ap~ =~ |+ AlddY .. 10094 -SH- ; %

TAO RS LX3N Al JINOOW YTHM Q3asowas 3 TN SLon
ML r5pid 3HL HVMIYINIOS A043g 6 OL STHd AUDTNND
VIl QW TOVId N SLON NMoe aiert Aavdodran S waul say g
*Qod ML Y
SYIHIO WVZ WI00L 10N SE €1 A0 SWINL IWL MANSHA ¢} :sqon W NIQ&. 10dn NS

anod
A Lol A @ m .
vl LD 21-82 jg€e - g S Norsiazg N d >3
7 | L[5 IR sie-NAd-aee | p o35
7o | rlieadl 23 n m
. HIAWAN NOS ‘AgY ‘ ¥ z
FTadv] NG | 3iva W IGWNN NDINS “ss! NOLLdIY OIS0 o

S g ; IE I I I A EE N B B EE e ‘



Quvoa HAATIWY 03
431 IWOLOHOHLIIS




e
m 2 s2d -vd I J ZE/L ¥ SNOUIVY \n
t g SO ENON INZHNO0A 138 o 3 STIONY o8 F STTONY '
- T EX 10" ¥ ¥ — 4
9y ¥ 500" ¥ wor HSINIS 6%
AssSY NIVHD 3a0oNAd n SO Qdd¥ r~|
[ pTp—————————— BT | oeo .
;! W owR T30 . (620 ual ‘Syad WNo A 0D R @
s cormass e e coa NI SINIWNBISNE §Z05 e Sz T8 < N
LITSTATESN DS 1
o T ega o D 20d -vgd CASSYLGN] ‘Sl | Tv0S oN 23055 F ™ oA Hlim 38V7 anvy

(vsg ‘ovg DSV Dud v ™M bssy JESINT 320lS '

‘SZd-vd-dV JY Is3L Griv Ien3ssY ~2
‘S24-53 oM 9 Wwabvid Slyrshs ol 23432 -1
aLon

oM QN -— PO — ¢ NY
oM GND ~— €D > |~y
PN OND -— 20 — y vid
PN AN - D - g (Mg

(399) voizin Podvdvd

(hmans 10N s37av2) (hmatts Lo spoliovdv?)
MIIN XS M3IA 1Noad
Q9
Q
w g
=
I o] 120158 T > | 513 suomaRa B Oov TaloN a0 |1 g
T NN PR 1SS~ 1voa i 20e51  iswid .%a z
S
“:;‘w aql rua SITAON NOG ‘A3d NOILI¥OS3D




B 261t ® SNOUIVY

= STonv o T STONY

B L 2 e

W T 00" 3 Wz .

ASSY SIVISIGH 8/7UXIWeLY [~ SwoN__| P ooav ]
2 Sana®A O3B .. WNRLSN) | (o) uay snawnaAl  MI | wma
ST Jf e | WSS
Y 7 Py /. ) F/1To-vg ASSYLGN] /7 | awos

IS/ isy/A

<<<<<<<<<<<<<

HIGWAN NOQ ]

) NOtLJI¥DS3Q

() 21-90" —~

“90sss & oy Lwmy hum 739v7 o

vl /Sy fvIrD ¥ M ATIIVESSY BNSIIA  Towry S

: DrY-0 TSRS orw
AW LIS b NSV AO OIND N 2BAOD hIGVLINE P

LIRS T Y. TIFS Lvd Orw Tl IiyaS hssy
Gcst. b sy Lava BSSY Drilviarn V3BT WSHQY A IOWLLY €
2PI-VE-dL IR FWGIXAS LSREL DIVLSTIHN IVIATIRS =2

2tV -0V IR TIIrrESSY -/

" P

Z YW 95

Fithn 7.6.4- lo



?

BREWER MKI!I & MKIV Spectrophotometer Maintenance Manual

BREWER REFERENCE DOCUMENTATION

Section 7.7 Brewer Options

7.7.1 Option B - Azimuth Pointing System
- Azimuth Tracker and Stand

- Azimuth Tracker Unit Schematic C91

- Azimuth Tracker Board Assy C99

- Azimuth Tracker Board Schematic

- Azimuth Motor Wiring W20

- Azimuth Power Supply Specifications

7.7.11
7.7.1-2
7.7.1-3
7.7.1 -4
7.7.1-56

7.7.1-6

Reference Acceptance Manuall Sec 2.1 thru 2.5 for setup and maintenance infor-

mation.

7.7.2 Option C - UVB F81

7.7.2-1

Reference Fig 7.1-5 of this manual for further information on Option C.
CAUTION: Quartz Hemisphere (UVB Dome) is fragile. Ensure UVB Dome is re-
moved and packed separately when the Brewer is transported.



(SNOLLONYLSNI dNL3S HOJ VANV JONV.LIIOOV 022 ? 1’2 NOLLOIS FONIUIH3H)
G3AONW3YH H3AOD HLIM M3IA 1NOYA
ANVLS OdIHL ANV HIXOVHL HLNNIZV

SMIYOS ONITEAIT —

Y3LNdINOO OL - I18VO VIvVa
/ NOLLISOd

N HLHON
(HINOLSNO AS A3NddNS)

TSR ]
aNnouo HiYviIor — ¢ = v {160-va JO Luvd)

g
) dVU1S ONNOYD
(OVADLL HO OVAGZZ) NI HEMO OV —— 267 / N
> ZSM-Va Nid 031108
(013 dWV1 8AN 1X3 HOZ) HIMOd OV AHOSSIOY —— (@uULS ONINLHOITNO

a3A0H1S3d ATIVWLON)
HOL103104d DNINLHDIT 2€esy
160-59 W3HOS 434 (015-01S Ve) 3snd
H3NO01a SSVUE ANV SHOSNIS 031 V
HOHMS 230MNO

(a30404 i V3da 01 GaNSisaa
S1ONIHLS NOTAN 930 0S¥+ HO 004-~ OL
Q3IAON St H3MOVHL ) 440 GANUNL S| HOLIMS)

3180 TH3LS PONIMIS NOTAN ‘HOLMS ALZVS — |

(AHOLOVd 1V 138) SOILJO HIM3UE

\ AlddNS Y3IMOd
ONITIEAS] HOd SM3U0S &€ (€) /
HINOVHL OL HIMIUE ﬂ.o(

DNIHNO3S HOd SMIYOS 2801 () — 2
(o) O O [®

/ HIMOJ H3XOovHL

880-05-28 ‘N/d 031108
VX/OL-LYL-0S1A
S1d3ONOD U3 LHIANOD

HOLUMS 334ONO

oof [™] 1 lee Y3IMOd HIM3UE

/
/ 3NOa aAn

Fia1.7.0-1



L —mOIWm l ® I aesoums|] 0 ] eme—me—— e e e —
‘A3 HUIDNNN LNINNOOO 133+S o * ST & * STENY _I I_
wgeE werms _ _
HIANOVHL HLINWIZV wo v 00" . _ _
‘DILVW3IHOS LINN [l S3HOM Ocdd¥ | ETS —_— |
TUY [ wapess sommns wann) soouDPL o | TR ‘ r |
3up ey - NALLSNI | (SoWPUl) uhi SN VNG di] A NAQ "
.._hu_.s.ﬂ“! %ﬁ.am ONI SININI 0 e W St | i i '
Posomp 3G 03 Jou B JUSWITOP W1 umhl—umﬂll €8 NOP diva (43 H - |
£661 0 [ 160G ASSY DGN| — | s | mm " i | 9 &3 ]
|on = %0 di g
WLl SHIVIIY NOLLJRIDS3Q ON SM3N | ON Lava | wn [i=] " WW 8 T L 4 m_u “
ALD ra @
" ) 3 oY 3
IS CRVEINES HALNINDD {AINO 43¥) ! 81 ]s T 4 o m o
NoUvTVISNI | &1 Y. gz |
378vD TIONINOD | ml z Nug d} ﬂ.c. |
¥INOVHL HLNRIZY | Ty T v
DL = con LI
_.I L Lozd clzd I_
(ocm~va 30 1dvd)
(8cm-vE 40 Lyvd) J18V0 U3M0d
v Xnv 0L 00id OL
““ |
N
o —
' — (1M 40 18Vd) 1HM _
Ty A .
[T | H hm._ﬁwv
| 912-v
(em 40 wwva) Nd A °© | Aon w1 RYSCTY T
| & (19 wau)
i ¥3dNNP
[T5)
€ — 7 e -
—— == ot
(81M-vg 40 1¥vd) 1 B e ! zzuve
Nt ¥3mM0d | (gs_awv 2 _I ! Y3MOd o)
002f Ol e I Laton ! 2
7 ) S
o181 ¢ ¥ 3
e ve) ot 8if x8 oL
SoFms ¢ u3dNne Pn’
e Ny Zt 8if N ¢ 9 )
FL]
" ¢ (noo)
szn-va | b 56 af e S
(1ZM-va 0 1yvd) |
Iotgw AL3IvS L IXV_ @G\, apmmnu:mv
S0¢d 0L - "o
e o~
@y _uo/o|_ L S etf o o
1IN 0 Laivd ooleL s
¥aM0d
A [coso'ce 8YINDQ (19 N3L) SYIJANF OOV 2
> | A3 [0z'10°C6 $ZONDU ONRIM IEVD TONINGD OHD 9 ﬂm
| A3 |OL'E0TE T95NO0 SHIONZ1 3uM 103800 s |vg
Dt | Ad |6T40'16 51T NOG 335 — JONVHD HUM NMVIOIN v wm
‘Gddv|wma | 3Lva Y3BNNN NOQ NOILJRIOS30 aw |~8

Flé‘l 707.: 1'2



€ 660 V4

55t ¥ 77 4y O1Y

{19/

) I

2RI
v

INIERR LTV BRSPS 1L Xy

TSN BLNINNVLEM SPL-
f.50 zho-okor+32 $24
D el e M . M el

IR 198§ o
DINYAL HIOLUENW St p A 5ot p AN HEINIS
AT FBY Fod e % avaul ot
TG A5k i ML $5IH ) SINTHAIN {22 YK
wou voresused o moans g "ONI SLNIWNALSNI|b-yease so0rsy e uz il eq | wnd
M.:ﬂn_%.z ou...“h "imu .:!.u_m ISn7Z w SWIE| s 301 | Perd
JUSLINDOD
2861 O U@&l\b@ ley-yE 453y L) ):2 | I
bt SMYY WY 1YY THT NSYIN | oty L | sth
«?, i 3
> i 5
% v 2

AL

OIS AN el IO TINGT (VOISINGY BLVINATHSY TavkY S

poz b -
orv (g aLl) ¥piSivay 40 dol Mo (71 ¥r211) Qrrogmes

y CFRED )
2134 g -
" % g -1
) I
Vi
&
T o
2 = = )
§
- 2,
of>2d Gt
R
3 " )
Y] 9
U ]
'8
§o2)
Y s
" e
A
20 %)
¥ 9 * fy o
2 : : A
¢ U
% 3 k 5,
29 A PATED)
o "
i :
dAyl Yo
——— -~
©
ozl
A8
(Rl

iz

A0 oV DRvg Wi s3g91d  Lowop Y/

S7on4

102 d  sausisnval 4o prolleg
MINISLYI

9 JhL)

A8

tozC

S0zl

X d 3
1920 5 R4
by c
<2y BN
K b
ol 7.
m ¥ 54098 £
6i22) 2 $
1o,
a .
L
<
El

-3

EL7ANT 7
Ry 2

Fia. 7.7,

sIUA

&




1 - 2 Jim

>um_ 663-3S€ wagwnufazis| tHs HSINT 4|
I o M bo-60-+2
‘Gdav] ‘ool T wmal  3iva WINILYM

¥IAIVEL HLAWIZY o

JILYWIHIS '9'2'd NI SINBMAALSNE )] | ]S

€60-ve A 1@NISSY 1XIN|

/ _ . (i63+59” wasF -goed oL
VadsI-ave ~ So2r

-4

_!n.:.n_nox..os:u_
A A A A AN A AN A A A A

Fla.

[X;
‘ 10229
X, 27¢
¢ 1
Wl - e224

9 ¢

T4
ce ot = 20231

vOSSl-dvq - 202r
-«
3

€1

(Eave TENeS -

¢

(oM BALOW - OB/M-VE- 2024 QL)

X,

Sl¢f [N o™

pd

8 ¢

—

Neobad ~ 1030
ac




T SorF? Favg QL 9/ L MY hrdW g

‘02 .em..t HIDNS LY NLiM LviOL 2FTI0S 2BNGD. NMANS Sy
SIYIm  TWYOILIOGY T FB3VIOS D 9L $39IM ¥19 #inm L2 2
‘S WAL HLY] SmIYIS TIAIOINA T A2a7 o

FSZUGN

w9l HLINET

FIIY) FMI3FAAT I/

G T ozM-va :
i : Sreard
. rerayTW
LT T
EEIMOVHL HIONIZY . S N -
SNIEIM HOLOW : , o
it DENCTR N
.,ln. }Q) Los QT.‘M \ .mmb -vZ R E Lokl B f\w...L.L:-.\ 0 '
@5 ms
w0 /73Ty
B /
L9 w2 0
: L, 0 |
SR | m22
i CLimil
i g7 b2 T3y \N n‘_ Er L]
— o
“ L9 HZ N1 {&—e @ /I
: A JHYY
°) 31 b2 990 e
7] 3 YZ H?
, - ol
G pz2 g
v .77 02 A7 __
e
. L9 eZXA —
L | P Emyeanz el &{l \ 5
2 Lﬁ‘?\w«ufﬁaim/ AR
o - Y
A (3707 Y0200 .NNQ\,,.Q_ s/ vye “ u«émhmw\ /
w“ (Fo11 gL VNN\EA\QW_ _wm&t.w
g 'z 7 Iy wovd
PPN vy ZZQAY el
& L7 OZiHM xOm ”
2 ! ] . |
— L9 oz anm
2. 349v 339
AN E [riotb [= N&.?mw P R T W T
ER BVAAPS AR 4 *9) w3l €7 $3lav oy ”M
. ~ 3 4
V/\ D Ia «V\w&o. = +5-92 31 & M) .&.P_JNO Sy _:T-v:u 0_,._._ 2? e W w
IER S = el |
Ty g — m m
- e e I FOSET L%V _mw m
SRR B M

LB RiDNT N

Fin 1.7. /-85




CONVERTER
CONCEPTS2

FEATURES

* 50 Watt Switching Power Supply

* Single, Dual and Triple Output

* AC/DC or DC/DC Models Available

* Best Low DC Input-High Power Output Ratio
* Overvoltage Limit Protection

* UL Recognized

SPECIFICATIONS

Efficiency AC Input:

Single Output: 75% Typical 70% Min.

Multiple Qutput: 70% Typical 65% Min.

Efficiency DC Input:

Single Output: 75% Typical 55% Min.

Multiple Output: 70% Typical 50% Min.

Turn-On Overshoot: None

Turn-On Surge Current: Limited by active soft-start to 5A 1st cycle
Turn-On Time: 100 msec.

Hold-Up Time: 90 VAC Input (low line) 12 msec.

115 VAC Input (nominaf line) 20 msec.

250 VAC Input 180 msec.

Ripple: 20 mV pk-pk Max.

Switching Noise: 2 MHz @ 20 kHz Rep. Rate; 100 mV pk-pk or 1%
Transient Response: 0.5V excursion for 50% to 100% or 100% to 50%
load change with return to regulation in 2 msec. Load change 1 A/u sec.
Operating Temp: ~20°C to +80°C Base Plate Full Load. -20°Cto
+55°C Free Air Full Load. Derate linearly to 50% output at 80°C

T ECHNOLOGY
- VT 50/VX 50

" TECHNICAL |
.. _DATA

ScI-TeEc ¥ 87-50 -088
(VT80 - 14 ~-/0/XA)

Shock & Vibration: Designed to withstand normal commercial shock
and vibration conditions.

Short Circuit Protection: Current limited for overioad and short circuit
protection.

Multiple Output Regulation Specifications:

Regulation: Line, All Outputs: .3%

Regulation: Load, Output No. 1: 20% Load—Full Load 1%

Regulation: Load, All Other Outputs: 50 ma—Full Load 15%

% of Full Load Current

Temperature Coefficient: 0.02%/°C Output #1 load current 20 35 50 75 100
Storage Temp: ~55°C to +85°C Each Auxiliary load current 50 75 100 | 100 | 100
Isolation:
20tatan Size: VT 50 2.063" x 4.187" x 863" (52.4 x 106.4 x 204.8 mm)
Input Size: VX 50 2.125" x 3.581" x 8.000" (54.0 x 91.0 x 203.2 mm)
Hipot AC DC Weight: 2.0 Ibs. (0.91 kg)
Input to Output | 1.5kVAC | 250 VDC
Inputto Case | 1.5kVAC | 250 VDC
Outputto Case | 250 VDC | 250 vDC
MECHANICAL DIMENSIONS
VT 50 OPEN FRAME VX 50 HEATSINK ge
& ENCLOSED MODULES 00 MODULES 4.500 1750 Ng
Four No. 8 mounting ﬁﬁﬁﬁ@ [ [143)) T a5,
screws recommended — / tA At "
Optional remote sense and shutdown terminals - Q §
2-56 spade lug terminal block -3
. +A Ae
N —
f ) .
2 2063 8.063 Hole A: Tapped to 6-32 (4) for mounting
S 24y ] (2048) ]
| i — = —Y
i A ° = 0o = == o BEaa— B
8= 1y |38 - = == .
. L= e}
2“ + = S . = 0 — [ ) E g =3
< b3 = = = o =
& 8 ae = o0 &> = = N <
- [-——% (=) — > H o =
« |~ [——-} > — g =4 SN
0 o e = °| & 8 2
0.093 1. 2125 L
(2.4) (1143) (452 (54.0)

FiG

Dimensions shown in inches. Dimensions in parentheses ( ) indicate millimeters. Tolerance 1 0.010 (0.3 mm) unless otherwise noted. 7 7' /— 6

(910 +£08)



VT 50/VX 50
TERMINATION OPTIONS

Vi
w;!

CONVERTER industrial Parkway * Pardeeville, WI 53954

(608) 429-2144 - TWX: 910-280-2630

CONCEPTS2 T1ol-Freo B00/253-5227

ScI-Tec #87-50-088 (VT 50-141-10/XA)

SQUARE PINS (OPTIONAL) 4-40 TERMINAL BLOCK REMOTE SENSE AND
(STANDARD) LOGIC SHUTDOWN
0.156" LS
18 +| |e— (396 mm) Typ. 1 I RS 1 e
SERENEUEGEENE B & B | =
n" s|elelele|ele8|8|8 slelels
L 283" N S
r* (71,88 mm) ! 1 2 34 5 6 7 8 91 1 2 3 4
18. V3 Output 9. Chassis TYPICAL
17. V4Output 8. Keyslot
16. V4 Output 7. —Vinput 1. V3 Output 6. Chassis ~
15. V2 Output 6. NC 2. V4 Output 7. = DC input 1. RS +
14. V2 Output 5. +Vinput 3. V2 Output 8. +DCinput 2. RS -
13. V1 Qutput 4. NC 4. V1 Output 9. AC Input 3 LS+
12. V1 Output 3. AC Input 5. Return 10. AC input 4. 1S -
11. Ground 2. NC
10. Ground 1. AC Input Caution:
Shutdown Current 20mA max.
INPUT AND OUTPUT RANGES
INPUT VOLTAGE RANGE (SERIES SPECIFIC)
-input ' linput Voltage Ra i Model No.” -{ - Outpu s | Ampe | Adjustment
Option | ~AC Z=#{User Provided) .. 24 1.6-8 4 10%
1 90-250 44-440 1.0A Slow Blow Fuse . \'74 +12 .05-1 + 5% Fixed
2 10.0A Slow Blow Fuse 26 \'Al +12 .6-3 + 10%
3 50A Slow Blow Fuse v3 -12 -05-1 + 5% Fixed
27 Vi +15 4-2 +10%
V3 -15 .05-1 + 5% Fixed
OUTPUT RANGE (SERIES SPECIFIC) 32 Vi +5 1.2-6 +10%
" Model No. | ‘Output--:|" Nolts ¢ T S Adiustmen:.. v2 +12 -.08-1 4 5% Fixed
1a v3 -5 .05-1 + 5% Fixed
- 34 v +5 1-5 +10%
16 Vi +12 0-5 £10% v2 +12 | .05-1 +5% Fixed
17 vi +15 0-4 £10% v3 -12 .05-1 + 5% Fixed
18 V1 +28 0-2 +10% 37 Vi +5 1-5 +10%
22 V1 +5 1.89 +10% v2 +15 .05-.8 + 5% Fixed
V3 -5 .05-1 + 5% Fixed V3 -15 .05-.8 + 5% Fixed
SELECTING A UNIT: VT 50/VX 50
o | Sroag 1 {eonp? €ROUP2
X | X | X |- x | x /[ x[Xx Senss fdoun; Deiect)  OFTIONS |
A IS A
1 2 1 0 0 A A
2 4 2 Open | Termina! ] 8 8 * L d
3 6 3 Frame | Block c c c e c .
X 7 ] 0
Heat 8 1 1 E E 0 2 0 e
Sink Enclosed | Square F F E L L E hd hd
(open See | See Pin 6 6 F . F ° .
frame series | series 2 H
only) specific |specific PC. 2 t e . ol \J hd hd hd
output | input Board | Wire J H . ° X NoOptions
fange | range Holes K 1 . .
Only
See See J [ ° 3
group1 | group2 K e | o °
chart | chart X NoOptions

For all U.L. recognized products, the application criteria is available at customer request. This material will give additional guidelines for installation and
operation as per Underwriters Laboratory.



oert ¥ GNCUOVY
i ¥ ST B
[ R 2
. 900" ¥ 0w
ASSY  WSIHd 84N W soom_ | 11qP | odiv ]
(Doynads Somnae s STNUTIOL OHHO
o RoeanaeA DAL TR o oo W sawnas] o Y| wma
UORELISG USTIIR IR SINIWNULSNI
SEETEEE Sudsa e
T 292 k2 sevum] 7 o 30351 ) ON LKA HAIM TIGHT p OV NiSVl NVITI N1 YSSY UINSINIE IIVIS E

FVIWS TIUNVIS JIVNI SO SIINIOD WNa Ty 24 Wkl IV 40 saidiS f,1 (Z) Ty T2
ATGWISSY 0L NOidd WININUIIY WSKdd GAN ‘6 walr W/
SHIOH VIQIEI (W UNI p QTIMS LNWT FAN'D INTLL NI 3F0p Vi ELC
(3 Uunr LYFSNI ¥ () SIODif INOT Ik UM C/ WL MY -O UMD Y
1S FLON

vV NOILD m W

v i q | i

Q\Nm&.% \.mmv .v ?\xgﬂtqgwwquﬂ
vws\ﬂ.m%A \-Sw m ﬂiﬁxdv}a\mxﬁqs‘
yx | mo|rz-2178 M.JM\; mvﬁ. NOISINTD Yo
vy | 10|/ /-FA =

!
T\ 2467 NI | NaILJIVISIC

194-v

WG/ LSS

Fic. 7.7.2-1






